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AR BEE | o= % EERE w5 EEE EEE
FR(PE) =KRFD | ZRRCH JL101 28 E A 9,000 60% 8,800 9,000 8,800
JL103 | 28EET | 10500 53% 10,000 500 ,000
JL107 | 28HAT 1,000 51% 0,500 ,000 500
JL 28 BBl 2,000 47% 1,500 ,000 500
JL 28 BRI 1,000 51% 0,500 ,000 500
JL L 1.000 51% 0,500 .000 500
JL117 | 28HAT 1,000 1% [ 10500 ,000 500
JL119 | 28HAT 000 6% 9500 ,000 9,500
JLi21 28 H I ,000 7% 1,500 ,000 .500
JL125 | 28HAT 000 7% 1,500 ,000 500
JL127 | 28HAT 000 7% 1,500 49% A% ,000 500
JL131 | 28HAT 000 7% 000, .00 1,500 9% A N 500 ,000 500
JL133 | 28HAT 000 7% 000, 001 1,500 49% | AF N 500 ,000 500
JL137 | 28HAT 000 7% 000, .00 1,500 9% A N 500 ,000 500
JL139 | 28HAT 000 7% 000, 001 11,500 49% A% . B:12,500 ,000 500 |
KB (F#FH % | JL102 | 28HAT 500 49% 11,000 51% : ,000 .50
JL104 | 28HAT 000 7% 1,500 49% |A: ,000 500 |
JL106 | 28HAT 000 b 2500 4% A- ,000 .50
JL110 | 28HAT 000 3 2,500 4% A ,000 500 |
JL 28 AT .000 0,500 53% |8 ,000 50!
JL 28 EAT 1,000 51% 53% |+ ,000 50
JL 28 H AT 0,000 56% 58% |A: 500 ,000
JL118 | 28HAT | 10000 56% 58% 500 ,000
JL120 | 28EAT | 10000 56% 58% 500 ,000
JL124 | 28HAT | 10000 56% 58% 500 ,000
JL126 | 28EAT | 10000 56% 58% : 500 ,000
JL128 | 28HAT | 10000 56% 500 500 58% :12,000 500 000
JL130 | 28HAT | 12,000 47% _|£:13,500, H:13.000 11.500 49% _|£:13,000, H:12.500 ,000 500
JL134 | 28HAT | 12000 47% | %:13,500, H:13,000 11,500 49% | £:13,000, H:12,500 ,000 500
JL138 | 28EAT | 12000 47% _|£:13,500, H:13.000 11.500 49% _|£:13,000, H:12.500 ,000 500
RECPR) =AM (FEE) | RREIE)E |_JL77 | 288A] 11,500 49% 11,000 51% 500 000
JL189 | 28HAm 12,000 47% | A#£:13500. H:13,000 11,500 49% | A#£:13.000. H:12,500 ,000 500
ABR(BAEE)% | JL172 | 28E@I | 13000 42% _[H:12,000 12,500 44% |H:11,500 ,000 500
JL186 | 28EAI | 13500 40% 13,000 42% 500 ,000
RRCAE) =#REFFTR) | RRCHE)FE [ JL501 28 A 14,800 56% 500 14,100 58% 4,800 5,500 4,800
JL503 | 28EAT | 16500 51% .30 15.800 53% 7.700 7.000
JL3931 | 28HA] | 16,800 50% |4 .30 16,100 52% 7.700 7.000
JL505 | 28HAT | 16.800 50% .30 16.100 52 7.700 7.000
JL507 | 28HAT | 18,300 45% |4 00, H:16.800 17,600 47% . B:16.100 ,300 7,600
JL509 | 28EAT | 18300 45% 00, H:16.800 17.600 47 . B:16.100 300 7,600
JL511 | 28HA] | 18300 45% |4 00, H:16.800 17,600 47% . B:16.100 ,300 7,600
JL513 | 28EAI | 16800 50% .80 16.100 52 700 7.000
JL515 | 28HAT | 16000 52% |4 80 15,500 54% 8,200 7.500
JL517 | 28EA1 | 16,000 52% :18.80 15.500 5 7.700 7.000
JL519 | 28HAT | 15800 53% |2:17,000, £:16,000 15,500 54% 7,700 7,000
JL521 | 28HAT | 15800 53% 7.000, £:16.000 15.500 5 7.700 7.000
JL523 | 28HAT | 15800 53% 500 15,500 54% 7.700 7.000
JL525 | 28HAT | 16.200 52% 900, 15.500 5 118,80 7.700 7.000
JL3937 | 28HRT | 16,200 52% 900, 500 54% +18.80 7.900 7,200
JL527 | 28HAT | 16,200 52% 500 5 118,80 7.900 7.200
JL529 | 28HAT 900 50% 200 52% :20,800, F:15,500, H:16,104 17,900 7,200
JL531 | 28HAT 800 53% 500 54% 7.700 7.000
ALIR (BT FaR) #[__JL500 | 28HAT 800 50% 0 52% 7,700 7,000
JL502 | 28HAT 800 47% 0 49% 7.700 7.000
JL504 | 28HAT 7.800 47% 7.100 49% 7.700 7.000
JL506 | 28HAT 6.300 51% 5,600 53% 7.700 7.000
JL3932 | 28HRT | 15,800 53% 15,500 54% 7.900 200
JL508 | 28EET | 15800 53% 100, H:16.50 15.500 5 8,700 000
JL510 | 28HAT | 15800 53% |£:16,100, H:17.00 15,500 54% : 20,300 600
JL5 28HAT | 16300 51 %:16,800, £:16,500. H:18,500 15.600 5 16,100, £:15.800. H:17.800 20,300 600
JL5 28HAT | 16,800 50% 16,100 52% : :21,60 00 1700
JL5 28HAT | 16,800 50% 16.100 52% 400 700
JL518 | 28HAT | 17,300 48% 300 16,600 50% 7 600 4,400 700
JL520 | 28HAT | 17.300 48% 300 16.600 50% %17, 600 4,400 700
JL522 | 28HA1 | 17,300 48% 300 16,600 50% |%:17, 600 4,400 700
JL524 | 28HAT | 17.300 48% 300 16.600 5 217 600 4,400 700
JL526 | 28HAT | 16000 52% 1,300 15,500 54% |4 600 200 500
JL3938 | 28HAT | 16,000 52% 1,300 15.500 5 2 20,600 200 500
JL528 | 28HAI | 15800 53% 15,500 54% |4 .200 20,500
JL530 | 28EET | 15800 53% 15.500 5 2 .400 8,700
FR (CHE) =18k FR(RE) % | JL301 28 E A 13,500 63% 12,500 66% =+ 500 500
JL303 | 28EET | 15000 59% 14,700 60% 500 500
JL305 | 28HAT | 16000 56% | A%:17,000, H:15000 15,000 59% :14,700 5,000 4,700
JL307 | 28HAT | 16,000 56% | A%:17,000, B:15000 15.000 59% .700 5,000 4,700
JL309 | 28HAT | 18,000 51% | A%:19,000, +:17,000, H:15,000 17,000 4% 000, H:14,700 5,000 4,700
JL311 | 28EEI | 17.000 54% | A%:18,000, H:15000 16.000 6% .700 5,000 4,700
JL313 | 28HAT | 15500 58% :17,000, H:15.000 14,700 0% 5,000 4,700
JL315 | 28EEI | 15000 59% 14,700 0% 5,000 4,700
JL317 | 28HAT | 15000 59% 14,700 0% 5,000 4,700
JL319 | 28EAT | 15000 59% 14,700 0% 5,000 4,700
JL321 | 28HAT 15,000 59% 14,700 0% ,000 4,700
JL323 | 28HAT | 15000 59% 14,700 0% | H:15.000 ,000 ,000
JL325 | 28HA] | 15000 59% 14,700 0% | H:15.000 ,000 ,000
JL329 | 28EAN | 15000 59% :20,000, H:17.000 14,700 0% | /:15.000, %:19.000, H:16.000 ,000 000
JL331 | 28HAT 15,000 59% $:20,000, H:17,000 14,700 0% | :15000, %:19.000, H:16.000 ,000 ,000
JL333 | 28EAI | 15000 59% :20,000, H:18.000 14,700 0% | /:15.000, %:19.000, H:17.000 ,000 ,000
JL335 | 28HA] | 15000 59% | AH:18,000, %:22,000 14,700 0% | AH:17,000, %:21,000 ,000 7,000
EEES JL300 | 28HAm 15,000 59% 14,700 0% .000 4,700
JL302 | 28HAT | 15000 59% 14,700 0% 5,000 4,700
JL304 | 28EET | 15000 59% 14,700 0% 5,000 4,700
JL306 | 28HAT | 16,000 56% | AZ:17.000. H:15000 15,000 59% | A%:16,000, H:14,700 5,000 4,700
JL310 | 28HAm 16,000 56% | A%:17,000, £ H:15.000 15,000 59% | A%:16,000, £ H:14.700 5,000 4,700
JL: 28 H A 15,000 59% | A#:16,000 14,700 0% | A#:15000 ,000 4,700
JL 28HAT | 15,000 59% 14,700 0% ,000 4,700
JL 28HA] | 15000 59% [H:16,000 14,700 0% | H:15000 ,000 5,000
JL 28HAT | 15000 59% [H:16,000 14,700 0% | H:15.000 ,000 5,000
JL32 28HAT | 15000 59% |£:16,000, H:18.00 14,700 0% __|#:15,000, H:17.00 ,000 7,000
JL322 | 28HAT | 16,000 56% |£:17.000, £:15.000, H:18.000 15.000 59% |£:16,000, £:14.700, H:17.000 ,000 7.000
JL324 | 28HAT | 16000 56% |2:17,000, 1:15000, H:18,000 15,000 59% |£:16,000, 1:14,700, H:17.000 ,000 7,000
JL326 | 28EEI | 16500 55% |4 H:18,000, £:15.000 15.500 58% |2 H:17.000, £:14.700 ,000 7.000
JL328 | 28HAI | 16500 55% |2:19,000, +:15000, H:18,000 15,500 58% |2:18,000, +:14,700, H:17.000 ,000 7,000
JL330 | 28HAT | 15500 58% |£:19,000, £:15.000, H:18,000 14,700 60% |£:18,000, H:17.00 ,000 7.000
JL332 | 28HAI | 15000 59% |£:18,000, H:17.00 14,700 60% |2:17,000, H:16.001 7.000 6,000
JL334 | 28HAT | 13500 63% |2 H:15.300 12,500 66% |% H:14.800 6,000 5,000




r =] EI 9 JAL
EEEHA 2013/4/25  ~
9/2-8 9/1
=R B4 — 4478 34TA 3478
EEH iz BEE | e iz EEE | EEHE
HRCPR) =4 (BH) | ®BRCP JL901 9,800 9,000 53% |21:19,900 400 ,600
JL903 1,000 500, H:19.800 0,200 50% A 0. H:19.000 4,000 200
JL905 1,000 500, H:19.800 0,200 50% A 0, H:19,000 4,000 200
JL907 700 900, H:19,800 900 51% A 0, B:19,000 4,000 200
JL909 800 000 53% 500 1400 20,600
JL913 800 000 53% 500 1400 20,600
JL3943 800 000 53% 500 400 20,600
JL915 800 000 53% 1600 20,800
JLo17 800 000 53% 1600 20,800
JL919 800 000 53% 1600 20,800
JL3945 800 19,000 53% 1600 20,800
JL923 800 19,000 53% [H:19,500 1600 20,800
JL925 19,800 51% |£:04200, H:22,200 19,000 53% |£::23,400, H:21.400 200 21,400
JL927 19,800 51% |£:24.200, H:22.200 19,000 53% |£::23,400, H:21.400 200 21,400
R (BRER) % |__JLo00 19,800 51% 19,000 53% .100 20,400
JL902 19,800 51 19,000 53% 100 20,400
JL906 19,800 51% 19,000 53% 800 ,000
JL3942 19,900 51% 19,100 53% |H:20500 500 700
JL910 900 51% 19,100 53% 20,500 500 1700
JL 900 51 19,100 53% 20,500 500 700
JL 200 50% 19,400 52% 400 4,600 800
JL 0,200 50% 19,400 52% 400 4,600 800
JL3944 0,200 50% 400 52% 400 4,600 800
JL918 0,200 50% 400 52% 400 4,600 800
JL920 200 48% 400 50% | H:23,400 4,600 800
JL922 200 48% 0,400 50% | H:23,400 4,600 800
JL924 800 51% 000 53% |H:22.400 4,000 200
JL928 900 51% 100 53% |H:20500 500 700
KR (BFH) =R FFm) | KER(EHH [ JL200 ,100 46% 25,000 .100 49% [£1:24.000 100 100
JL200 600 53% 600 55% |4 £:21500 600 600
JL201 0 51% 19,100 54% |£:21,900, £:20.900 20,100 100
FLIR (BT F &%) F[__JL200 0 54% 18,100 56% 21,900 20,900
JL200 0 56% 17,100 59% | H:20,900 21,900 20,900
JL201 0 46% 21,100 49% | H:24.00 25,000 4,000
K (BEEE) =#LIR B Fm) | KB (BIFE) % | JL2501 | 0 51% 0 19,100 54% 122,601 20,100 9,100
JL250 100 51% 0! 19,100 54% 0! 20,100 9,100
JL2507 18,100 56% 401 17,100 59% 401 100 7,100
JL2511 19,100 54% 90! 18,100 56% 0! 100 8,100
FL0R (B F#%) %[ _JL2502 0 56% 17,100 59% .900 20,900
JL2512 0 56% 17.100 59% ,600 22,600
JL2514 100 51% 19,100 54% ,600 22,600
JL2518 | 600 50% 19,600 53% ,600 22,600
KR (1) =186 KR (FFFH % [_JL2051 11,000 50% 9,900 55% ,000 900
JL2053 12,000 45% 9,900 55% ,000 .900
[ JL2055 12,000 45% 9,900 55% ,000 ,900
JL2057 12,000 45% 11,500 47% ,000 11,500
JL2061 12,000 45% 11,500 47% ,000 11,500
&BEFE [ _JL2050 [ 11,000 50% | H:10,000 9.900 55t ,000 9,900
[ JL2052 12,000 45% 11,500 47% ,000 11,500
JL2054 [ 11,000 50% 9,900 55% 000 9,900
[ JL2056 [ 12,000 45% 9,900 55% ,000 9,900
JL2060 12,000 45% 11,500 47% ,000 1,500
KR (FFH) =8 (R8) | KBR(FFH % | JL2081 300 46% | % 1+:22.000 7.300 49% |#1:21,000 20,800 9,800
ShHB(ARER) | JL2088 ,300 44%  [B:22, ,300 46% [B:21, 25,000 4,000
1ERE =HL0% (B F ) (RS JL3513 | 1400 52% &+ 400 54% |#+:25400 4,400 400
JL35 ,900 555 & 900 57% % +:23,900 ,900 ,900
FLOR (3 F %) F[_JL3510 | ,900 55% | H: ,900 57% | H:23, 4,900 ,900
JL35 400 52% |H: 400 54% | H:25. 26,400 25,400
RR(PB) =%k FRCHE)$ [ JL1 19,900 52% |3 18,700 55% | % 1:23,600 19.900 700
JL1189 | 20900 49% 19,700 52% |4 +:24.600 20,900 700
JL1191 9,900 52% _|2:24,300, 1:21,900, H:22,.800 18,700 55% |2:23,100, $:20.700, H:21,600 22,800 00
ESVES JL1180_| 2,900 44% 21,700 47% 26,800 25,600
JL1188 | 0,900 49% 19,700 52% 3,600 24,800 3,600
JL1190 0,900 49% X 19,700 52% 8,800, H:24.600 25,800 4,600
R CRE) =8I FR(CPE) % | JL1103 | 19,600 50% t:24,500 18,800 52% |#&+:23700 19,600 ,800 |
JL1107 20500 48% 19.700 50% |4 £:23.70 20,50 .70
JL1113 8,500 53% . H:22500 17,700 55% | 2:18,400, H:21,700 50 701
JLIT15 8500 53% . B:22.500 17.700 55% 8,400, H:21.700 .50 70!
JEVIES JL1100 | 20,000 49% 9,200 51% [H:17,700 501 7.701
JL1104 8500 53% 7,700 55% 21,700 50! 70!
JLi112 1,500 46% 0,700 48% [H:22,700 4,50 701
JLI116 0,500 48% | £:21,500. H:23500 9,700 50% |4:20,700, H:22.700 .50 70!
FH) =#E R (P JL1145 ,700 47% |3 19,700 49% |3 20,70 .70
JL1147 700 5% & H:21,700 17.700 54% & 0.700 .70 20.700 |
JL114 700 49% |4 21,700 18,700 52% |4 0,700 701 20,700 |
EIEES JL114 ,700 49% |4 .700 18,700 52% [& 7.700 70! 17.70(
JL114 700 47% % 700 700 49% |4 2700 701 22,701
JL114 9,700 49% 3 .700 700 5% & H:20,700 .70 20.700 |
R P JL115 1,800 43% |4 800 46% |4 800 .80 20,800 |
JL115 0,800 46% |4 H:21.800, £:23.800 9,800 48% |4 H:20.800, £:22.800 80! 20.800 |
[ JL1155 0,800 46% | % H:21.800, +:23.800 19,800 48% |3 00, +:22,800 801 20,800 |
JL1157 1.800 43% | H:25.800 20,800 46% A 25,80 24,80
BhE JL1152 800 46% £:25800. H:21,800 9,800 48% 4,800, H:20,800 801 20,800 |
JL1154 800 3% | H:23,800 0,800 46% 80 2,80
JL1156 800 3% 3,800 0,800 46% H: 801 2,80
JL1158 800 3% 25,800 0,800 46% A 25,801 4,80
R CPIR) = FR(HE) S [_JL1161 17,100 46% |2 +:21700, H:15,900 16,600 47% |3 1,200, H:15,500 7.70 7.20
| JL1165 17,600 4% | @ £:20,700, H:19.600 17.100 46% |2 1:20.200, H:19.100 60! 101
JL1167 16,000 9% |£:18,300, H:20.800 15,500 51% |2:17,800. H:20,300 801 301
S | _JL1162 18,600 1 18,100 42% 601 101
[ JLi168 17,100 46% 000 16,600 47% 500 001 500 |
JL1170 16.700 47 000 16.200 48% 500 00/ 50!
FR(PE) =% BR(HE)E [_JL1201 14,500 52% ,000 13,500 55% ,000 001 001
| JL1203 18,000 40 000 17,000 44% 000 00/ 00/
[ JL1205 14,500 52% | H:14,000 13,500 55% 000 001 001
[ JL1207 16,000 47 15,000 50% 00/ 00
[ JL1209 [ 18,000 40% £ H:19,000 [ 17,000 44% |2 H:18000 9,00 001
JL1211 14,500 52% | H:16.000 13.500 55% | H:15.000 6,00 .00
EHRRE [ JL1200 15,500 49% 14,500 52% 5,50 50
| JL1202 17.000 44 16,000 47% 7.00 00/
[ JL1204 15,500 49% 14, 52% 5,50 500 |
| JL1206 14,500 52 13, 55% [£:13,000 4,50 50!
[ JL1208 [ 18,000 40% 44% | %:18,000, £:15,000 8,00 7,000 |
JL1210 14,500 52 , 55% [£:13,000 4,50 50!
R (HA) = HR(CHE) % [_JL1225 15,500 7% 14,500 51% 5,501 500 |
JL1227 15,500 7 14,500 5 5,50 50!
JL1229 15,500 7% 14,500 51% 5,50 ,500 |
E3 JL1222 15.500 7 14,500 5 5,50 50!
JL1224 15,500 7% 14,500 51% 5,50 ,500 |
JL1226 15,500 7 14,500 5 5,50 50/
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BEE | o= w5 A BRE w5 EERE EERE
FIH) =FRE Hm (P JL1261 900 43% |H:12,900 5 13.400 H:12.400 900 400
JL1263 100 47% _[+:15,100. H:13.400 5 12,600 +£:14,600. H:12.900 ,900 400
JL1265 900 48% | H:14,600 5 12,400 H:14.100 4,600 4,100
JL1267 100 47% | A% H:15.100 5 12,600 A% H:14.600 100 4,600
WEE JL1260 100 43% :14,600, H:13,000 5 13,600 4,100, H:12.500 3,000 2,500
JL1264 400 50% 400, H:13.101 5 11,900 900, H:12.600 3,100 2,600
JL1266 900 48% 100, £:13,400, H:15.600 5 12,400 600, £:12,900. H:15,100 600 5,100
JL1268 100 7% 100, £:12,900, H:15,000 5 12,600 4115600, £:12.400, H:14.500 ,000 4,500
HRCPR) =k JL1259 500 2% — — 500 —
Z3 JL1254_| 2% — — 500 —
R CPIA) =/ HECHE) % [_JLi127 0% 5 12,200 ,000 ,000
JL127 2% | £:15.700 5 13,900 £:14.700 .900 900
JL127 45% |H:14,100 5 11,000 H:13,100 4,100 ,100
JL1281 | 45% | H:14.100 5 11,000 H:13.100 4,100 100
JL128 35% |2:14,800, 1:13,200, H:15.200 5 13,200 40% __|£:13,800, 1:12.200, H:14,200 200 4,200
JL1285 37% | H:15.200, £:12,000 5 12,900 41 2 H:14.200, £:11,000 .200 4,200
INAFE JL127 45% |£:13,200, +:12.700 5 1 0% | %:12,200, +:11.700 ,000 ,000
JL127. 40% 5 1 200 200
JL127 40% |8 5 1 s |H:13,100 4,100 ,100
JL127 40% |4 5 1 113,200, H:14.200 .200 .200
JL1280 | 35% H:15.200 5 1 s |2 H:14.200 200 4,200
JL1282 39% | A:13,900, %:15.400 5 1 3% | A:12,900. £:14.400 400 400
RRCRE) =mitaE HRCPE) % | _JL1381 45% _[+:17,000 — .000 —
JL1383 % 1£:18.500 500
JL1385 s |2 H:17.000 7.000
EEHERS 3 JL1382 — — 6.300 —
JL1384 | H:17,000 — 7.000 —
JL1386 0% | H:18,500 — 500 —
R CRR) =@ HECRE) % [_JLi681 0% 11,600 100 .600
JL1683 57 12,500 000 500
JL1685 60% 11,400 900 .400
JL1687 54 12,900 900 900
JL1689 52% | +:14,000 14,000 53% | +:13,500 4,500 4,000
[EMES JL1680 60" 11,500 62% 2,000 .500
JL1682 53% | A X:13500. H:13,000 13,500 55% | A K:13000. H:12,500 3,000 500
JL1684 60 11.400 62% 1,900 1400
JL1688 54% |2 H:14,000. £:13,000 13,200 56% |2 H:13500, £:12,500 4,000 500
JL1690 53% |£:14.600 13,500 55% |£:14.100 4,000 500
HRCPR)=LE& HFECRE) % [_JLi1601 60% 11,700 62% 200 .700
JL1603 50% | H:13.000 [ 15000 5 112,500 ,000 500
JL1605 50% ,000 [ 15000 51% 2,500 ,000 500
JL1607 554 200 13,500 56° 1,700 200 .700
JL1609 55% 200 13,500 56% 1,700 200 .700
JL1 60% |£:15,000, H:14.000 11.700 62% |£:14,500, H:13500 ,000 500
JL1 55% |2 H:15000 13,500 56% |2 H:14.500 ,000 4,500
JL1 55% |4 H:15.000 13,500 6% | H:14.500 ,000 4,500
L% JL1600 59% | 12,000 1% 500 000
JL1602 55% | H:12,500 13,500 6% | H:12,000 500 ,000
JL1604 59% 12,200 0% 700 200
JL1606 60% |£:14,500, £:13.000 11.700 62% |£:14,000, £:12.500 200 700
JL1608 60% | 2:14,500, £:13,000 11,700 62% | 2:14,000, £:12,500 200 1700
JL1610 58% |4 H:15000, £:14,000 12,500 59% |4 H:14.500, £:13,500 ,000 500
JL1612 51% |2:16,000, £:13,000 14,500 53% | 2:15500, £:12.500 ,000 4,500 |
JL1614 51% |£:16,000, £:13.000 14,500 53% |£:15,500, £:12500 .00 4,50
RR(FH) =LAF R CRE) % [ _JL1643 66% 11,300 67% 701 1,301
JL1645 0 13,600 61% .00 3,601
JL1647 s H:15.000 10,800 69% | H:14.600 00 4,60
JL164 4,000 15.600 55% | +:13.600 .00 0
WOFER JL164 ) :14,000 10,800 69% 50 0
JL164 £1:14.000 13.100 62% |4 £:13.600 .50 0
JL164 3 13,600 61% 4,00 0
JL164 4% | H:17,000, £:13.700 15.600 55% |4 H:16.600, £:13.300 .00 60!
JL1663 51% |2 +:16,000 14,500 54% 2115100 5,40 4,50
JL1665 495 15.200 52% 6,101 0
JL1667 52% 14,200 55% 10 4,20
JL1669 49% 3 .100 15.200 52% .200 .10 .20
JL1671 46% 4 .100 16,200 48% 200 .10 .20
HER JL1662 4 E .500 13,600 57% .600 .50 60
JL1664 9% & +:18,100. H:15.700 15,200 52% £:17,200, H:14,800 .70 4,80
JL1666 1 H:16.300 14,400 54% | H:15. .30 .40
JL1668 . 46% |2 H:18,100 16,200 48% |2 H:17.200 10 7200 |
JL1672 17.600 4 % H:18,600 16.700 47% | & H:17.700 .60 7.701
B HER (P JL1431 13, 54% 12, 57% .60 0
JL1433 13, 5 12, 57 .60 0
JL1435 | 13, 54% 12, 57% 601 0
JL1437 13, 5 12, 57 .60 0
JL1439 13,1 54% 12,1 57% ,601 0
JL1443 13, 5 12, 57 .60 0
Y JL1430 | [ 12 59% [ 1 63% 00 0
JL1432 13 56° [ 17 59 .00 00
JL1434 [ 13 56% [ 12 59% 00 00
JL14 13 56% [ 17 59% .00 00
JL144 13,1 54% 12,1 57% ,601 60!
JL144 13, 54% 12, 57 .60 60
FR(HE) =2k B (FE)F [ JL140: [ 13 56% [ 12 59% 001 000 |
JL1405_| 14, 50% |4 £:15.200 13,700 54% |4 1:14.200 .70 .70
JL1407 1 54% |%+:14,500 10,800 63% 3,501 .80
JL1409 [ 13 56% |4 H:14.000 [ 12000 59% |4 H:13.000 4,00 00
JL1411 13, 54% 4 12,500 58% |4 200 5,201 4,20
JL1415 16. 45% 3 15.200 48% | % H:16.200, £:14,500 7.20 .20
=1 JL1402 14, 52% |% 13,200 55% |§ ,200, 1,900 90! .90
JL1404 14, 50% |4 13,700 54% | &+:14,700, H:12,200 .20 20/
JL1406 14, 2% |4 13,200 55% |4 200, H:11,700 70 701
JL1408 13, 4% |4 10.800 63% .70 80
JL1410 15, TEEE 14,700 50% |%+H:15.700 6,70 70
JL1414 16 6% | H:17.000, £:15.700 [ 15000 49% | H:16.000, £:14.700 7.00 00
HRCPR) =% FR(PHE) % |_JL1483 [ 13 59% |&+:15.000 | 12,000 62% |&+:14.000 3,001 00
JL1487 [ 13 59% |4 £:15.000 [ 12000 62% |4 £:14.000 3,00 .00
JL1489 [ 13 59% | 2:14,000, H:15.200 [ 12000 62% | 2:13,000, H:14.200 .20 4,20
JL1491 |13 59% |£:14,000, H:15.200 [ 12000 62% |£:13,000, H:14.200 .20 4,20
JL1493 E 52% |2 H:16.000 [ 14 55% |2 H:15000 .00 00
S JL1482 [ 14 55% |4 £:15.000 [ 1 59% |4 £:14.000 00 .00
JL1484 [ 13 59% |%+:14,000 [ 12 62% |%+:13,000 3,00 00
JL1486 13, 59% |£:17,000, H:15.000 12,000 62% |£:16,000, H:14.000 5,00 00
JL1490 13, 57% | 2:17,500, H:15.500 12,500 60% | 2:16,500, H:14.500 .50 4,500 |
JL1492 15, 52% |£:17,000, H:16.500 14,000 55% |£:16,000, H:15500 .50 50!
FERCRIE) =t FERCPIE) % |_JL1461 [ 13/ 59% [£1:14,000 | 12,000 62% [£1:13,000 .00 .00
JL1463 15, 53% | H:13.000 14,000 56% | H:12,000 .00 .00
JL1465 [ 14 56% [ 13000 59% 00 00
JL1467 13, 59% |2 £:14.000. H:15,000 12,000 62% |2 £:13000. H:14,000 .00 00/
JL1469 16 50% |4 H:18,000 [ 15000 53% |2 H:17.000 00 7,00
JL1471 16. 50% |4 H:18,000, £:15,500 15.000 53% |4 H:17.000, £:14,500 .00 7.00
PAITED JL1460 15, 51% | H:13,000 14,500 55% | H:12,000 00 00
JL1464 16. 48% £:18.000, H:14.000 15.500 51% |4 £:17.000, H:13,000 4,00 00
JL1466 [ 14 56% :15,000 [ 13000 59% | H:14,000 00 00
JL1468 14, 56% 500, H:16.000 13,000 59 500, H:15.000 .00 00/
JL1472 1 56% 500, £:13,500, H:16,000 [ 13000 59 500, £:12,500, H:15,000 .00 5,00
JL1476 1 53% 500, £:13.500, H:16.000 14,000 56 500, £:12.500, H:15.000 .00 5,00
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=R B4 — 447A — — 4478 34TA 3478
BEE | o= w5 mAmE| SRE | g w5 EERE EERE
R CRE) =Jthm R (P JL371 ,000 62% 5 ,000 65% 500 500
JL373 500 58% |£:16,500, H:14.000 5 500 0% | %:15500, H:13,000 4,000 ,000
JL375 500 60% 5 500 3% 4,500 500
JL377 500 58% |2:16.500 5 500 0% 5,500 500 500
JL379 5,500 58% 5 500 0% 4,000 500 4,500
EZIES JL370 3,500 63% |4 5 500 6% 113,500, H:11.500 500 1,500
JL37 500 58% | H:13,500 5 500 0% :12,500 500 500
JL37 000 62% 5 000 65% ,000 ,000
JL37 000 62% |£:16,000, H:15000 5 000 65% |£:15,000, H:14.000 ,000 4,000
JL37 800 68% |2:15,000, £:12.500, H:13.500 5 200 69% |2:14.000, £:11.500, H:12.500 500 500
HRCPR)=X% FROCHE)$ |_JL1783 16,000 55% |#+:17,000 5 13,500 62% | &1:15500 ,000 3,500
JL1785 16.500 54% 5 15.000 58% 500 5,000
JL1787 16,500 54% |2 +:17,000 5 15,000 58% | 1:15500 500 5,000
JL1789 16.000 550 5 15.000 58% ,000 5,000
JL1791 17,000 52% | +:16,500 5 15,500 56% | +:13,500 7.000 500
JL1795 17.000 52% | £:16.500 5 15.500 6% | £:13.500 7.000 500
RAHE JL1782 14,700 59% | +:16,500 5 13,000 3% | £:15000 4,700 ,000
JL1784 17.000 52% 5 15.500 6% 7.000 500
JL1786 16,000 55% |2 H:17.000 5 13,500 2% | & H:15500 7.000 5,500
JL1790 16.000 55% |4 H:17.000 5 13,500 62% |4 H:15500 7.000 5,500
JL1792 17,000 52% 5 15,500 56% 5000 7.000 5,500
JL1794 17.000 52% 5 15.500 6% 4,700 7.000 5,500
HRCPR) =RI& HECRE) % [_JLi1841 15,500 60% 5 15,000 1% 5,500 ,000
4 16.500 58% 5 15.500 0 6,500 500
4 16,200 58% . £:17.500 5 15,200 1% . £:16,500 7.700 700
4 16.200 58% . £:17.500 5 15,200 1 . £:16.500 7.700 .700
4 15,700 60% . £:15.200 5 14,700 2% . £:14.200 7.700 700
14,700 62% 5 13,700 65% 7.700 700
RIEH 15,700 0% 5 14,700 62% .700 4,700
15.700 0% 5 14,700 62% .700 4,700
14,700 2% | H:16,700 5 13,000 67% |H:15.700 700 700
17.000 6% |4 H:17.500 5 16.000 59% |4 H:16.500 500 500
JL1852 17,000 56% |2 H:17.500 5 16,000 59% |2 H:16,500 7.500 500
JL1854 16.200 58% |£:17.500, £:16.500, H:17.000 5 15.200 61% |2:16,500, £:15500, H:16.000 7.000 ,000
R P R CRE) % [_JL1801 16,000 56% 5 14,000 62% 6,000 4,000
JL1803 17.000 54% 5 15.000 59% 7.000 ,000
JL1805 17,500 52% | H:16,000 5 15,500 58% | H:14,000 ,000 4,000
JL1807 | 17.500 52% | H:16.000 5 15.500 58% | H:14.000 ,000 4,000
JL180 14,700 60% |£:16,500 5 12,700 65% |£:14,500 4,700 2,700
JL1 14,700 60% |£:16,500, H:16.000 5 12,700 65% |£:14,500, H:14.700 ,000 4,700
JL1 15,500 58% |2 H:18.000 5 13, 63% |4 H:16,000, £:12,700 ,000 6,000
JL1 14,700 60% |4 H:16.500 5 12, 65% | 2:14,700. H:14.500 500 4,500
BAR JL1802 | 16,000 56% | H:14.700 5 1 60% [H:12,700 4,700 700
JL1804 16.500 55% | H:14.700 5 15, 58% | H:12.700 4,700 700
JL1808 14,700 0% | %:15000 5 1 65% |£:13,000 4,700 700
JL1810 14,700 0% | %:15000. H:16.500 5 1 65% |£:13,000, H:14.700 500 700
JL1 14,700 h__|£:15,000, H:16.500 5 13, 63% | 2:13,000, H:14.700 6,500 4,700
JL1 17.000 4 5 [ 15 59% 7.000 000
JL1 [ 17.000 54% |%:17,500 5 [ 15 59% |£:15,500 7.000 000
JL1 14,700 60% 4 5 1 65% |4 H:15500 7.500 500
FR(HE) ==& BR (FE) % [_JL1883 | 14,700 60% |3 5 1 63% |3 ,200 4,700 700
JL1885 16.500 FEE 5 1 58% & 00 50 50
JL1887 16,500 55% |4 5 15, 58% |4 ,000 50 5500 |
JL1889 15.700 57% |3 5 14, 60% |4 £:15500 .70 4,70
JL1891 17,000 54% :18.200 5 [ 16, 56% | H:17.200 .20 7.200 |
JL1893 15.700 57 118,200, H:17.700 5 14, 60% |£:17.200, H:16.700 .70 6.70
S JL1880 15,700 57% +:16.700 5 1 60% [£1:15.700 701 4,70
JL1884 16.000 56 5 EE 59% .00 5,00
JL1886 15,700 57% :16.200 5 14, 60% | H:15.200 .20 .20
JL1890 15.700 57 :17.000 5 14, 60% | H:16.000 00 .00
JL1892 17,000 54% :16,000 5 16, 56% | +:15,000 7,00 00
JL1896 15.700 57 118,200, H:16.200 5 14, 60% |£:17.200, H:15.200 6.201 .20/
RR(PB) =ERS JL1861 14,700 62% 5 12, 67% 4,70 .70
JL1863 16.500 58% £:18,000 5 14, 62% | +:16,000, H:14,500 6,501 50!
JL1865 18,300 53% £:18,800, H:16.800 5 16, 58% |2 +:16.800, H:14,800 6,801 4,80
JL1867 14,700 62% | A:16,500, £ 118,000, H:17.000 5 12, 67% | A:14,500, £ 116,000, H:15.000 7.00 00
JL1871 14,700 62% | +:15,700, H:17.000 5 1 67% | +:13,700, H:15.000 7,00 5000 |
JL1873 15.700 60% | H:17.700 5 1 65% |4 H:15.700 7701 5,701
JL1875 16,700 7% |#H:17.700. £:16,000 5 1 62% % H:15700. £:14,000 7.70 701
JL1879 16.700 7% | H:17.700, £:16,000 5 1 62% |2 H:15700, £:14,000 7.701 .70
BERER JL1864 14,700 2% 5 B & 1 67% 4,70 .70
JL1866 15.500 0% | %:16,500, £:16.700 SEAL |13, 65% |4:14,500, £:14.700 5,501 .50
JL1868 15,500 0% | %&: :16,700 5HAT |13 65% |£:14,500, F:14,700 5,501 501
JL1870 14,700 62% 4 115,500, H:17.200 SEAL |12, 67% |£:14.500, £:13500, H:15.200 7.201 .20/
JL187 16,500 58% |4 5 H &l 14, 62% E 7.70( 5,70
JL187 16.800 57% |3 SHAT | 14, 62% 8,001 6,00
JL187 800 57% |3 5 H &l 14, 62% 7.70( 5,70
JL187 500 58% |4 H:16.800, - SEAL | 14, 63% |4 H:14.800, £:14,000 .80 4,80
RR(CHE)=BEZXE FR (CPHHE) % | JL1955 300 2% - 30 p—
EESNCE S JL1956 300 2% — .30 —
FOR(BRE) =K (FFH | RR(EB)F [JL3005 | 13,000 2% 5 0 001
JL3007 13,000 2% 5 00 00
KB (FFFH % [_JL3002 | 13,000 2% 5 00 00
JL3006 13,000 2% 5 .00 .00
RR(FE) =H|REFTFR) | ZRRE)FE | _JL304 300 45% % 122,300, H:16,800 5 2 121,600, H:16.100 301 7,601
JL304 900 50% | A:17.900, %:21.500, £:15,800, H:16.800 45 A:17.200. %:20.800, £:15500, H:16.10 .900 7200
JL304 900 50% | A:17,900, £:21,500, £:15800, H:16.800_ 45 K:17.200, %:20,800, +:15,500, H:16,104 17,900 7,200
ALIR (BT F %) % [_JL304 800 50% | H:15.800 5 H:15,500 7.700 7,000
JL304 800 50% |£:17,300, H:22.300 5 #£:16,600, H:21,600 2,400 1,700
JL304 800 50% |£:17.300, H:22.300 5 £:16,600, H:21,600 2,400 1,700
RRCAE)=25E(hE) | RRCHE) S | JL141 7,500 59% — 7,500 —
AHE(PE)F[  JL146 7,500 59% - 7.500 —
RR(RE)=85E(hE) | RR(FE) % | JL3083 13,700 3 5 ,700 700 700
| JL3085 13,700 5HAT | 12700 0% 700 700
JL3087 13,700 ) 5 E Bl ,700 0% ,700 700
AR (FE) [ _JL3082 13,700 =K ,700 0% ,700 700
JL3084 13,700 ) 5 Bl ,700 0% ,700 700
JL3086 13,700 b 5B A 700 0% 700 700
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&% &%
HR (R E) =186 EEICTES A£:18,000. H:15,000 A£:17,000, H:14.700
% H:16.000 % H:15.000
7:16,000, £::20,000. H:17.000 7:15,000, £:19,000. H:16,000
EEES
H:16,000 H:15,000
000
FR (RE) =048 (R %) EGAGTES ,300
PR (BT & 300 H:20,500
KR (1) =EufE KR (1) % 2 +:22,000. H:21,200 £+ H:19.900
B B:22,000 B:19,900
KB () =F K KB (G %
£ H:28,000
R % +:26,500
£ 0:28.500
KB () R
R3E
KR (75 =FkE KR () % H:14,500 H:13,300
H:15.700 H:14.500
H:15.700 H:14,500
=S x £:15.700, B:14,500 z +:14,500, B:13,300
#:15.700 £:14,500
115,700 2:14.500
KB (B =1E% KB (G
% H:28,000
EER £1:28,000
% £ H:24.000
% H:28,000
4% H:28,000
KB (B =1L KBR (G % H:17,000
£ 1122500, H:19,500
£:23500, H:25,000
IZ3 H:19.000 — —
% H:22.000, £:20,000 —
KR () =1L& KR () % £:15,800, 1:16,800 13,300 57% |&: 0. £:16.300
E 300 13.800 FE .800
E ,300, H:15.800 12,800 58% |4 ,800, H:15,300
E 300, H:16.300 12,800 58% |2 +:14.800. H:15.800
E 300, H:16,300 13,800 55% |4 ,800, H:15.800
E .30 15.800 49% &
& . H:18,300 15,800 49% % . B:17.800
[TE=X3 % £:16.30 14,800 52% | £:1580
418,300, £:19,300 49% |%:17,800, F:18.800
%+ H:17.300 47% |+ H:16.800
#:17.300, £:16,300. H:16.800 54% & 5800, H:16,300
217, ,300, H:16.800 54% | & 5800, H:16.300
%18, 800, H:17.800 52% & 5300, H:17.300
#:17,800, B:17.300 52% |3 :16.800
KB (B =#iB KB (G E: 60%
H:12.500 555 |H
£ H:13000, £:13,500 60% |#H:12500. £:13,000
415,000, £:13,500, H:15.500 | 14 52% |£:14,500, £:13000, H:15.000
iR 00 1 50% | H:14,000
500, H:14.500 1 60% 000. H:14,000
+:13.000. H:15,000 1 60% +:12.500. H:14,500
4,000, £:12,000. H:15,000 |13 55% |£:13,500, £:11.500, H:14.500
KR (BFD =fal KR (B 36 T ]
[ 9500
PAITES ,500
500
10.500 38%
KR () =K% KR (75 % E ,000, H:13,000 | 12,000 38% :13,500, H:12,500
E 600, H:12,600 11,600 40% 13100, H:12,100
E ,000 12,500 35% 500
A% E 100, 1:12,600 11,600 40% ,600, £:12,100
£ H:13.100, £:12,600 11,600 40% 600, £:12,100
£ H:14,000, £:12.500 13,000 33 500, £:12,000
KR () =RiI& KR (75 % 12,800 50% 00
E 11.700 54 :12,400
£ H:14,300 12,900 50% 13.800
RIS 12,900 5
% H:13.400 11,900 54% 900
% H:13.400 11.900 5 ,900
KB (551 =RE AR KB (FFH % | JL £ +:12,600, H:11,300 | 11,000 3 100, H:10,800
£ $:13,300, H:13000 11,500 ,800, H:12,500
£ H:13,500 [ 12000 9% :13,000
REARFE 3,000 12,000 9 500
A+:13.200, %:13,400, H:13500 12,500 7% 700, %:12,900. H:13,000
#:14,000, B:13500 12,500 7 500, H:13,000
KR () ==& KR (1) % +:135500 11,500 1% 3,000
£ 1:16.500 14,000 0 £:16.000
E 13,500 3% |£:16,000, H:15500
E 13,500 3%
EHEES E 13, h
E 13,
E 14, % H:15.800
£ H:16.300 1 £ H:15.800
KR (FFH) =BEKE KB (1) %
BEXBR
LEE(PE) =AIRGFTR)| 2GR (RED) R % +:22,000 1 £1:21.200
> +:22,000 18, £ 1:21.200
% 1:22,000 18, £1:21,200
£:20.100, H:19.400 16. £:19,300, H:18.600
#£:18,000, B:18,700 16,200 57% |£:17,200, H:17.900
ALIR (BT F %) $&|_JL31 16,200 57%
F H:18.400 16,600 55% FH:17.600
:19.300, H:21.300 18,100 51% 8500, H:20,500
1,100, £:19,600, H:25,200 19,500 48% :20,300, £:18,800. H:24.400
A #£:20,100, £:18,600, H:24.200 18,500 50% :19,300, 17,800, H:23.400
WREFTFR) =%E5 | HREFTR)E 11,500 46%
11.500 46%
i1,
ESERIES 12
i1,
1
AREFTFR) =F HLIR (FF ) 5
BHE — — —

JL2810

16,800
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TR | gmm | OEW s 5 o
BMASE ™ ETEIES " BAMIR "
IR G TR =B AR BT FaR) #[_JL2821 | 28HAT 100 47% 5 B &
JL2823 | 28HHI 100 47% SR8
JL2827 | 28EH] 600 45% | H:14,600 SRR H:14.100
EEES JL2822 | 28HIHI 600 45% |2 £:14.600 SR AL £ 114,100
JL2826 | 28EB] 100 47% 5E A1
JL2828 | 28HII 100 47% 5EEIL
LRGFTR) =15 ALIE (BT FaR) [ _JL2831 | 28HAT ,300 28% 500 -
JL2833 | 28HHI 800 2% 500
JL2837 | 28B1H] 800 2% 000
JL2839 | 28HHI 800 2% | H:21.500 —
EER JL2830 | 28HAI 19,800 2% | £1:21,500
28 B Al 19,800 2%
28 B A 19,800 2% |4 H:21.500 —
38 | 28T | 19800 2% |4 H:21,500
Fim=H1% FFm) B JL2871 | 28HAI 18,800 36% [£:20.800, £:21,800, H:17.800 £:19,800, £:20,800. H:16.800 6,
JL2875 | 28ER1 | 16.800 43% 5,
AR T Fa) #[_JL2872 | 28HAT 16,800 43% ] 5,
JL2876 | 28ERT | 18,800 36% [H:21.800 H:20.800 .800 20,800
& =4L0% G F i) (=3 JL290 28 E Al 17,600 38% | A:18,600, £ +:19,100 7:18,100, £ 1:18,600 7,600 7,100
JL2903 | 28HAT | 16,000 44% | A:17.000, % £:18,600, H:15.400 :16,500, % +:18.100. H:14.900 5,400 4,900
JL2905 | 28HRT | 14,000 51% | A:15,000, :16,000, + H:15.400 :14500, %:15,500, + H:14,900 5,400 4,900
JL2907 | 28HAT | 14700 48% | AH:15.700, £:17.700 A H:15.200, £:17.200 5,700 00
JL2909 | 28HRT | 13,600 52% :14,600, %:16,700, B:15.100 K:14,100, %:16.200. H:14,600 100 4,600
AL (7 F %) 58 [__JL290 28 BB 14,000 51% 5,400 4,900 4,000 500
JL2902 | 28HR] | 14,700 48% :15,700, H:14,600 5200, H:14,100 4,600 4,100
JL2904 | 28HAT | 14.000 51% |2 £:15000 £:14.500 4,000 500
JL2906 | 28HT | 15,600 45% _|+:16,000, H:17.900 5500, H:17.400 ,900 7,400
JL291 28HAT | 16,000 44% _|£:17.000, £:15.000, H:18.100 2:16.500, £:14.500, H:17.600 100 7,600
RE=H1%(FFm) LE% JL340: 28 B A ,900 59% |2 1:20,100 £1:19.300 400 7.600
ALIR (BT A% | JL340 28 A Al 400 60% z1:17.800, H:18,600 > 1+:17.000, H:17.800 600 7,800
BE=17% (S JL3523 | 28HAI 800 34% .800 —
EBR JL3526 | 28E Al ,800 34% 29,800 —
BE=1& [EEES JL3535 | 28H Al 17,700 59% 700 7.200
JL3537 | 28ERT | 18,700 57% 700 8200
was JL3530 | 28H Al 18,700 57% | H:18.200 H:17,700 ,200 7.700
JL3534 | 28ERT | 17.700 59% 700
e [EEES JL3581 | 28HAI 17,800 25% ,800 7.800
JL3587 | 28T | 17.800 25% |4 H:18.800 7.800
=S JL3582 | 28HAI 17,800 25% [+:18,800 — 7.800 —
JL3588 | 28T | 17.800 25% |4 H:18.800 — 7.800 —
136 == [EEES JL3627 | 28HAI 7,000 ) 70% 7,00 00i
JL3631 | 28HAI 7.000 70% 7.00 00
JL3635 | 28EB] 7.000 s 70% 7,00 00
EES JL3626 | 28 E Al 7,000 70% 7.00 00i
JL3628 | 28EB 7.000 3 70% 7,00 001
JL3632_| 28EI 7.000 s 70% 7,00 00!
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=P B4 =% 347A =% 5478
AN S &% AN S &%
R (HE)=XR(FM | RRCABA & [_JL101 | 28HHI 9,000 500 =K1 8,800 000
JL 0,500 1,000 Bl 0,000
JL 000 £:11,500 B AT 0,500
JL 000 4T% | AK&t: Bl 1,500
JL 000 A% Bl 0,500
JL 000 A% Bl 0,500
JL 000 A$: Bl 0,500
JL 000 6 R&: B AT 9,500
JL 000 47% _[+:10 B AT 00
L 000 47% 10 B AT 00
JL 000 4T% A& Bl 00 00
JL 000 4T% A& 000 Bl 00 00, H:12,500
JL 000 4T% A% 000 Bl 00 00, H:12,500
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JL1844 | 28H BT 700 2% | H:16,700 [l 000 7 H:15,700
| JL1850 | 28H Rl 000 6% | % H:17,500 i 000 59% |4 H:16,500
| JL1852 | 28H Rl 7,000 6% | % H:17,500 i 000 59% |4 H:16,500
JL1854 | 28H Bl 6,200 58% |€:17,500, £:16,500, H:17.000 i 200 61% |€:16,500, £:15,500, H:16.000
R (HE) =REAR R CRE) % | _JL1801 | 28ERI 6,000 6% Bl 000 62%
JL1803 | 28H Rl 7,000 4 [l 000 59%
JL1805 | 28H Rl 7,500 2 H:16,000 i 500 58% | H:14,000
JL1807 | 28H Bl 7,500 2 H:16,000 i 500 58% | H:14,000
JL1809 | 28H Rl 00 0% | £:16,500 [l 700 65% | 414,500
JL 28 B A 700 0% | £:16,500, H:16,000 il 700 65% | £:14,500, H:14,700
JL 28 B A 500 58% |4 H:18,000 i 500 63% |% H:16,000, £:12,700
JL 28 B A 700 60% |% H:16,500 [l 700 65% | £:14,700. H:14,500
AR JL180 28 H AL 000 56% | H:14,700 Bl 700 60% | H:12,700
JL1804 | 28H Rl 500 55% | H:14,700 il 500 58% | H:12,700
JL1808 | 28H Rl 700 0% | £:15,000 i 700 65% |£:13,000
JL1810 700 0% | £:15,000. H:16,500 i 700 65% | %:13,000, H:14,700
JL1812 700 0% | £:15,000, H:16,500 i 500 63% | £:13,000, H:14,700
JL1814 000 4 i 000 59%
J 7,000 4% | £:17,500 i 000 59% |%:15,500
J 700 0% £ H:17,500 i 700 65% |& 00
R (HR) =2 RRCPEE [ J 700 60% |4 +:17.200 B 700 63% | & 00
| J 500 55% |#£:17,200 il 500 58% & 00
| J 500 55% | % £:17,000 i 500 58% |4 000
| J 700 57% |4 +:16,500 i 700 0% |4 500
| J 000 4% | H:18,200 i 000 6% | H:17,200
J 700 7% |%:18,200, H:17,700 i 700 0% | £:17,200. H:16,700
EEE N 700 7% % +£:16,700 Bl 700 0% | +:15700
| J 000 6 [l 000 59%
| J 700 7 H:16,200 i 700 0% | H:15,200
| J 700 7 H:17,000 il 700 0% | H:16,000
| J 000 4% | £:16,000 il 000 6% | +:15,000
J 700 7% 418,200, H:16,200 i 700 0% | £:17,200, H:15,200
HERPBE)=ERS RERCPAEE | J 700 2 il 700 7
| J 500 58% | £:18,000 i 700 2% |4 +:16,000, H:14,500
| J 300 3% |4 +:18,800, H:16,800 i 300 58% |%+:16,800, H:14,800
| J 4,700 2% | A:16,500, % 1:18,000, H:17,000 45871 700 67% 114,500, % £:16,000, H:15,000
J 4,700 2% | +:15,700, H:17,000 45871 700 67% 113,700, H:15,000
J 700 60% |&H:17,700 i 700 65% 115,700
J 700 57% | H:17,700. £:16,000 45871 4,700 2 700, £:14,000
JL 700 7% |&H:17,700, 1:16,000 45871 4,700 2 700, £:14,000
ERER [ J 4,700 2 [l 700 7
| J 500 0% & 700 45H B 500 65% | & :14,700
| J 500 0% & 700 45H B 500 65% |&: 4,700
J 4,700 2% & 500, H:17,200 45881 700 %% 3,500, H:15,200
J 00 58% |& £:17,000 45881 4,700 & £:15,000
J 00 57% %17 8,000 45881 4,800 #£:15,700, H:16,000
J 00 57% |&H:17,700, £:16,000 45B 81 4,800 % H:15,700, £:14,000
J 00 58% |4 H:16,800, 1:16,000 45881 4,500 3% |4 H:14,800, £:14,000
HRPAR)=FXXE |[HEHZPHE)SH | J 00 3 - — —
BERER | J 00 - — —
RE(RRE) =X (B | BR(EE) R | JL 000 4 45881 000
J 000 4 45B 81 000
KR (FFHF [ J 000 4 45H Al 000
JL 000 4 45881 000
HR(RE) =R FHFR) | RRGEE S [ J 300 48% | % 1:22300, H:14,300 45HEI 600 0% | % 1:21,600, H:13,600
J 400 1 K:17.400, £:20,000, £:14,800, H:15,30) il 700 3% | A:16,700, %:19,300, £:14,100, H:14,60(
JL 400 1 A:17.400, %:20,000., +:14,800, H:15,30 i 700 3% | A:16,700, %:19,300, £:14,100, H:14,60
ALUR (3 F %) $|_JL3040 | 28 1A 00 4 H:14,000 Bl 00 6% | H:13,300
JL3042 | 28H Bl 00 6% |£:15,800, +:14,300, H:20,300 i 00 58% |4:15,100, :13,600, H:19.600
JL3048 | 28H Bl 00 6% |£:15,800, +:14,300, H:20,300 [l 00 58% |%:15100, 1:13,600, H:19.600
R (HE)=24E(F3) | RECAE)%E | JL141 | 288 7,500 59% - — —
| |AEE(EDR| Jii46 | 28T 7,500 59% - p— p—
HRE(RE)=25E(F3) | RE(E) % [ _JL3083 | 28HFI 700 4 =K1 700 30%
| JL3085 | 28H Bl 700 4 B AT 700 30%
JL3087 | 28H Bl 700 4 B AT 700 30%
AT E (FER) F|_JL3082 | 28HAET 700 4 EE 700 30%
JL3084 | 28H Bl 700 4 B AT 700 30%
JL3086 | 28H Bl 700 4 B AT 700 30%
HR(RE) =1/ FR(FLE) % | JL3051 | 28BH[ 000 4 A£:18,000, B:15,000 EED 000 6% | A£:17,000, H:14,700
| JL3053 | 28H Bl 000 59% |4 H:16,000 Bl 700 0% |4 H:15,000
JL3057 | 28H Bl 000 59% | :16,000, £:20,000, H:17,000 Bl 700 0% | A:15,000, £:19,000, H:16,000
wmE%E [ JL3052 | 28HAI 000 59% K 700 0
JL3054 | 28H Bl 000 59% | H:16,000 B AT 700 0% | H:15,000
|_JL3056 | 28H Bl 000 59% | H:16,000 B AT 700 0% | H:15,000




rEE= 9H9H~12H.17~19H.24~30AEH)

EEHEAR 2013/4/25 ~
9/9-12,17-19,24-30
44TA 4478
Br Ll G e— 1 oy EZ7] EER oy
A SR FEES " A SR FEES "
RR(RRE) =/ (%) | B (M) 300 55% | 419,800, H:18,800 56% | 4::19,000, H:18,000
iR (RER) 800 1 H:20,500 H:19,700
KR (5 =R KR () % 000 4 £1:19.000, H:18,200 £+ H:16,900
S 000 4 H:19,000 H:16,900
KR (B =FF% KR () % 28,500 2
28,500 2 —
26,000 9% |4 H:28,000 —
HHRR 26,000 9% | £ +:26,500 —
26,500 28% —
26,500 28% | H:28,500 —
KBR (51 R KR () % 00 40% —
RFE 00 48%
KBR (G5 =B KR () % 00 55% | H:14,500 H:13,300
500 56% | H:15,700 B:14,500
500 56% | H:15,700 B:14,500
PEEES 700 55% |%+:15,700, H:14,500 #1:14,500, H:13,300
00 6% |%:15700 £:14,500
00 6% |%:15,700 £:14,500
KR () =165 KR () % 26,500 5%
24,500 0%
23,000 35% —
26,500 25% |4 H:28,000 —
TEER 26,500 25% | 1:28,000 —
23,000 35% | %+ H:24,000 —
25,500 28% |4 H:28,000 —
26,500 25% |4 H:28,000 —
KBR () =1L KR () % 00 41% | H:17,000 —
00 38% | & +:22,500, B:19,500 — —
00 38% | £:23,500, H:25000 —
i} Z3 00 38% | H:19,000 —
00 38%
00 38% | H:22,000, +:20,000 — —
KB (FFH =fl& KR () % 00 55% | 4:15.800, 1:16,800 00 57% |%:15.300, 1:16,300
00 4% &+ 00 55% |4 1:16,800
00 7% |4 B:15,800 00 58% | & 800, H:15,300
00 7% |4 00 00 58% | & 800, 00
00 4% 4 00 00 55% & 800, H:15,800
00 47% |&H: 00 49% £ [H:17,800
00 47% | #:18,800, H:18,300 00 49%  |%:18,300, H:17.800
(=¥ 00 50 £1:16,300 00 52% | &1:15.800
00 47% |%:18,300, +:19,300 00 49%  |%:17,800, +:18,800
00 45% | %+ H:17,300 00 47% %+ H:16,800
00 2% %17, :16,300, H:16,800 00 4% | $:16,800, £:15,800.
00 2% %017, 00, H:16,800 00 4% | %:16,800, 00,
00 0% |£:18 00, B:17,800 00 2% |£:17,800. 00,
00 0% | &:17, 00 00 2% | %:17,300, 00
KB () =#i8 KR () % 000 59 T:12 00 60% | +:12,000
500 53% |H:12 000 55% | H:12,000
000 59% |4 H:13,000, £:13,500 500 0% | H:12,500, +:13000
500 50% |€:15,000, £:13,500, H:15,500 00 2% | $:14,500, £:13,000, H:15,000
S 000 48% | H:14,500 00 0 H:14,000
000 59% |+:13500, H:14,500 00 0% | +:13,000, H:14,000
000 59% |4 +:13,000, H:15,000 00 60% |4 +:12,500. H:14,500
500 53% |£:14,000, £:12,000, H:15,000 000 55% |€:13,500, £:11,500, H:14,500
KBR () =#al KR () % 0,500 38% 0,000 41
0,000 4 00 44
0,000 4 00 44
PATTES 0,000 4 00 44
0,000 4 00 44
000 35 0,500 38
KB () =K% KR () % 500 35% |4 000, H:13,000 000 38% 3 00, H:12,500
100 EE 600, B:12,600 00 S 00, H:12,100
000 3% |4 000 00 35% & 00
Kn% 00 7 F 100, +:12,600 00 40% > 00, 100
00 YE 00 00 S 00, 100
00 0% |4 00 000 3% & 00, 000
KR (1) = R KR () % 00 48 +:14,300 800 0 +:13,800
00 53% |4 :12,900 700 4% &+ H:12,400
400 48% | % H:14.300 00 0% |4 H:13,800
RIBFE 400 48% 00 0
400 S 400 00 4 H:12,900
400 £ H:13,400 00 4 H:12,900
KBR (1) =REA KR () % 00 % +:12,600, H:11,300 000 3 +:12,100, H:10,800
000 49% |%+:13,300, B:13,000 500 1% £:12,800, H:12,500
500 47% % H:13,500 000 49% H:13,000
AR 500 47% | +:13,000 00 49% 2,500
000 45% [ A+:13,200, £:13400, H:13,500 00 47 £:12,700, %:12,900, H:13,000
000 45% | %:14,000, H:13500 00 47 3,500, H:13,000
KR () == 8 KR () % 000 49% | +:13,500 00 1 3,000
4,500 38% | & +:16,500 4,000 40 £:16,000
4,000 40% | %:16,500, H:16,000 4 500 43 116,000, H:15,500
4,000 40% | %:16,500, H:16,000 4 000 3% 116,000, H:15,500
EEET 00 43% |4 H:14,000, £:15,000 4 000 3% H:13,500, 1:14,500
00 43% _[#:14,000, £:15,000, H:14,500 4 000 3% :13,500, £:14,500, H:14,000
4,800 7% |4 H:16,300 4,300 39% H:15,800
4,800 7% |4 H:16,300 4 4,300 39% H:15,800
KR (P =FEEXE [ XREFED R 25,800 9% — —
BERER 25,800 9% — —
RBEEFRE =R & Tm)|an (P & 8,300 1% |#+:21,000 % 1:20.200
7,700 3% | & +:20,200 % £:19,400
7,700 3% | & +:20,200 % £:19,400
000 60% |€:19,500, £:16,000, H:18,400 418,700, £:15,200, H:17,600
000 60% |%:18,000, £:15,500, H:17,700 %:17,200, +:14,700, H:16,900
AR (B F i) 000 60% |%+:15,500, H:17,000 F 4,700, B:16,200
400 3% |4 18,400 &+ H:17,600
8,300 1% |#+:18700, H:20,700 £ +:17,900, H:19,900
0,300 46% | A%:20,800, £:19,600, H:25,200 & £:20,000, £:18,800, H:24,400
00 48% | A%:19,800, 1:18,600, H:24,200 A& £:19,000, £:17,800, H:23,400
WREFTFR =%@a [ARGFTFHRH 000 44
000 44
000 44
ES-EIES 500 42
000 44
000 39
WREFTFR) =FF [LRFFRRY 00 2
00 7 —
7,800 7 — — —
EHR 7,800 7 —
7,800 7 —
6,800 1 — — —

JAL



rEE= 9H9H~12H.17~19H.24~30AEH)

EEEAA . 2013/4/25 -~

9/9-12,17-19,24-30
44TA 4478
XM ] = e
FH s i FH s i
mAmE THE g il mAmE THE | g il
AR G FaR) =B AR R T ) F[ J | 28E &Il 00 47 Bl 00 48%
| 28E 1 00 47 [l 00 48%
| 28H 1 00 47% | H:14,100 [l 00 48% | H:13,600
PEEES | 28E &I 00 47 £1:14,100 Bl 00 48% £ 1:13,600
| 28H 1 00 47 i 00 48%
| 28E 1 00 47 B AT 00 48%
RGEFR) =15 [RGFFTR R EEE 00 28 500 — p— p—
| 28E 1 00 500 —
| 28E 1 00 000 —
| 28E 1 00 500 —
fiz=E3 | 28H I 00 £1:21,500 —
| 28ERT 00 il
| 28E 1 00 £ 0:21,500 -
| 28E 1 00 £ 0:21,500 — —
FR=HLIR FF =) HiRE | 28HHT 00 36 #:20,800, 1:21,800, H:17.800 Bl 7,800 40%  |%:19,800, £:20,800, H:16.800
| 28E 1 00 43% i 5,800 46%
AR R TR F|_J | 28H I 00 43% Bl 5,800 46%
| 28H 1 00 36% | H:21,800 i 7,800 40% | H:20,800
E =408 G Fm) [ 28 F1 Bl 00 40% | A:18,100, Bl 00 42 7K:17.600, % 1+:18,100
28 B A 00 45% | A:16,500, % i 000 47% | A:16,000, % £:17,600, H:14,400
28 B A 00 52% | /:14,500, £:15,500, £ H:14,900 B 000 4 A:14,000, %:15,000, + H:14,400
28 B A 00 50% | H:15,200, %:17,200 i 700 2 A H:14,700, %:16,700
28 B A 00 52% | A:14,100, £:16,200, H:14,600 i 000 4 A:13,600, #:15,700, H:14,100
IR G F) % 28 1 Bl 00 52% 4,900 Bl 000 4 +:14.400
28 B A 00 50% £:15,200, H:14,100 i 700 2% % 114,700, B:13,600
28 B A 00 52% £:14,500 i 000 4% % +:14,000
28 B A 00 47% 5,500, H:17,400 i 600 49% | £:15,000, H:16,900
28 B A 00 45% [£:16,500, £:14,500, H:17,600 i 000 47% _[£:16,000, £:14,000, H:17,100
EE=HIR (FH T LE% 28 B Bl 400 0% £:20,100 Bl 600 61% % £:19,300
ALOR (B F i) 28 F1 Bl 00 3% £:19,300, H:20,100 Bl 6.100 65% | 1:18,500, H:19,300
=15 EEFE | 28HFT | 29.800 4% - — —
EER | 28HF1 | 29,800 4% - p— p—
EE=lE EEEES | 28BHi 7,700 59% B
| 28E 1 8,700 57% i
[I=E3 | 28E &Il 8,700 57% | H:18200 Bl H:17,700
| 28 B 81 7,700 59% [l
EE=24 EES | 28HFT 7,800 5% | +:18,800
| 28E 1 7,800 5% |4 H:18,800 —
EEIR | 28HF1 7.800 5% | +:18,800 -
| 28E 1 7,800 5% | H:18,800 — —
=R =2k EES | 28HF1 7,000 4 B 000 70
| 28E 1 7,000 4 i 000 70
| 28E 1 7,000 4 i 000 70
EHEES | 28BHi 7,000 4 Bl 000 70
| J | 28E 1 7,000 4 i 000 70
JL3632 | 28EEl 7.000 64% B AT 6,000 70%




rE#8#5 1 EEX(9A138~16H.20~23AEEN) n

EEEMAA ;. 2013/4/25  ~
9/13 9/15 9/16 9720 721 9722 9/23
= B2 3TA 547TA 547A 547A
o w8 EAE w8
BR(PE) =KKR(FH) | RREEB)E |_JLi01 Bl Al 9,000
JL103 500
JL 000
JL 000
JL 000
JL 000
JL 500
JL 500
JL 000 [ [
JL 000 [ [
JL 500 [ [
JL 500 [ [
JL133 500 [ [
JL 500 [ [
JL 500 [ [
AR (BFH % | JL 500
JL 000
JL106 000
JL 000
JL 000
JL 000
JL 000
JL 000
JL 000
JL 000
JL 500 [ [
JL 500 [ [
JL130 500 [ [
JL134 500 [ [
JL138 500 [ 12,000 11500 | 1 12,000 11500 | 1
BR(PE) =XKR(BEE) | RREER | JLi77 500 — — — —
JL189 500 12,000 11500 | 1 12,000 11500 | 1
KR (BE) % |_JLi72 000 — — — —
JL186 500 13500 13,000 13500 13,000
RR(PE) =HRGTFR) | RRPE)K |__JL501 ,800 — —
JL503 300
3931 300
JL505 300
JL507 300
JL509 300
JL 300
JL 800
JL 800
JL 800
JL 000
JL52 000
JL523 000
JL525 000
3937 000
JL527 000
JL529 000
JL531 000 — X
FRGFT ) % |__JL500 300 13,300 300 13,300
JL502 300 13,300 300 13,300
JL504 300 13,300 300 13,300
[ JL506 800 13,300 800 13,300
3932 500 13,300 500 13,300
JL508 300 : 14,000 300 : 14,000
JL 300
JL 800
JL 800
JL 800
JL 300
JL520 300
JL522 300
JL524 300
JL526 300 [ [
3938 300 [ [
JL528 300 [ [
JL530 300 [ [

RE(HA) =18M RERCAE)HE [__JL301 ,000 [ 1 [ 1
JL303 500 [ [
JL305 000 [ 2 [ [ 2 [
JL307 000 [ 2 [ [ 2 [
JL309 000 [ 2 [ [ 2 [
JL 000 [ 2 [ [ 2 [
JL 000 [ 2 [ [ 2 [
JL 000 [ 2 [ [ 2 [
JL 000 [ 2 [ [ [
JL 000 [ [ [ [
JL 000 [ [

JL323 000 [ [
JL325 000 [ [
JL329 000 [ [
JL331 000 [ [
JL333 000 [ [
JL335 000 [ [

ESEES JL300 000 [ [
JL302 000 [ [
JL304 000 [ [
JL306 000 [ [
JL 000 [ [
JL 000 [ [
JL 000 [ 2 [ 2
JL 000 [ 2 [ 2
JL 000 [ [ [ 2 [ [ [ 2
JL320 000 [ [ [ 2 [ [ [ 2
JL322 000 [ [ [ 2 [ [ [ 2
JL324 000 [ [ [ 2 [ [ [ 2
JL326 000 [ [ [ 2 [ [ [ 2
JL328 000 [ [ [ 2 [ [ [ 2
JL330 000 [ [ [ 2 [ [ [ 2
JL332 000 [ [ [ 2 [ [ [ 2
JL334 000 [ [ [ [




885 EEX(9A13A~16H.20~23AEEL) n
EEHERA 2013/4/25 _ ~
9/ 9714 9/16 720 9721 722 9/23
= B2 37A | 5478 547TA 547A 3478 3478 5347A 3478 3478 547A 3478 547TA 378
BéAReAED aEE | BAE @RS | BEE | BAE sEE | BEE  BRE | @%@ BAE
R (PE) % |_JL901 i il 700 28,700 — 17.900 700 18,900 — 300 17,900 300 17.900
800 18,600 800 21,000 400 18,600 400 18,600
800 18,600 800 21,000 400 18,600 400 18,600
800 — 18,600 800 1,000 400 18,600 400 18,600
400 700 18,600 400 0,600 700 400 18,600 400 18,600
400 700 18,600 400 ,600 700 400 18,600 400 18,600
400 700 18,600 400 ,600 700 400 18,600 400 18,600
800 400 18,600 800 19,000 400 400 18,600 400 18,600
800 400 18,600 800 19,000 400 400 18,600 400 18,600
800 400 18,600 800 19,000 400 400 18,600 400 18,600
800 500 18,000 800 19,000 500 800 18,000 800 18,000
800 500 18,000 800 19,000 500 800 18,000 800 18,000
200 400 18,600 200 400 400 400 18,600 400 18,600
200 400 18,600 200 400 400 400 18,600 400 18,600
ARABWRE | J 300 300 18,300 300 17,900 300 300 900 | 19,000 18,300
300 300 18,300 300 17,900 300 300 17,900 | 19,000 18,300
000 [19,000 18,300 000 200 | 19,000 [19,000 200 | 19,000 18,300
800 900 900 500 700 400 —
800 900 900
800 900 900
200 300 300 —
200 300 300
200 300 300
200 300 300
200 300 300
200 200 200
300 300 300
800 900 900 =
KR (B =HIEEF TR | KIREFEMHE |_JL ,900 19,900 — — 17,000
400 400 — — 14,500
000 16,000 16,100 16,100 16,000
ARFTR | J 100 100 = 100
100 100 — — = — 100
000 000 18,000 17.000 18,000 17.000 —
KR (BHEE) =R G | XIR(BIE) % | J ,000 18,000 — = — 16,000
000 18,000 — — = — 16,000
000 15,000 16,000 15,000 16,000 15,000 16,000
000 15,000 15,500 14,500 15,500 14,500 16,000
R FFm | J 100 100 — — p— — 100
100 100 000 15,000 000 15,000 —
100 100 000 16,000 000 16,000 —
600 15600 | 17,000 16000 | 1 — — 15600 | 17,000 16000 | 1 — —
KR (R =1am KR (5 000 10,500 500 — 000 10,500 11,000 10500 ),500 500 — 10,500 11,000 10500
000 11,500 — — 000 11,500 12,000 11500 | 1 11,500 — — 11,500 12,000 11,500
000 11,500 12,000 11500 | 12,000 11,500 — — 000 11,500 12,000 11,500 11,500 — —
000 11,500 12,000 11500 | 1 11,500 000 11,500 12,000 11,500 11,500
000 11,500 12,000 11,500 11,500 12,000 11,500 11,500
EEE 000 10,500 — 000 10,500 11,000 10500 = — 10,500 11,000 10500
000 11,500 — — 11,500 12,000 11,500 = — 11,500 12,000 11,500
000 10,500 12,500 12000 | 1 11,500 12,500 12000 | 1 12,500 12,000 11,500 12,500 12,000
000 11,500 13,000 12500 | 1 12,500 = = 000 11,500 13,000 12,500 12,500 —
000 11,500 12,000 11500 | 1 11,500 — = 000 11,500 12,000 11500 | 1 11,500 — —
KR () =F M (@) | AR % 000 19,000 — — 000 17,000 18,000 17000 | 20,000 19,000 — — 17,000 18,000 17.000
i B % 300 17,300 19,000 18,000 500 19,500 — — 300 17,300 19,000 18,000 19,500 —
BE =R TR ESEES 500 21,500 — 500 19,500 20500 19,500 500 21,500 = — 19,500 20500 19,500
000 20,000 — — 000 18,000 19,000 18000 | 21,000 20,000 = — 18,000 19,000 18,000
ARGFTm % | I35 000 18,000 19,000 18000 | 21,000 20,000 — — 000 18,000 19,000 18,000 20,000 — —
500 19,500 20500 19,500 500 21,500 — — 500 19,500 20500 19,500 21,500 — —
RRCAE) =K 5 RR(PE) % | J 800 600 — — 900 700 16,900 15,700 800 20,600 = — 700 16,900 15,700
800 600 — — 900 700 17.900 16,700 800 21,600 — 700 17.900 16,700
300 100 900 700 800 600 19.800 18,600 300 100 700 600 19.800 18,600
BT RE] 900 700 900 700 800 600 = - 900 700 700 3,600 —-
900 700 900 700 800 600 900 700 700 21,600
L 900 700 800 600 800 600 — 900 700 600 21,600 — —
RRCHE) =8Il RR(PE) % | J 500 700 900 — 600 17,800 600 17.800 500 700 17,800 600 17.800
500 — 500 8,700 500 18,700 500 700 8,700 500 18,700
700 15.200 500 7,700 900 700 900 7,700 900 —
700 15.200 500 7,700 900 700 15,900 15.200 7,700 900 —
BN 000 — 000 200 600 16800 | 17,000 200 — 200 600 16,800
000 — 800 20,000 800 20000 | 16,000 200 — 20,000 800 20,000
500 18,700 300 22,500 : - 500 700 18,700 22,500 : —
500 17.700 300 21,500 900 - 500 700 17.700 21,500 900 —
R CHE) =5l RR(PHE) 5% 700 — 700 700 700 6.700 700 700 — — 700 700 6.700
700 15,700 700 700 8,700 7,700 700 700 29500 15,700 700 700 7,700
700 17.700 700 700 9.700 8,700 700 700 18,700 17.700 700 700 8,700
ElEE3 200 — 200 200 6.200 5,200 200 7.200 — — 200 200 5,200
700 17.700 700 700 — — 700 7,700 18.700 700 — —
200 17.700 700 700 — — 200 7.200 18,700 700 — —
RR(AE) = %A RR(PE) % | J 800 — 800 800 18,800 17.800 800 21,800 22,800 800 18,800 17.800
800 800 7,800 18,800 17.800 800 17,800 7,800 18,800 17.800
800 17,800 — — 800 7,800 18,800 17.800 800 17,800 — — 7,800 18,800 17.800
800 7,800 18,800 17.800 800 21,800 — — 800 7,800 18,800 17.800 21,800 — —
FIL5 800 21,800 — — 800 17,800 18,800 17.800 800 21,800 — — 17,800 18,800 17.800
800 17,800 800 17.800 800 18,800 — - 17,800 800 17.800 18,800 — —
800 17,800 800 17.800 800 18,800 — - 17,800 800 17.800 18,800 — —
800 17,800 800 17.800 800 21,800 — — 17,800 800 17.800 21,800 — —
RR (HE) =R RR(RH) 5% 000 20,500 500 — 100 600 17.100 16,600 20,500 500 — 600 17.100 16,600
700 0,200 — — 9,800 19,300 19.800 19,300 ; 0,200 — — 19,300 19.800 19,300
900 7,400 16,000 15,500 0400 19,900 — — 900 7,400 16,000 15,500 19,900 — —
B3 7,800 17.300 — — 7,800 17.300 17,800 17.300 7,800 17.300 — — 17,300 17,800 17.300
7,100 6,600 500 15,000 2,100 600 = - 7,100 6,600 500 15,000 600 — —
700 6.200 500 15,000 2,100 600 — - 700 16,200 500 15,000 600 — —
RR(AE) =& RR(RE) 5% 500 16,000 | 17,000 16,000 500 3500 | 18,000 — 16,000 | 17,000 16,000
000 [ 18000 | 18,000 7000 | 20,000 — 18,000
500 ; 14,500 500 13,500 500 —
000 16.000 5000 | 18,000 17.000
000 000 8,000 000 18,000
500 500 13,500 500 14,500
HHRE 500 500 4,500 500 —
000 17.000 6000 | 19,000 =
500 500 14,500 7,500 16,500
500 500 13,500 500 14,500
000 000 8000 | 19,000 18,000
500 14,500 ; 500 13,500 500 14,500
RRCHE) RR(PE) % | J 500 — 500 500 14,500 500 —
500 15000 | 15,000 500 4500 | 16,000 15,000
500 15,500 500 500 14,500 6.500 15,500
E3 500 — 500 500 14,500 7,500 —
500 15000 | 15,000 500 4500 | 16,000 15,000
500 15,500 500 500 14,500 6.500 15,500
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EEBAE 2013/4/25 _ ~
9/ 9714 9/15 9/16 9721 9/22 9/23
= B2 44TA HTA TA 4478 TA TA 3478 TA 4478 TA TA 4478
o BAE afE | BRE | SRE aEE | BAE @AW | EAE | EAE aRE | ERE
R (AH) =HE R (HE) 5 B 900 — 400 13400 12,900 — 400 13400 12,900
100 — 400 13.400 12,900 — 400 13.400 12,900
900 13,900 13400 600 14,600 14,100 13,900 13400 600 14,600 14,100
100 13,100 12,600 100 — — 13,100 12,600 100 — —
HERE 600 — 900 13,900 13400 — 900 13,900 13400
400 500 13400 900 — 500 13400 900 —
100 900 13,400 900 13,400
100 900 12,400 900 12,400
ER(FH) =1k EEAECEES ,000
Iz 000
RER(HE) =/ RRE(HE) % 700
900
000
000
800
200
TN 200
200
200
200 200 13.200 200 13.200
200 200 13,200 200 13,200
400 400 12,400 400 12,400
RR(PE) =micaE RR(PE)R 500 ,000 — 000 —
000 000 000
000 000 000
ARBEER ,000
000
000 X
R (FH) =0 R (HE) 5% 100 — 100 11,600
000 — 000 12,500
400 15,500 15,000 15,500 15,000 100 —
500 14,500 14,000 14,500 14,000 500
500 14,500 14,000 ; 14,500 14,000 500
[EATES 000 — — 000 11,500 12.000 11,500 — 000 500 12,000 11,500
000 000 12,500 13,000 12,500 000 500 13,000 12,500
1.900 — — 000 12,500 13,000 12,500 — 000 500 13,000 12,500
000 13500 13.200 13500 13200 | 1
000 13,500 13.200 13,500 13200 | 1
TR (AH) =L R (HE) 5 200 13,500 — 13,500 —
500
500
000
000 —
000 14,000 13500 14,000 13500 | 1
000 14,000 13,500 14,000 13500 | 1
000 14,000 13500 | 1 14,000 13500 | 1
3D 500 — — 12,000 — — 500 12,000
000 — — 12,700 — — 200 12,700
000 200 12,700 12,700 200 12,700 200 12,700
500 13,000 12,500 — 13,000 12,500 200 —
500 [ 13,000 12,500 [13,000 12,500
000 [ 13,000 12500 | 1 13,000 12500 | 1
000 [ 13,000 12,500 13,000 12,500
000 [ 13,000 12,500 — 13,000 12,500
RR(PE) =ILOF# RR(PE) R .700 0 — 11,700 11,300 — 11,700 11,300
4,000 13,600 14,000 13,600 13,600 14,000 13,600
6,000 [ 13,600 — — 13,600 —
7,000 [ 14,000 13600 | 1 — — 13600 | 1 —
WOFHRE 000 — 13500 13,100 — 13500 13,100
000 13,500 13,100 — 13,500 13,100
000 14,000 13600 | 1 — — 14,000 13600 | 1
000 13,700 13,300 — 13,700 13300 | 1
R (AH) =HE ERABEE [ J 000 16,000 — 16,000 14,500 16,000 —
.100 — 16,100 15.200 —
100 5100 — 5,100
100 5100 5,100
100 5100 5,100
HER 500 7,500 15,000 14,100 7,500 15,000 14,100
.100 — 16,100 15.200 — 16,100 15.200
300 16,500 17,000 16,100 16,500 17,000 16,100
300 16,500 — 16,500 — —
300 16,500 — 16,500 — —
R (AH) =85 R (HE) 5% 600 13,600 12,600 13,600 12,600
600 13,600 12,600 13,600 12,600
600 600 13,600 12,600 600 13,600 12,600
600 600 — 600 —
600 600 600
600 600 — 600 —
mRRx ,000 12,000 11,000 12,000 11,000
000 13,000 12,000 13,000 12,000
000 13,000 12,000 13,000 12,000
000 13,000 12,000 15,000 14,000 13000 12,000 15,000 14,000
000 13,000 12,000 — 13,000 12,000 —
000 13,000 12000 | 1 — 13,000 12000 | 1 —
R (HA) ="H EREEE | J 000 e 13,000 12000 | 1 — 13,000 12,000
200 14,900 14,400 14,900 14,400
500 200 14,200 13.200 200 14,200 13.200
000 700 — 700 —
200 500 500
200 500 — 500 —
1 ,200 12,900 11,900 12.900 11,900
700 13,900 12,900 13,900 12,900
200 15,900 14,900 15,900 14,900
200 — —
200
200
ER(HB) =m4 RREE)E | J 000
000 12
000 _12,000
000 _12,000
000 12,000 5,000 12,000
T 000 13,000 | 14,000 13,000 14,000 13,000
000 — 12,000 | 13,000 12,000 — 13,000 12,000
000 13,000 12,000 14000 | 17,000 14,000 13,000 12,000 17,000 14,000
7,000 13,000 12,000 14,500 7,500 13,000 12,000 7,500
7,000 [13,000 12,000 15,500 — 13,000 12,000 —
R (FHE) =l R (HE) 5% 000 [ 2 — 12,000 | 13000 12,000 [ — 13,000 12,000
000 — 14000 | 15000 14,000 — [ 15,000 14,000
000 [ 16,000 13,000 | 15000 14000 | 1 [ 16,000 15,000 14,000
000 [ 16,000 15,000 000 | 2 — [ 16,000 15,000 [
000 [ 16,000 15,000 [ 16,000 15,000
000 [ 16,000 15000 | 1 17,000 — [ 16,000 15000 | 1 —
P 500 [ 2 — 13,000 | 14,000 13,000 [ — 14,000 13,000
000 — 3,500 4,500 13,500 — 4,500 13,500
000 14,000 — 000 | 16,000 15000 | 1 14,000 — [ 16,000 15,000
000 [ 15,000 14,000 000 | 17,000 — [ 15,000 14,000
500 [15,000 14,000 500 [ 15,000 14,000
500 [15,000 14000 | 16 000 [15,000 14000 | 16
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9/15 22

9/16 9! 9721 9! 9/23
3478 TA 3478 TA 3478 TA 4478 TA 3478 TA 4478
BEE EEE BEE EEE BEE EEE BEE EEE BEE EEE BEE
3,000 500 13,000 000 000 2 13,000 000 3,000 500 13,000

9/ 9714
:4;7*;;4 9%7;;3 HTA 3478 TA 3478
I I | 1 AR EEE BEE EEE BEE
i 000 13000 | 14 13,000
500 ——
500
500
500
500
500
000
000
000

=)

il
®

RRCHE) =dAM RR(PE) R

000
14300 | 15000 14,300 500 900 500 300 000 14,300
14,800 800 14,800 500 000 14,800 800 1,800 800 14,800
000 14,800 500 5,800 800 —
[ 15,000 14800 | 16,000 5,800 800 —
500 — 500 2,900 500 12,900
800 — 500 3,500 500 13,500
[15,000 13,800 —

000 13,800

.000
.900

14,800
14,800

14,800

EZE 12,900 500 12,900 500

13,500 500 13,500 500

13,800

CIElECEEEEEE

,500 13,000
RR(CHH) =K% BER(PER | J ,000 —
.500
.000
.000
.000
.000
,700
.000
.000
.000
.000
.000

EES

RRCHE) =R RR(PE)R L ,500
L .500
L 700
L 700
L 700
L 700
&% L ,700
L 700
4,700
.500
.500
.500

15,000
14,700

i 16,000
16,000

. 16,000

15500 | 1
RR(HH) =fkAx RRE(HE) % .000 —

000
500
500
500
500
000
500
000
500
000
000
000
000
7,500
7,500

AR

4,700 12,700
700 4,700 12,700
5,000 13,000

13000 | 15000 13000 | 15,000

4,700 12,700

13 [ 15, 13,000

RRAE) =85 RROAEE | J 700 13700 200

X 15,500 200

15,500

7,200
7,200
7,000
6,500
7,000
,200
,700
.000
,700
,700
.000
,200

RERCPH) =ERE RR(PE)R ,700
000
,800
,000
,700
.700
7,700
7,700
,700
.500
.500
.500
.700
7,700
7,700
7,700

ERBR

RR(PE) =8BXXE RR(CHE) % ,900

.300

BERBF L
RR(RE) =KR (B | RR(RE)%E | J
KRB |

000
000
000
000

RR () =HIRGFR) | RREBE [ J

,300

.000 X 13,800
.000 19 ,500 13,800
,300 600 ,700 —
.800 100 ,300 13,600
.800 100 ,300 13,600
500 — 8,000
500 - 7.500

X 13,800
,500 13,800

HRGEFTFR) R —

,300 13,600
,300 13,600

RR(PE)=2EE(PH) | RRPE)R
BEE (PE) %

,700 700 — —
,700 700
,700 700
,700 700
,700 700 — —
,700 700

RR(EAE) =2HE(PH) | RREB)E [ J

BEE(RE R J

R (RB) =18/ EREEE | J 000 000 -

000 17,000 | 15000 14700 | 1
000 19,000 | 15000 14700 | 1
000 700 900 —
000 700 900 —
000 700 000 15,000

000 14,700
15,000 14700 | 1
900 ——
900 —
000 15,000

ESEES 14,700 000 14,700

5000 =

5000 =

.800 000 ,500 17,900

18 18,800 18,000

700 28,400

18,800 18,000

700 28,400

R (RE) =98 | R (RE) R
hi (IRER)

19,000 500 17.900

800 000 900 19,100
000 5,500 — —

19,000 900 19,100
000

KR () =HhE PNAGEE] 700 18.200 15700 | 1
23 — —-

700 18,200 15,700

18,000 15,500

15,500 20, 500 =

18,000

E 15500 | 20,000 500 =




rE#8#5 1 EEX(9A138~16H.20~23AEEN) n
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9/13 9714 9/15 9/16 9720 9721 9/22 9/23
= B2 347A | 5478 HTA 3478 TA 4478 TA 3478 TA 3478 TA 4478 TA 3478 TA 4478
aom s e| BAE | ERW | SRE  SAs | SAE | BAE | SR SR ERE  ERE | BWE  ERE | ERE | BRE
KR (B =5 K (7 5 i i 500 — 500 — 000 — 500 — 500 — 000 — 500 —
500 500 000 — 500 = 500 000 — 500
000 000 000 000 000 000 000
BHRE 500 500 ,000 ,000 500 000 000
500 500 000 — 500 500 000 — 500
500 500 000 500 500 000 500
AREH==R KIE (7D 5 500 500 500 500 500 500 500
SiR% 800 = 800 800 — 800 = 800 800 — 800 —
KR (57 =HE KIE (7 5 700 13500 — — 700 15,000 700 15,000 — — 700 15,000 700 15,000
500 13,300 14500 13,300 700 14,500 = = 14,500 13,300 700 14,500
500 13,300 14,500 13,300 700 14,500 = = 14,500 13,300 700 14,500
HEFE 700 14,500 — — 700 13,500 14,700 13500 — — 700 13,500
700 200 16,000 800 16,600 — — 200 16,000 800 16,600 —
700 200 16,000 7.800 16,600 — = 200 16,000 800 16,600
KR (R =765 K (7 5 000 000 — 500 — 500 000 — —
000 000 500 500 000
500 500 — 000 — 500 500 — —
000 000 500 000 000
B 000 000 500 500 000
000 000 000 000 000
000 000 500 000 000
000 000 500 000 000
KR () =1f KR (7 5 800 000 800 1,000 000
500 000 800 000 000
500 — 000 800 — 000 000 — — —
IEZ3 800 500 800 000 500
800 500 800 000 500
000 — 000 800 — 000 - — 000 —
KR (R =& KR (5 800 15,300 — 800 13.300 800 13,300 13.300 800 13,300
300 16,800 — 300 ,800 300 13,800 ,800 300 13,800
300 14,800 — 800 300 800 15,300 300 800 15,300
300 14,800 300 300 800 = - 800 —
300 14,800 300 300 800 — 800 — —
300 17.800 300 300 17,800 17,800 —
800 18,300 300 300 17,800 17,800 —
WEs 300 15,800 — 15,300 14,800 4,800 15,300 14,800
300 17.800 — 16,300 15,800 5,800 16,300 15,800
300 16,800 — 17.500 17.000 7,000 17,500 17.000
7.300 16,800 300 — - 16,300 —
7.300 16,800 300 — 16,300
8300 17.800 800 — 17,300 — —-
7,800 17.300 300 — — 6,800 — —
KR () =318 K (7 5 000 11,500 12,000 11,500 1,500 12,000 11,500
500 13,000 — — 13,500 13,000 — — 3,000 13,500 13,000
000 12,500 13500 13,000 13,000 12500 | 1 13500 13,000 2,500 13,000 12,500
500 15,000 14,000 13,500 — — 14,000 13,500 15,000 — —
HBR ,000 14,500 — 14,500 14,000 — 4,000 14,500 14,000
000 11,500 — — 14,500 14000 | 1 — — 4,000 14,500 14,000
[ 000 12,500 13,000 12500 15,000 — 13,000 12500 4,500 15,000 —
000 13,500 12,500 12000 | 1 — — 12,500 12000 | 1 4,500 —
RIR (B =#aIl KIE(FD%E [ J 500 10,000 — — 10.700 10200 — — 0,200 10.700 10.200
000 500 10.200 9.700 — - 10.200 9.700 ; 9,700 — —
000 500 10.200 9,700 — - 10.200 9,700 9,700 — —
EYTE N 000 5,500 — — 10.200 9.700 — — 9,700 10.200 9.700
000 500 10.700 10.200 = - 10,700 10.200 200 — —
000 10,500 11.200 10,700 — - 11.200 10,700 10,700 —
KRR =A% KR (B35 [ J 000 13,500 — — 13,000 12500 — — 12,500 13,000 12500
000 13,500 — — 13,000 12500 | 1 — — 12,500 13,000 12,500
000 13,500 13000 12500 | 1 — — 13,000 12500 | 1 500 — —
A% | J 500 13,000 — 13500 13,000 = — 13,000 13500 13,000
500 13,000 — — 13,500 13,000 = — 13,000 13,500 13,000
000 13,500 12,500 12000 | 1 — — 12,500 12000 | 1 13,500 — —
KR () =R K (7 5 300 — — 13300 12,800 — — 12,800 13300 12,800
900 12,900 12,400 = - 12,900 12,400 400 — —
300 13,800 13.400 12,900 — - 13.400 12,900 13,800 — —
B 400 12,900 — — 13400 12,900 — — 12,900 13400 12,900
400 12,900 12.400 11,900 = - 12.400 11,900 12,900 —
400 12,900 12.400 11,900 — - 12,400 11,900 12,900 — —
KR () =leA KR (B35 [ J 600 100 — — 11,300 10,800 — — 10,800 11,300 10800
300 12,800 — — 13,000 12,500 — — 12,500 13,000 12,500
500 13,000 12,500 12,000 — — 12,500 12,000 13,000 — —
AR [J 500 12,000 — — 12,500 12,000 — — 12,000 12,500 12,000
400 12,900 13,200 12,700 — — 13,200 12.700 13,000 — —
000 13,500 13,000 12500 | 1 — — 13,000 12500 | 1 13,500 — —
KR () == KR (7 5 000 11,500 — 12,000 11,500 = — 11,500 12,000 11,500
[ 500 16,000 — — 14,500 14,000 = — 14,000 14,500 14,000
500 16,000 14,000 13,500 — — 14,000 13500 15,500 — —
500 16,000 14,000 13500 | 1 — — 14,000 13500 | 1 15,500 — —
ECE I 000 13,500 — 14,000 13500 = — 13,500 14,000 13500
[ 000 3,500 — — 15,000 14500 | 1 = — 14,500 15,000 14,500
[ 300 800 14,300 — — 800 14,300 15,800 — —
300 800 14,300 — - 800 14,300 15,800 — —
AR (B =EEXE AR () ,800 — ,800 - — 800
EESNE 800 800 - — 800 —
ZEE(FE) =R FTR)| 2R (R X[ _J 000 — 300 17,500 17,500 300 17.500
200 — 300 17.500 17,500 300 17.500
200 — 300 17.500 17,500 300 17.500
500 400 600 400 —
000 900 100 900 —
ARFTR | J 500 600 16,800 16,800 600 16,800
400 0400 19,600 600 0400 19,600
700 - —
800 — — —
800 — 7,200 —
ARFTm =K@s | ARFTR R 000 11,500 000 11,500
000 11,500 [ 000 11,500
000 11,500 [ 000 11,500
B3] 500 12,000 500 12,000
000 [ 11,500 [ 000 11,500
000 [ 12500 | 1 000 12,500
FLIR BT =5 R FFmIE|J ,300 ,300 — ¥ —
800 800 800
7,800 7,800 7,800
BHRE [y 7,800 7,800 7,800
7,800 — 7,800 — 7,800 —
6,800 — 6,800 — — 6,800 —
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9/13 9714 9/15 9/16 9720 9721 9/22 9/23
= B2 37A | 5478 547TA 3478 547A 3478 547TA 378 547A 3478 5347A 3478 547A 3478 547A 3478 547TA 378
aom s e| BAE | ERE | SR@  SwG | SAW | SRS | BNE  BAE | SAE SAY | SRS AW | SAE | SR | SRE SAA
FHRFTR =B | AT m 5| JL2s2l [l i 100 12,800 13,100 12,800 100 12,800 13,100 12,800 100 12,800 13,100 12,800 100 12,800 13,100 12,800
100 12,800 13,100 12,800 100 12,800 13,100 12,800 100 12,800 13,100 12,800 100 12,800 13,100 12,800
100 12,800 13,100 12,800 100 13,600 — — 100 12,800 13,100 12,800 100 13,600 — —
HREFE 100 13,600 — — 100 12,800 100 12,800 100 13,600 — — 100 12,800 100 12,800
100 12,800 100 12,800 100 12,800 100 12,800 100 12,800 100 12,800 100 12,800 100 12,800
100 12,800 100 12,800 100 12,800 100 12,800 100 12,800 100 12,800 100 12,800 100 12,800
ARFTR =18 |[ARFTRRE 800 = 800 — 800 — 800 = 800 — 800 — 800 — 800 —
800 800 800 800 800 800 800 800
800 800 — 800 — 800 800 800 — 800 — 800 —
800 800 800 800 800 800 800 800
FZ23 800 800 800 800 800 800 800 800
800 800 800 800 800 800 800 800
800 800 — 800 — 800 800 — 800 — 800 —
800 800 — 800 — 800 800 — 800 —
FR=IREGF TR B 800 800 16,800 800 16,800 800 800 16,800 800 16,800
800 300 15,800 800 15,800 800 300 15,800 800 15,800
ARFTR R 800 800 15,800 800 15,800 800 800 15,800 800 15,800
800 18,800 16,400 800 20,800 — — 800 800 20,800 — —
WE=AREFTH) WEs 600 — — 500 17,000 17.100 16,600 600 — 500 17,000 17.100 16,600
100 — — 900 400 17,500 17,000 100 = — 900 400 17,500 17,000
500 15,500 15,000 900 400 17,500 — 500 15,500 15,000 900 400 17.500 —
200 14,500 14,000 500 15,000 — = 200 14,500 14,000 500 15,000 — —
200 13,500 13,000 600 100 7,600 = 200 13,500 13,000 600 100 7,600 —
ARFTRRE| 500 — — 500 13,000 3,500 13,000 500 = — 500 13,000 3,500 13,000
200 — — 100 13,600 4,500 14,000 200 = — 100 13,600 4,500 14,000
500 15,000 — 500 13,000 4500 14,000 500 15,000 — 500 13,000 4,500 14,000
100 15,500 15,000 400 16,900 — = 100 15,500 15,000 400 1€ —
100 14,500 14,000 600 100 — = 100 14,500 14,000 600 100 — —
EB=AEGFTR EE: 100 — — 400 7,600 18.400 17,600 100 — — 400 7,600 18.400 17,600
ARG T3 5% 800 800 17.000 600 17,800 — = 800 17.000 600 17,800 — —
TR =1e5 EEiE] 800 800 — 800 — 29.800 800 — 800 — 29.800
15 800 30800 800 — 30800
RE =15 EEEE: 700 18,200 200 7.700 18.200
700 — 700 8,200 —
(X3 700 18.200 200 7,700 18.200
700 — 700 8,200 —
1B =m0 EES 800 800 800 — 800
800 800 800
TS 800 800 800
800 800 — 800 —
EE=ah ESEES 000 [ 7.000 6,000 7,000 6,000
000 [ 7.000 6,000 7.000 6,000
000 [ 7.000 6,000 7.000 6,000
EEES 000 [ 7.000 6,000 7.000 6,000
[ 000 [ 7.000 6,000 7.000 6,000
JL3632_| 288 55 7,000 7,000 6,000 7,000 6,000
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EE#AA 2013/4/25 ~
9/2-8 9/1
=P E% _ JHA _ M&WB 447°A | 347B
FH e BEE . FH | g BEE [ EE -
AR T 5 " BAMR TR s " PR | =R
KB (BA7) =48 (FR%R) | KBk (BS#E) F| NU271 | 28HF1 | 16,300 52% | % 1:20,000 45H@T | 15,300 55% | +:19,000 18,800 | 17,800
NU275 | 28HA1 | 13,300 61% | % +:16,500 45H7T | 12,300 64% | % +:15,500 14,800 | 13,800
NU279 | 28HA1 | 13,300 61% | £:19,500, £:17,500, H:15400 | 45HF7 | 12,300 64% | %:18,500, :16,500, B:14.400 | 17,900 | 16,900
h#E (FE) %[ _NU270 | 28HAT | 13,300 61% | H:15500 45H7T | 12,300 64% | H:14,500 18,000 | 17,000
NU274 | 28H&1 | 13,300 61% | H:15500 45H7T | 12,300 64% 18,000 | 17,000
NU278 | 28HA1 | 16,300 52% | H:21,500 45H7T | 15,300 55% 24,000 | 23,000
1ERE =P8 () EEES NU051 | 28HAT | 14.400 48% 400 45H A1 | 13,900 49% 14,400 | 13,900
NUO053 | 28HA1 | 14,400 48% 15,400 45H7T | 13,900 49% 14,400 | 13,900
NUO57 | 28HA1 | 13,700 50% | %:15,400, £:14,600 45H7T | 13,200 52% 13,700 | 13,200
NUO61 | 28HAT | 12,400 55% | %:14,500, £:12,000, H:13,900 | 45HF7 | 11,900 57% | %:14,000, £:12,400, B:13.400 | 13,900 | 13,400
NU063 | 28HAT | 13,000 53% | % H:14,000 45H7T | 12,500 55% | % H:13,500 14,000 | 13,500
NUO065 | 28HAT | 13,000 53% | % H:14,000 45H7T | 12,500 55% | % H:13,500 14,000 | 13,500
h#E (F%) %[ _NU0s0 | 28HAT | 12400 55% | % +:13,500 45H7T | 11,900 57% % +:13,000 12,400 | 11,900
NUO52 | 28HA1 | 13500 51% | % 1:14,600 45H7T | 13,000 53% | & +:14,100 13,500 | 13,000
NUO54 | 28HA1 | 14,400 48% | % H:15400 45H7T | 13,900 49% % H:14,900 15,400 | 14,900
NUO56 | 28HAT | 14,400 48% | % H:15400 45H7T | 13,900 49% % H:14,900 15,400 | 14,900
NUO60 | 28HAT | 14,400 48% | % H:15,400 45H7T | 13,900 49% % H:14,900 15,400 | 14,900
NUO62 | 28HAT | 14,400 48% | % H:15,400 45H7T | 13,900 49% % H:14,900 15,400 | 14,900
HRCRE)=RE [®EmRCAE)H[ Nuo7i | 28HAT | 26,700 55% | % 1:29,700 45HAT | 26,600 55% | % 1:29,600 28,900 | 28,800
NU073 | 28HAT | 21,800 63% | % 1:24,800 45H7T | 20,800 65% | % 1:23,800 25,800 | 24,800
RIEH NUO70 | 28HAT | 19,400 67% | H:20,400 45H7T | 19,300 67% | H:20,300 23,100 | 23,000
NUO76 | 28HA1 | 22800 62% | H:25,800 45H7T | 21,800 63% | H:24,800 29,800 | 28,800
RECHA)=2h ["FECHAE)HE| NUo21 | 28HFI] | 25400 54% | % 1:28,400 451 | 25300 54% |4 1:28,300 27,600 | 27,500
BT NU022 | 28HAT | 22,300 60% | H:25,300 45H7T | 22,200 60% | H:25,200 25800 | 25,700
KBz (B8E) =FR1E [KBx(R87E)%| NU083 | 28HAT | 20800 57% | % 1:23,800 45H7T | 20,300 58% | % 1:23,300 22,800 | 22,300
AiEHE NUO086 | 28HAT | 21,800 55% | H: 45H7T | 21,300 56% | H: 26,800 | 26,300
N =978 (R INVEAFE NU037 | 28HAT | 20,000 51% 45HAT | 16,000 61% 23,000 | 19,000
Sh#E (FR%) | NU036 | 28HAT | 20,000 51% 45HAT | 16,000 61% 23,000 | 19,000
ZEE(PE) =4 @EBH) &L= (P[] NU251 | 28HE] | 21,700 44% 45H7T | 21,200 45% 21,700 | 21,200
NU253 | 28HA1 | 21,700 44% 45H7T | 21,200 45% 21,700 | 21,200
NU255 | 28HA1 | 18,400 52% 45H7T | 17,900 54% 18,400 | 17,900
NU257 | 28HA1 | 17,400 55% 45HAT | 16,900 56% 17,400 | 16,900
h#E (FE) %[ _NU252 | 28HAT | 18400 52% 45H7T | 17,900 54% 18,400 | 17,900
NU254 | 28HA1 | 21,600 44% | +:19,600, H:24,400 45H7T | 21,100 45% | £:19,100, H:23,900 24,400 | 23,900
NU256 | 28HA1 | 20,600 47% | %:22,200, £:19,600, H:24,400 | 45HF7 | 20,100 48% | %:21,700, £:19,100, H:23,900 | 24,400 | 23,900
NU258 | 28HAT | 20,600 47% | %:22,200, £:19,600, H:24,400 | 45HF7 | 20,100 48% | %:21,700, £:19,100, H:23,900 | 24,400 | 23,900
FEl Ll =8 (AR ER) [EIIES NUO11 28HFI | 18,400 46% | & +:21,400 A5HBI | 17,400 49% & +:20,400 18,400 | 17,400
Sh#E (F%) | NUO16 | 28HAT | 18,400 46% | H:21,400 45H7T | 17,400 49% | H:20,400 21,400 | 20,400
SR (INE) =/1E  |P#E(F%) F|_NUeor | 28HAT | 8,600 63% 45H7T | 8,200 64% 8,600 | 8200
NU605 | 28HAT | 12800 44% 45HAT | 12,400 46% 12,800 | 12,400
NU607 | 28HA1 | 12800 44% 45HAT | 12,400 46% 12,800 | 12,400
NU609 | 28HAT | 8600 63% 45H7T | 8,200 64% 8,600 | 8200
NU613 | 28HAT | 8,600 63% 45H7T | 8,200 64% 8,600 | 8200
NU617 | 28HAT | 8,600 63% 45H7T | 8,200 64% 8,600 | 8200
RAC705 | 28HHI] | 8,600 63% 45H7T | 8,200 64% 8,600 | 8200
NU621 | 28HAT | 8,600 63% 45H7T | 8,200 64% 8,600 | 8200
NU625 | 28HAT | 8,600 63% 45H7T | 8,200 64% 8,600 | 8200
RiEH NU600 | 28HAT | 8600 63% 45H7T | 8,200 64% 8,600 | 8200
NU608 | 28HAT | 8,600 63% 45H7T | 8,200 64% 8,600 | 8200
NU610 | 28HAT | 8,600 63% 45H7T | 8,200 64% 8,600 | 8200
NU612 | 28HAT | 8,600 63% 45H7T | 8,200 64% 8,600 | 8200
NU614 | 28HAT | 8,600 63% 45H7T | 8,200 64% 8,600 | 8200
NU618 | 28HAT | 12800 44% 45HAT | 12,400 46% 12,800 | 12,400
NU622 | 28HAT | 12800 44% 45HAT | 12,400 46% 12,800 | 12,400
NU626 | 28HAT | 12,800 44% 45HAT | 12,400 46% 12,800 | 12,400
RAC708 | 28HH] | 8,600 63% 45H7T | 8,200 64% 8,600 | 8200
REB(IE) ==h  [PEGRER) F|_NUs51 | 28HF1 | 11,200 36% 4581 | 11,000 37% 11,200 | 11,000
RAC801 | 28HHE] | 11,200 36% 45H7T | 11,000 37% 11,200 | 11,000
NU557 | 28HA1 | 11,200 36% 45H7T | 11,000 37% 11,200 | 11,000
NU559 | 28HA1 | 11,200 36% 45H7T | 11,000 37% 11,200 | 11,000
NU565 | 28HA1 | 7,400 58% 45871 | 7,200 59% 7,400 | 7,200
NU567 | 28HA1 | 7,400 58% 45H7T | 7,200 59% 7,400 | 7,200
NU571 | 28H&1 | 7,400 58% 45H7T | 7,200 59% 7,400 | 7,200
NU573 | 28HA1 | 7,400 58% 45H7T | 7,200 59% 7,400 | 7,200
RS NU552 | 28H @i | 11,200 36% A5HFI | 11,000 37% 11,200 | 11,000
NU556 | 28H A1 | 11,200 36% 45H@T | 11,000 37% 11,200 | 11,000
NU558 | 28HA1 | 7,400 58% 45H7T | 7,200 59% 7,400 | 7,200
NU560 | 28HAT | 7,400 58% 45H7T | 7,200 59% 7,400 | 7,200
NU564 | 28HA0 ,200 36% 45H7T | 11,000 37% 11,200 | 11,000
NU566 | 28 B &l ,200 36% 45H@T | 11,000 37% 11,200 | 11,000
NU572 | 28l ,200 36% 45H7T | 11,000 37% 11,200 | 11,000
RAC804 | 28HHI | 7,400 58% 45H7T | 7,200 59% 7,400 | 7,200
BEh=RiE RS RAC833 | 28HAI | 8900 25% — — — 8,900 —
RAC837 | 28HHI | 8,900 25% — — — 8,900 —
RiEHR RAC834 | 28HHEI | 5,700 52% 45H@T | 5,300 55% 5700 | 5,300
RAC838 | 28HH] | 8,900 25% — — — 8,900 —
PR (RER) =AKE [#E(BH) F[ _RAC8T1 | 28HEI | 7.600 36% — — — 7,600 —
RAC873 | 28HHEI | 7,600 36% — — 7,600 —
RAC875 | 28HHEI | 7,600 36% — — 7,600 —
NU211_| 28HAT | 7,600 36% — — — 7,600 —
RAC879 | 28HHEI | 7,600 36% — — 7,600 —
RAC881 | 28HH®I | 7,600 36% — — 7,600 —
RAC883 | 28HHEI | 7,600 36% — — — 7,600 —
AXBE% | RAC872 | 28HAT | 7,600 36% — — 7,600 —
RAC874 | 28HHEI | 7,600 36% — — 7,600 —
RAC876 | 28H@I | 7,600 36% — — — 7,600 —
NU212 | 28H&1 | 7,600 36% — — 7,600 —
RAC870 | 28HHEI | 7,600 36% — — 7,600 —
RAC882 | 28HHEI | 7,600 36% — — — 7,600 —
RAC884 | 28HHEI | 7,600 36% — — 7,600 —
B (IER) =55k | P48 (IRER) | RAC815 | 28HFil | 10800 24% — — 10,800 | —
RAC817 | 28HHI | 10,800 24% [ KEIK — — — 10,800 | —-
EXt3 RAC816 | 28HBI | 10,800 24% — — 10,800 | —
RAC818 | 28HHI | 10,800 24% [ KEIK — — 10,800 | —-
B GIRER) =E|EKE 948 (FBF) F| RAC853 | 28HAT | 17600 | 24% — — — 17.600 | ——
BEKEH | RAC854 | 28HA1 | 17,600 24% — — 17600 | —-
T (%) = GIhE | 048 (RE) | RACT21 | 28H AT | 15.700 | 50% — — 15700 | —
S53;MEX | RAC724 | 28HET | 15700 50% — — — 15700 [ —-
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FH | ge EEH FH | g EEH
o TEE | ga kel mAgE TRE gnw %
KB (BId8) =8 (FR%R) | KBk (R878) % [__NU271 Bail | 14,300 58% | €1:18,000 45H\1 | 13.300 1% |£1:17.000
NU275 BAT | 11,900 [ 65% [£:13.000, £:14,500 4 0,900 8% |£:12,000, £:13,500
NU279 BBl | 11,900 | 65% |£:16,000, £:15,000, H:14,000 | 4 0,900 8% :15,000, +:14,000, H:13,000
S (IRER) F|_NU270 Bail | 11,900 65% | H:13,000 4 0,900 8% 000
NU274 BA] | 11,900 | 65% |H:13,000 4 0,900 8% ,000
NU278 BAT | 14300 | 58% [H:19.500 4 00 % 500
18R = b8 (B ER) (RS NU051 BRil_| 14.400 48% | €1:15400 4 00 49%  |#£1:14.900
NU053 BA] | 14400 | 48% & +:15400 4 00 | 49% [£+:14900
NU057 BAT | 13700 [ 50% [£:15.400, £:14.600 4 ,200 52% |%:14,.900, £:14.100
NUO6 1 BBl | 12400 | 55% |£:14,500, £:12,900, H:13,900 | 4 1,900 57% |%:14,000, £:12,400, H:13,400
NU063 BA] | 13000 | 53% & H:14,000 4 2,500 55% |4 H:13.500
NU065 BA] | 13000 | 53% & H:14,000 4 2,500 55% |4 H:13.500
B8 (IRER) F|__NU0S0 BRI | 12400 55% | €1:13,500 4 .900 57% | €3:13,000
NU052 BAT | 13,500 51% 4 1600 4 ,000 £+:14.100
NU054 BBl | 14400 [ 48% [4 400 4 900 [ 4 £ H:14.900
NU056 BBl | 14400 [ 48% [4 400 4 00 | 4 £ H:14.900
NU060 BAT | 14400 [ 48% [4 400 4 00 | 4 £ H:14.900
NU062 BAT | 14400 [ 48% [4 400 4 900 [ 4 £ H:14.900
HR(HE)=%RE [RRCHBE)F| NU0T1 BRil_| 25900 56% x 1:28,900 4 25,800 6% & 00
NU073 BAT | 21.300 4% [£1:24300 4 20,300 6% | %1 00
RIEH NU070 BAT | 19.400 7% | H:20,400 4 9,300 7% [A:
NU076 BAT | 22,300 2% | H:25300 4 1,300 4% | B:
RR(CAE)=8d |ERCHE)SE| NUO BAT | 24,600 56% | & +:27,600 4 4,500 6% &
BhHE NUO: B Al ,900 1% | H:24.900 4 1,800 1% [8:
KBz (B8#E) =FR1E [ KK (BIFE)FK| NUO BAT | 18,300 2% |&+:21300 4 7.800 3% | &
RIEH NU086 B Al ,300 0% | H:22.300 4 00 1% |8:
INA=hEE (RER) INAFE NU037 BAil_| 20,000 51% & 4 000 1% |4
P48 (ARER) F [ NUO36 BAT | 20000 [ 51% [& 4 ,000 1% |4
2HE(DE) = & E (PED) 5[ NU251 BAT | 20700 [ 46% > 4 20200 | 48% |3
NU253 BBT | 20700 [ 46% z £:23,300 4 0200 | 48% |&+:22.800
NU255 HAT | 17.400 55% 4 6.900 56%
NU257 HAT | 16.400 58% 4 5,900 59%
B (BRER) $& [__NU252 BRI _| 17.400 55% 4 6,900 6%
NU254 BA] | 21,100 | 45% |+:19,100, H:23,900 4 0,600 | 47% |+:18.600. H:23.400
NU256 BA] | 20,100 | 48% |£:21,700, £:19,100, H:23,900 | 4 9600 | 4 %:21,200, £:18,600, H:23,400
NU258 BRI | 20100 | 48% |£:21,700, £:19,100, H:23,900 | 4 9600 | 4 %:21,200, £:18,600, H:23,400
e e ) NUO11 BA] | 18400 | 46% & +:21,400 4 7400 [ 4 £ +:20.400
3 NUO16 BA] | 18400 | 46% |H:21,400 4 7400 [ 4 H:20,400
SEE(BRER) =FiE | NUG01 BAT | 8.600 63% 4 8,200 64
NU605 BAT | 12800 [ 44% 4 12400 | 46%
NU607 BAT | 12800 [ 44% 4 12400 | 46%
NU609 Sl ,600 % 4 .200 4
NU613 Sl ,600 % 4 .200 4
NU617 Sl ,600 % 4 .200 4
RAC705 B Bl ,600 % 4 .200 4
NU621 Sl ,600 % 4 .200 4
NU625 Sl ,600 % 4 .200 4
RIEH NU600 EEil ,600 % 4 .200 4
NU608 Sl ,600 % 4 .200 4
NU610 Sl ,600 % 4 .200 4
NU612 Sl ,600 % 4 .200 4
NU614 EEil 00 % 4 00 4
NU61 HAT | 12.800 44 4 ,400 464
NU62 BAT | 12800 [ 44 4 400 | 46%
NU62 BAT | 12800 [ 44 4 400 | 46%
RAC708 BAT | 8.600 } 4 8,200 4%
PEORE) == [P (&) F|__NUS51 Bail | 11.200 % 4 ,000 7%
RAC80T BAT | 11.200 % 4 ,000 7%
NU557 HAT | 11.200 % 4 .000 7%
NU559 HAT | 11.200 % 4 000 7
NU565 HAT | 7.400 58% 4 7.200 5!
NU567 HAT | 7.400 58% 4 7.200 5!
NU57 HAT | 7.400 58% 4 7.200 5!
NU57 BA] | 7.400 58% 4 7.200 5
BEHE NU55 BHail | 11.200 36% 4 11,000 37"
NU55 BA] | 11,200 |  36% 4 11,000 37%
NU5 HAT | 7.400 58% 4 7.200 59%
NU560 BAT | 7.400 58% 4 7,200 9%
NU564 BAT | 11,200 % 4 ,000 7%
NU566 BA] | 11,200 % 4 ,000 7%
NU572 BAT | 11,200 % 4 ,000 7%
RAC804 BAT | 7.400 58% 4 7,200 59%
BH=FAE BEHE RAC833 BAT | 8900 25% — — —
RAC837 BA] | 8900 25% —
RIEH RAC834 HEl | 5700 52% 55%
RAC838 BA] | 8900 % —
PR GIRER) =AKE | h#8 (ARER) [ _RAC8TI BAT [ 7.600 % —
RAC873 BAT | 7.600 % —
RAC875 BA] | 7.600 % — — —
NU211 BAT | 7.600 % — —
RAC879 BAT | 7.600 % — —
RAC881 BAT [ 7.600 % — — —
RAC883 BAT [ 7.600 % — —
ARBH RAC872 BAT | 7.600 % — —
RAC874 BA] | 7.600 % — —
RAC876 BA] | 7.600 % — —
NU212 BAT | 7.600 % — —
RAC870 BAT | 7.600 % — —
RAC882 BAT [ 7.600 % — — —
RAC884 BAT [ 7.600 % — —
)= P8 (BRER) 5 [ _RAC815 BRIl | 10,800 4 — —
RAC817 BRIl | 10,800 4 KB — — —
CE TS RAC816 BAl_| 10,800 4 — —
RAC818 BAl_| 10,800 4 KB — —
FROBEH) =BXKE 48 GRE) % | RACS53 B8] | 17.600 4 — —
BEAES | RACS54 B&l | 17.600 4 — —
R =5AE | G0 | RACT21 Bl _| 15700 | 50 — —
SHEH | RAC724 | 288 | 15700 50% — — —
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9/13 9/14 9/15 9/16 9/20 9/21 9/22 9/23
X B4 947A | 449B | 547A | 5847B | 847A | 547B | 847A | 847B | 447A | 447B | 447°A | 449B | 847A | 847B | 847A | 347B | 847A | 3478
ﬁ?gﬂﬁ ﬁfﬁﬂﬁ EELE | EEMGE | EASE | EAE | EEA | EEH | ENE ESH | @R | E0E | EEH | EEE | ENE | EEN | EEE  EEE
KRR (BA78) =h#8 (IR %) | KPR (BHFE) F|__NU27 28H AT =Kl 000 | 17,000 [ — — 000 000 000 000 000 | 17,000 | — — 000 000 000 000
27, 28 &Il B AT 000 | 12,000 | 14,500 500 000 000 000 000 000 | 12,000 | 14,500 500 000 000 000 000
27! 28 &Il B AT 000 | 15,000 000 000 000 000 000 000 000 | 15,000 000 000 000 000 000 000
SR (E) F[_NU270 | 28HET =K 00 | 10.900 000 000 000 000 000 000 00 | 10.900 000 000 000 000 000 000
U274 | 2881 B AT 00 | 10,900 000 000 000 000 000 000 00 | 10,900 000 000 000 000 000 000
U278 | 28R#1 BA1 | 14,300 00 000 000 | 20,000 00 [ — — 4,300 00 000 000 | 20,000 00 | — ——
13RE = iR (R E) EES Uos1 | 28Rl =k 00 00 [ — — 4,400 00 | 14,400 00 00 00 [ — — 4,400 00 | 14,400 00
U =Kl Bl 00 00 | — -— 4,400 00 | 14,400 00 00 0 | — — 4,400 00 | 14,400 00
U =Kl B AT 00 00 | 14600 [ — 00 00 700 00 00 00 | 14600 | — 00 00 700 00
U =Kl BE1 | 14,500 000 900 400 900 400 | — — 4,500 000 900 400 900 400 | — ——
U =Kl BE1 | 14,000 500 000 00 | 14,000 00 | 14000 [ — 4,000 500 000 00 | 14,000 00 | 14000 | —
U B AT BE1 | 14,000 500 000 00 | 14,000 00 | 14,000 500 | 14,000 500 000 00 | 14,000 00 | 14,000 500
iR (IRER) R _NU =k =K 00 000 | — — 4,400 00 | 14,400 900 00 000 | — — 4,400 00 | 14,400 900
u Bl BAl | 14,600 00 | 14600 | — 00 00 00 000 | 14,600 00 | 14600 | — 00 00 00
U =Kl =Kl 00 00 | 14,400 00 00 00 00 [ — 00 00 | 14,400 00 00 00 00
| _NU | 28871 Bl 00 00 | 14,400 00 00 00 0 | — 00 00 | 14,400 00 00 00 00
| _NUO60 | 28HFT =Kl 00 00 | 14,400 00 00 00 00 [ — 00 00 | 14,400 00 00 00 00
U | 28871 =Kl 00 00 | 14,400 00 00 00 [ 17,000 [ — 00 00 | 14,400 00 00 00 | 17,000 | —
FR(EE)=RE [RRCABE)HE| NU 28H AT HHil | 28900 | 28800 | -——— —— | 28,900 | 28,800 | 28,900 | 28,800 | 28900 | 283800 | -——- — 28,900 | 28,800 | 28,900 | 28,800
U 28 H &Il BE1 | 24300 00 [ — — | 24300 | 23300 | 24,300 | 23,300 | 24300 00 [ — — | 24,300 [ 23300 | 24,300 | 23300
aBiER U 28 B A Bl 00 00 | 20,400 [ 20,300 | 21,400 [ 21,300 | — — 00 00 | 20,400 [ 20,300 | 21,400 [ 21,300 | — ——
U 28 H &Il =Kl 00 00 | 25300 | 24,300 | 28300 | 27,300 | — — 00 00 | 25300 | 24,300 | 28300 | 27,300 | — —
EREE)=Ed [ERCRAE)HE| NU 28 B Bl BB 00 | 25300 [ — — | 28800 | 28700 | 24,200 | 24,100 00 | 25300 [ — — | 28800 | 28700 | 24,200 | 24,100
Bt U 28 B A =Kl 00 | 21,800 | 21,900 | 21,800 | 23,600 00 [ — — 00 | 21,800 | 21,900 | 21,800 | 23,600 00 [ — —
KB (BF8) =H1E | ABREEFE)F| NU 28H AT =kl 00 | 20800 | — — | 20,300 00 | 20,300 [ 19,800 00 | 20800 | — — 20,300 00 | 20300 [ 19,800
aiE% U | 28H 31 B AT 00 00 | 21,300 [ 20,800 | 24,300 00 [ — — 00 00 | 21,300 [ 20,800 | 24,300 00 [ — -
A= (IR ER) INAFE u 28H AT =kl 00 00 [ — — 00 000 | 20,000 | 16,000 00 000 | — — 00 000 | 20,000 | 16,000
PR GBE) | NU | 28H 1 =Kl 000 000 | 23,000 | 19,000 000 000 [ — — 000 000 | 23,000 | 19,000 000 000 | — -
BEE (PE) = (B0 |85 E (P& R[N B AT B AT 00 00 [ — — [ 20700 00 | 20,700 | 20,200 00 00 [ — — [ 20,700 00 | 20,700 | 20,200
Bl Bl 00 00 | — ——— 20,700 | 20,200 | 20,700 | 20,200 00 00 | — —— 20,700 | 20,200 | 20,700 | 20,200
B AT B A1 00 00 00 100 300 | 18,800 300 | 18,800 00 00 00 100 300 | 18,800 300 | 18,800
B AT B&1 | 16,400 00 00 100 300 | 17,800 300 | 17.800 | 16,400 00 00 100 300 | 17,800 300 | 17,800
EEACEAHES I =k H#il | 17,400 00 00 700 700 00 000 | 21500 | 17,400 00 00 700 700 00 000 [ 21,500
Bl Ll 00 00 00 200 00 400 | — - 00 00 00 200 00 400 | —
B AT Ll 00 | 21,200 200 700 00 400 | 24000 | — 00 | 21,200 200 700 00 400 | 24,000
B Al Ll 700 | 21,200 200 700 00 400 | 24000 | — 700 | 21,200 200 700 00 400 | 24000 | —
il LLy = e (AR #R) S B &L =k 400 | 20400 | — — 00 400 | 18,400 | 17.400 400 | 20400 | — — 00 400 | 18,400 | 17.400
SPGB 5 B AT =Kl 400 | 17,400 | 18,400 | 17,400 00 | 20400 | — — 400 | 17400 | 18,400 | 17,400 00 | 20400 | — ——
(FRER)=H1E | h#E(EH) F|_NU601 | 28HAEI H#i | 8600 | 8200 | 8600 | 8200 | 8600 | 8200 | 8600 | 8200 | 8600 | 8200 | 8600 | 8200 | 8600 | 8200 | 8600 | 8200
=Kl BT | 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400
=Kl BT | 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400 | 12,800 | 12,400
B AT Bl 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
B AT Bl 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
=kl Bl 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
=Kl Bl 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
=kl Bl 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
B AT Bl 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
aBiER B AT =Kl 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
B AT Bl 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
B AT Bl 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00 00
B AT Bl 00 00 00 400 00 400 00 400 00 00 00 400 00 400 00 400
B AT Bl 00 00 00 400 00 400 00 400 00 00 00 400 00 400 00 400
B AT Bl 00 400 00 00 00 00 00 00 00 400 00 00 00 00 00 00
B AT Bl 00 400 00 00 00 00 00 00 00 400 00 00 00 00 00 00
Bl Bl 00 400 00 400 00 400 00 400 00 400 00 400 00 400 00 400
B AT BAT | 8600 | 8200 | 8600 | 8200 | 8600 | 8200 | 8600 | 8200 | 8600 | 8200 | 8600 | 8200 | 8600 | 8200 | 8600 | 8200
RGRER) =Eh [ AREE) R B &L =k 00 000 00 000 00 000 00 000 00 000 00 000 00 000 00 000
=Kl Bl 00 000 00 000 00 000 00 000 00 000 00 000 00 000 00 000
=kl Bl 00 000 00 000 00 000 00 000 00 000 00 000 00 000 00 000
=kl Bl 00 000 00 000 00 000 00 000 00 000 00 000 00 000 00 000
=kl BAl | 7400 | 7,200 | 7,400 | 7,200 | 7,400 | 7,00 | 7,400 | 7.200 | 7400 | 7200 | 7400 | 7200 | 7400 | 7200 | 7400 | 7,200
=kl BAl | 7400 | 7,200 | 7,400 | 7,200 | 7,400 | 7,200 | 7.400 | 7.200 | 7400 | 7200 | 7400 | 7200 | 7400 | 7,200 | 7400 | 7,200
=kl BAl | 7400 | 7,200 | 7,400 | 7,200 | 7,400 | 7,200 | 7.400 | 7.200 | 7400 | 7200 | 7400 | 7200 | 7400 | 7,200 | 7400 | 7,200
=kl BAl | 7400 | 7,200 | 7,400 | 7,200 | 7,400 | 7,200 | 7.400 | 7.200 | 7400 | 7200 | 7400 | 7200 | 7400 | 7,200 | 7,400 | 7,200
B3 =kl BT | 11,200 [ 11,000 [ 11,200 [ 11,000 [ 11,200 [ 11,000 [ 11,200 | 11,000 [ 11,200 | 11,000 | 11,200 | 11,000 [ 11,200 | 11,000 | 11,200 | 11,000
=kl Bl | 11,200 | 11,000 | 11,200 | 11,000 | 11,200 | 11,000 | 11,200 | 11,000 | 11,200 | 11,000 | 11,200 | 11,000 | 11,200 | 11,000 | 11,200 | 11,000
=kl BAl | 7400 | 7,200 | 7,400 | 7,200 | 7,400 | 7,00 | 7,400 | 7.200 | 7400 | 7200 | 7400 | 7200 | 7400 | 7200 | 7400 | 7,200
=Kl BAl | 7400 | 7,200 | 7,400 | 7,200 | 7,400 | 7,200 | 7.400 | 7.200 | 7400 | 7200 | 7400 | 7200 | 7400 | 7200 | 7400 | 7,200
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400 900 900 900 400 900 900 900
400 900 900 900 400 900 900 900
BERB=#ZE .000 1400 1400 1400 .000 400 400 400
000 400 400 400 000 400 400 400
000 400 400 400 000 400 400 400
000 400 400 400 000 400 400 400
BERB=KEH 1400 500 500 500 1400 500 500 500
400 4,500 4,500 4,500 400 4,500 4,500 4,500
BEXB=5% 300 7,100 7,100 7,100 300 7,100 7,100 7,100
300 7,100 7,100 7,100 300 7,100 7,100 7,100

HKRE=5H 6.700 8400 — 8400 — 8400 6.700 8400 — 8.400 — 8400 —

288 55 6.700 — 8400 — 8400 — 8400 — 6.700 — 8400 — 8400 — 8400 —




r2—/\ 9H1 12H.17~19H,24~30
EEEHA 2013/4/25  ~

9/2-8 9/9-12,17-19,24-30 9/1

XA iE: . EEY . EEH EE

WMAKIR| EF 5% % EEE | gom %% EE

R CRE) =Xk () EEACEES JL101 61% 8,700 61% 8,700
JL103 58% 9,500 58% 9500
JL107 56% ,000 56% 0,000
JL 52% .900 52% 0,900
JL 56% ,000 56% 0,000
JL 56% | A% £:10,900 ,000 56% 0,000
JL117 56% ,000 56% 0,000
JL119 60% 9,000 60% 9.000
JL121 52% ,900 52% 0,900
JL125 52% .900 52% 0,900
JL127 52% .00 ,900 52% 0,900
JL131 52% 000, .900 .900 52% 000, 90! 1,900
JL133 52% 0! 900 ,900 52% 000, 90! 1,900
JL137 52% ,000, H:11.900 .900 52% 000, H:11.90 1,900
JL139 52% 00, B:11,900 ,900 52 000, H:11,90 1,900
KB () % JL102 53 001 .500 53 ,000
JL104 2% .00 ,900 52 ,000
JL106 7 .00 .900 47 ,000
JLT10 7% .00 ,900 47% ,000
JL 6 ,000 56% ,000
JL 56% ,000 56% ,000
JL 0% .000 60% 500
JL 0% .000 60% 500
JL120 0% .000 60% 500
JL124 0% .000 60% 500
JL126 0% .000 60% 11.400
JL128 0% :11,400 000 60% 1400
JL130 52% |4:12,400, H:11.900 ,900 52% . B:11,900 900
JL134 52% | 2:12,400, H:11,900 ,900 52% . B:11,900 900
JL138 52% |£:12,400, H:11.900 ,900 52% . B:11,900 900
HR CRIE) =X (A7) EEACEES JLIT77 53% 501 53% 10,500
JL189 52% | A#:12.400. H:11,900 .90 52% | K#:12400. H:11,900 11,900
KR (BAEE) JL172 47% _[H:10,900 901 47% | H:10,900 10,900
JL186 45% .40 45% 12,400
RBRCAE) =R FFTR) | RRPD R JL501 70%  [£:13,400, £:14,100 .00 70% |[#:11,700, £:13,100 10,000
JL503 55% | £:17.60 .50 63% 16.200
JL3931 54% 7,601 80 62% |4 16,200
JL505 54% 7.601 .80 62% 16.200
JL507 50% | 4:+:20,400, H:15300 570 53% |4 80 16,800
JL509 50% 0,400, H:15.300 5,701 53% .80 16.800
JL511 50% | 4:+:20,400, H:15300 .70 53% |4 80 16,800
JL513 54% 7.101 .80 62% .30 16.200
JL515 56% 3 7.20! .50 3% 3 16,700
JL517 56% 7.201 .50 3% 16.200
JL519 56% |2:15.50 50 3% 16,200
JL521 56% |£:15.500 .50 3% 16.200
JL523 56% |£:17.900 50 3% 2,400 16,200
JL525 56% | A:15,400. %:17.901 .50 3% 2,400 16.200
JL3937 56% | A:15,400, %:17.90 90 1% 117,400, £:12,400. H:12.500 16,400
JL527 56% A 90! 90! 1% £:17.400, £:12.400, H:12,500 16.400
JL529 54% A 800, 14,700, H:15,300 4,80 56% 3,300, H:13.801 16,400
JL531 56% .30 60% £:12,400, H:12.80 16.200
ALIE (FTF %) % [__JL500 54% 801 59% 16,200
JL502 52 4,70 56% 16.200
JL504 52% : 4,70 56% 16,200
JL506 56% |A: 30 60% 16.200
JL3932 56% | & 50 6 16,400
JL508 56% |H: .50 3.200 17.200
JL510 56% |H: 50 4,000 8,800
JL5 56% |£::15.300, £:15.000, H:16.900 00 4,900 8700
JL5 54% |2:15,800, H:20.501 30 60% 500 0,600
JL5 54% | 2:15,800. H:20.501 .30 60% . 500 600
JL5 53% |£:16,200. } 1,500 80 59% 800, 500 600
JL520 53% |£:16.200. .30 1,500 .80 59% 800, 500 600
JL522 53% |£:16,200 .30 500 80 59% 800, 500 600
JL524 53% |£:16.200. .30 500 .80 59% 800, 500 600
JL526 56% % 80 600 50 3% 600 500
JL3938 56% | & .80 600 .50 3% 600 0,500
JL528 56% |%: 60 50 3% 7,600 19,500
JL530 56% | & .20 .50 3% 4.200 17.800
HERCPIR) =1&fE EEACEEES JL301 68% |3 801 68% 11,800
JL303 68% A 80! 68% A& 11,800
JL305 61% | AZ:15. :14,000 4,30 61% | A%:15,200, H:14.000 14,000
JL307 61% |4 114,000 4,30 61% |A<:15.200, H:14.000 14,000
JL309 56% | A% :15,200, H:14.000 .20 56% | A%:17.100, :15.200, H:14,000 14,000
JL311 59% A :14,000 20/ 59% | A£:16,200. H:14.000 14,000
JL313 62% | 4,00 62% | A% t:15.200 14,000
JL315 62% 4 4,00 62 00 14,000
JL317 62% 4 4,00 62% 300 14,000
JL319 62% | & 4,00 62 4,30 14,000
JL321 68% |2 H:14.000 80 68% :14,000 14,000
JL323 68% |2:14,000. H:14.300 80! 68% 214,000, H:14,300 14,300
JL325 68% |2 H:14.300 80 68% 300 14,300
JL329 68% | A:14.300, %:18.100, H:15.200 .80 68% | A:14.300, £:18,100, H:15.200 15.200
JL331 68% | A:14,300, %:18,100, H:15.200 80 68% | A:14,300, :18,100, H:15.200 15,200
JL333 68% | A:14.300, %:18.100. H:16.200 .80 68% 300, £:18,100, H:16.200 16.200
JL335 62% | AH:16.200, £:20,000. £:11,800 4,00 62% :16,200, %:20,000, £:11,800 16,200
EEEES JL300 68% |&1:14.000 1,80 68% 000 11,800
JL302 68% |2 +:14,000 1,80 68% 000 11,800
JL304 68% |2 £:14.000 1.80 68% 000 11.800
JL306 61% | AZ:15200. H:11,800 4,30 61% :15,200, H:11.800 11,800
JL31 61% | A%:15.200, £ H:14.000 4,30 61% 5.200, £ H:14,000 14,000
JL31 68% 4,000, £:14,300 80 68% 4,000, £:14,300 14,000
JL31 68% |% .+ H:14,000 .80 68% | &t H:14,000 14,000
JL31 68% |2 +:14,000. H:14,300 80 68% |2 +:14,000, H:14,300 14,300
JL31 68% | +:14,000, H:14,300 .80 68% |2 +:14,000. H:14,300 14,300
JL32 s |2:14,300, H:16.200 4,00 62% |£:14.300, H:16.200 16,200
JL322 4115200, £:14,000, H:16.200 4,30 61 2:15.200, £:14,000. H:16.200 16.200
JL324 h | %:15,200, £:14,000, H:16,200 4,30 61% [#:15.200, £:14,000, H:16.200 16,200
JL326 0% |4 H:16.200, £:14.000 4,70 60% > 6:16,200, 1:14.000 16.200
JL328 0% _|#:17,100, +:14,000, H:16.200 4,70 60% [#:17.100, +:14,000, H:16.200 16,200
JL330 62% |2:17,100. H:16.200 4,00 62% |2:17.100, H:16.200 16.200
JL332 68% | 2:16,200, H:15.200 1,80 68% |2:16,200, H:15.200 15,200
JL334 68% |% H:14.300 1.80 68% | & H:14.300 14,300
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B ®a EEE i EAE i EEE
FR CRIE) =8 (R H) EEACEES JL90T ,000 000 .90 0,600
JL903 200 600, H:18,000 500 .900. H:16.900 200
JL905 200 1600, H:18,000 500 .900, H:16,900 200
JL907 900 000, H:18,000 500 .900, H:17.600 200
JL909 000 500 7,600 600
JL913 000 500 7,600 600
JL3943 18,000 500 7,600 600
JL915 18,000 7.000 . B:17.600 800
JLo17 18,000 7.000 : . B:17,600 800
JL919 18,000 7.000 58% 218,000, H:17.600 800
JL3945 16,000 4,900 63% 7,800
JL923 16,000 ’ 4,900 63% 7,800
JL925 18,000 56% |£::22,200, H:20.300 7.600 57% | £:22.200. H:17.500 0,300
JL927 18,000 56% |4::22,200, H:20.300 7,600 57% | £:22,000, H:17.500 0.300
B () % JL900 18,000 56% 00 59% 19,400
JL902 16,000 61% 4,900 63% 17.400
JL906 16,000 61% 4,900 63% 7,400
JL3942 18,100 56% [H:19,500 00 56% 0,700
JL910 18,100 56% 500 00 56% 0,700
JL 18,100 56% 500 00 56% 700
JL 18,400 55% 200 00 56% 900 600
JL 18,400 55% 200 00 56% 900 600
JL3944 18,400 55% 200 00 56% 900 600
JLO18 18,400 55% 200 00 56% 900 600
JL920 19,400 52% |H:22,200 40 55% 600
JL922 19,400 52% |H:22,200 40 55% 600
JL924 18,000 56% |H:21,300 7,50 57% 100
JL928 100 56% [H:19,500 00 56% 0,700
KR (BFH =R EFFR) | AREFFHFE [ _JL2001 100 51% |2 1:22,900 00 61% 0,100
JL2007 7.600 57% |4 £:20400 50 67% 7,600
JL2019 18,200 56% |£::20,900, £:20.000 4,20 66% 8,200
AL (FF %) % [_JL2000 17,300 58% 301 68% 0,000
| JL2006 16,300 61% |H: .30 75% | H:12.200 000
JL2016 20,100 51% |H: .00 61% | H:18.800 ,900
KR (BEE) =#LIR B Fm) | AWR(EE) % [ _JL2501 18,200 56% 4,20 66% 7,000 18,200
JL2505 18,200 56% 4,20 66% 7,000 18,200
JL2507 14,300 65% 301 75% 2,100 300
JL2511 15,300 63% .30/ 73% 112,100, £:11.600 300
ALOR (B F%) % [_JL2502 | 551 16,300 61% 301 75% | H:12,200 ,000
JL2512 16.300 61% 0! 70% 000 600
JL2514 18,200 56% 4,20 66% 7,000 600
JL2518 18,700 55% 4,70 64 17.000 600
KR (1) =186 K (P % [ _JL2051 9,500 57% 9,500 57 9,500
JL2053 9,500 57 9,500 57 9,500
[ JL2055 9,500 57% 9,500 57 9,500
JL2057 10,900 50 10,900 50% 10,900
JL2061 10900 50% 10,900 50% 10,900
1BRISE |_JL2050 ,500 57 500 57 .500
[ JL2052 9500 57% |2 1:10,900 500 57% |2+:10,900 500
JL2054 500 57 500 57 500
| JL2056 | 551 500 57% 500 57 500
JL2060 10,900 50 90 50% 10,900
KR (1) =it (R E) KB (FFH % | JL2081 6.400 52% & ,900 4,90 56% | & ,800
BRI % | JL2088 7.500 49% | H:20,500 50 52% | A: ,900
2R =HL0% () EEEES JL35 2,200 57% |&1:24.100 0 64% | & 1200
JL35 7,600 6% & 600 0 68% | & 600
ALIR G F=R) % | JL 17,600 66% | H:22,600 0 68% |H: 17,600
JL 22,200 57% | H:24.100 0 64% | A: 24,100
RR(CPR) =5 RERGEE [_JL 17,700 57% |3 2,400 701 64% |3 7,700
JL1189 18,700 55% |4 £:23.400 70 62 2 £:20.400 8700
JL1191 17,800 57% |2:21,900, F:19.700, H:20,500 80 64% [£:18,900, £:19,100, H:17.500 500
ESCRIES JL1180 20,700 50% 70! 57 400
JL1188 | 18,700 55% 2,400 70 62% 400
JL1190 18,700 55% 7.900, H:23.400 70 62 400
FR (BE) =) RRCHE)FE | JL1103 | 17,900 55% | & 1:22500 90 57 7,900
JL1107 18,700 53 z £:22,500 70! 55% 8700
JL1113 16,800 57% | 2:17,500, H:20.600 4,30 64% |2:15,000, H:16,600 0,600
JLIT15 16.800 57 7,500, H:20.600 4,30 64 115,000, H:16,600 0,600
JIIES JL1100 18,200 54% | H:16.800 5,20 62% :15,300 6,800
JL1104 16.800 57 :20,600 4,30 64 :18,900 600
JLiT12 19,700 50% 21,600 7,70 55 0,400 600
JL1116 18,700 53% |2:19,700. H:21.600 6.70 58% |2:17.700. H:20,400 600
R CRE) =8I RR(GHE)E [ JL1145 18,700 52% |3 1,600 5,701 60% ,600 18,700
JL1147 16.800 57 7,800, H:19,700 3,80 65% |2 +:14,800. H:16.700 19,700
JL114 17,800 54% 700, H:19,700 801 59% 700, H:17.700 700
pgse JL114 17,800 5. ,700. H:16,800 30! 61% 3 ,200, B:14.300 .800
JL114 18,700 52% 200, H:21,600 .70 57% | H:19.600 1600
JL114 17.800 5 .200, H:19.700 .80 59% |%+:16.200, H:17.700 700
HERCPR) =%k RRCHE)$E |_JL1151 19,800 48% % 1:23,600 .80 56% | & 1:20,600 19,800
JL1153 18,800 51% |4 H:19.800, £:21,700 .80 59% |4 H:16.800, £:17.700 19,800
JL1155 | 18,800 51% % H:19.800, £:21,700 5,80 59% | AZ H:16,800, £:17,700 19,800
JL1157 19.800 48% | H:23.600 6.801 56% | H:20,600 23,600
LR JL1152_| 18,800 51% £:23,600, H:19.800 .80 59% |2 +:20,600. H:16.800 800
JL1154 19,800 48% [H:21,700 .80/ 56% | H:17.700 1700
JL1156 | 19,800 48% [H:21,700 801 56% | H:17,700 700
JL1158 19,800 48% _[H:23,600 0! 56% | H:20,600 600
FERCPIE) =t RECHE)E [_JLi61 15,700 50% |3 0,100, H:14,700 701 50% +:19.400. H:14,600 16,400
JL1165 16.200 48% £ +:19.200, H:18,100 20 48% | & 1:19,200, H:18.100 18,100
JL1167 14,700 53% |2:16,900. H:19.300 70 53% 116,500, H:18,900 300
R JL1162 17,100 46% 30 48% .100
Ji 15,700 50% | H:2040 70 50% | +:14,100, H:20,400 0,400
JL 15,300 51% 20,40 30 51% | +:14,100. H:20.400 400
HRCRE) =% RECHE)E [_JL1201 12,500 58% 00 501 58% 12,000
JL1203 16,000 47% 00/ 00 47% 14,000
JL1205 12,500 58% 00 50 58% 12,000
JL1207 14,000 53% 00 53% 14,000
JL1209 16,000 47% £ H:17,000 00 47% | ®H:17,000 17,000
JL1211 12,500 58% | H:14,000 50 58% | H:14.000 14,000
EHRE JL1200 13,500 55% 501 55% 13,500
JL1202 15,000 50% 00 50% 15,000
JL1204 13,500 55% 50 55% 13,500
JL1206 12,500 58% [£:12,000 50 58% | +:12.000 12,500
JL1208 16,000 47% | %:17,000, £:14,000 00 47% _[%:17,000, £:14,000 16,000
JL1210 12,500 58% [£:12,000 501 58% | +:12,000 12,500
B (PH) = FRCHE)$E |_JL1225 | 500 54 501 5. ,500
JL1227 500 54% 501 5 500
JL1229 ,500 54 ,501 5 ,500
ZR% JL1222 500 54% 501 5 500
JL1224 ,500 54 ,501 5 ,500
JL1226 500 54% 501 54% 500
RERCPE) =% HECHE) % [_JL1261 ,700 48 H:11,800 70i 48" H:11,800 ,800
JL1263 900 52% | +:13,900. H:12.300 90! 52% | +:13.900. H:12.300 800
JL1265 9,800 60% 9,800 60% 9,800
JL1267 12,000 51% | A% H:13,900 12,000 51% | A% H:13,900 13,900
RERE JL1260 12,900 48% |2 +:13400. H:11,900 12,900 48% | % +:13.400. H:11,900 11,900
JL1264 9,800 60% 9,800 60% 9.800
JL1266 11,800 52% _|2:12,900, 1:12,300, H:14,300 11,800 52% [£:12,900, +:12,300, H:14.300 14,300
JL1268 11,900 52% |£:14.800, £:11.800. H:13,800 11,900 52% | £:14.800, £:11,800, H:13.800 13,800
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P8 - e
B B2 \mawm| smm | D2 i mmy | B2 i EEE
R CPIR) =/ RRCRE) % [_JLi27 55 1,600 47% ,600 47% 11,400
JL1275 | 55 3,200 40% _[£:14000 200 40% | £:14.00 13,200
JL1279 | 55 0,500 52% [H:12,400 500 52% | H:12.40 12,400
JL1281 | 55 0,500 52 H:12,400 500 5% | H:12.40 12,400
JL1283 | 55 12,500 43% _|£:13,100, $:11,600, H:13,500 500 43% _|£:13,100, 1:11,600, H:13.500 500
JL1285 | 55 12,300 4 > H:13,500, £:10,500 300 44 2 H:13,500. £:10.500 500
INSFE JL1270 | 55 10,500 s [%:11,600, £:11,100 500 52% |2:11,600, £:11,100 500
JL1272 | 55 11,600 1600 47 600
JL1276 | 55 11,600 7% H:12,400 1600 47% _[H:12,400 12,400
JL1278 | 55 11,600 7% |£:12,500, H:13500 1600 47% | %:12,500. B:13500 13,500
JL1280 | 55 12,500 3% £ H:13500 500 43% & H:13,500 13,500
JL1282 | 55 11,800 6% 12,300, £:13.700 800 46% | A:12.300, £:13.700 11,800
R CRR) =@ RRCPE) % [_JLi6sl | 55 11,000 3% .000 63% 11,000
JL1683 | 55 11,900 0% ,900 60% 11,900
JL1685 | 55 9,800 7% 9,800 67% 9,800
JL1687 | 55 11,900 0% 11,900 60% 11,900
JL1689 | 55 13,300 56% | £:12,800 13,300 56% | £:12.800 13,300
FELLI5E JL1680 | 556 9,800 67% 9,800 67% 9,800
JL1682 | 55 12,800 57% | A K:12.400. B:11.900 12,800 57% | A X:12,400, H:11.900 11,900
JL1684 | 55 9,800 67% 9,800 67% 9,800
JL1688 | 55 500 58% |2 H:12800. £:11,900 501 58% | H:12,800, £:11.900 12,800
JL1690 | 55 800 57% |%:13.400 80 57% |%:13.400 12,800
HR(HAR) =58 RRCPE) % [ _JL1601 | 551 ,100 64% 101 64% 11,100
JL1603 | 55 300 54 B:11.900 .30/ 54 90! 11,900
[ JL1605 | 55 300 54% [H:11,900 4,30 54% 90! 11,900
| JL1607 | 55 800 58% [B:11,100 80 589 10 11,100
[ JL1609 | 55 800 58% [H:11,100 801 58% 101 11,100
JL 55 100 64% | 2:13,800. H:12.800 10! 64% 213,800, H:12.800 12,800
JL 55 800 58% |% H:13,800 801 58% |2 H:13,800 13,800
58% |4 H:13.800 .80 58% | & H:13.800 13,800
LB% 63% 401 63% 11,400
58% | H:11.400 80 58% | H:11.400 11,400
3 60! 62% 11,600
£:13,300, £:11,900 10 64 213,300, £:11,900 11,100
s |£:13,300, £:11,900 101 64% |2:13,300, £:11,900 11,100
4 H:13.800, £:12.800 90! 61 > H:13,800. 112,800 13,800
55% |Z:14,700, +:11,900 801 55% |2:14700, £:11,900 13,800
55% | %:14,700, £:11.900 80 55% | £:14.700, £:11.900 13,800
RR(FH) =LAF RR(FB) % 69% 701 69% 10,700
63 90! 63 12,900
72% 9,800 72% 9,800
57% [£:12,000 14,800 57% | £:12.900 14,800
WO FERR 72% 9,800 72% 800
64% | 1:12900 2,40 64% |2 £:12900 12,400
63% 2,90 63% 12,900
57% |4 H:15800, £:12,600 4.80 57% | % H:15.800, £:12.600 15.800
FR(HE)=HE RRCHE) 56% | & 1:14.400 3,801 56% | & +:14400 13,800
54 4,40 54 14,400
57% 3,50 57% 13,500
54% |4 H:17.300 4.40 54 2 H:17.300 16.300
51% |#H:17.300 40 51% |2 H:17,300 17,300
HESR 59 £1:13.900 .00 59% 2 1:13,900 13,000
54% |%+:16,400, B:14,100 4,50 54% |2 +:16,400, H:14,100 14,100
56% | H:14.700 .70 56% | H:14.700 14,700
51% |4 H:16.400 501 51% |2 H:16400 16,400
49% | H:16.900 .00 49% | & H:16.900 16.900
HRCPR) =& RR(FA) % 59% 001 59% 12,000
59 00/ 59% 12,000
59% 00! 59% 12,000
59 00/ 59% 12,000
59% 001 59% 12,000
59 00/ 59% 12,000
RS 3 701 4 10,700
40! 11,400
40! 11,400
40! 11,400
59% 001 59 12,000
59 00! 59% 12,000
FR(HE) =8k RR(HR)% 1% 401 61% 11,400
6% | & 1£:13.500 .00 56% |2 £:13500 13,000
7% 9,800 67%
1 400 1.40 61% | % H:12.400
0% 500 1,90 60% H:13,500
1 400, £:13,800 4,40 51% |2 H:15400, 800
TN 58% 500, H:11,300 2,50 58% 500, 1300
56% ,000, H:11,600 3,00 56% 000, 600
58% 3,500, H:11,100 2,50 58% 500, 1100
67% 9,800 67%
53% |%&+ H:14,900 4,00 53% £ 8:14.900
52% |4 H:15200, £:14,000 4,30 52% | % H:15.200, £:14.000
RRCPE) =24 RR(CPR)% 64% |£+:13.300 1,40 64% +:13.300
64% | £:13.300 1.40 64% |2 +:13300
69% 9,800 69%
64% | %:12,400. H:13.500 40! 64% 212400, H:13,500
58% |4 H:14.300 .30 58% H:14.300
PR 61% |[£1:13.300 401 61% 2 1:13.300
64% | +:12400 40 64% £:12.400
69% 9,800 69%
62% | %:15700, H:13,800 90! 62% 115,700, H:13,800
58% |%:15200, H:14.700 .30 58% 215200, H:14,700
FERCRIE) =t RR(CPR) % 64% |&+:12.400 40 64%
58% | H:11.400 .30 58% | A:
61% 40 61%
64% |2 +:12400. H:13,300 40/ 64% |2 +:12,400, H:13.300
69% 9,800 69%
55% |4 H:16.200, £:13,800 14,300 55% |4 H:16,200, £:13.800
PIIES 57% |H:11,400 13,800 57% | 8:11,400
69% 9,800 69%
61 301 401 61% 300 13,
61% .900, H:14.300 40/ 61% .900, H:14,300 14,300
61 1800, 11,900, H:14,300 401 61% 800, +:11,900, H:14,300 4,300
58% 1700, +:11,900, H:14,300 .30 58% 700, £:11,900, H:14.300 4,300
HRCPE) =dAM RRCPR) % 66% 301 66% 0,900
62% | £:14,700, H:12.400 80! 62% | £:14.700, H:12.400 400
65% 801 65% 00
62% 701 801 62% 4,700 00
62% 301 801 62% 3,300 800
JERMFE 68% 800, H:10.900 90! 68% 112,800, H:10,900 900
62% 90! 801 62% :11,900 1900
66% 40/ 66% 400
66% | %:14,300, H:13,300 40 66% |%:14,300, H:13,300 13,300
71% _|#:13,300, £:10,900, H:11.900 .80 71% | £:13.300, £:10,900, H:11.900 11,900




9H1 12H.17~19H,24~30
EEEHA 2013/4/25  ~
9/2-8 9/9-12,17-19,24-30 9/1
= . .
B ®a i i Eid i EEE
HRCPR)=X% BR(PE) R | JL1783 Bl 66% & +:14,700 X 66% |&+:14,700 ,000
JL1785 B 60% |&1:14.200 4, 60% |&+:14,200 ,300
JL1787 Bl 60% |&+:14,700 4, 60% |&+:14,700 ,300
JL1789 i 60% 4, 60% 200
JL1791 il 59% |+:12,800 4, 59% | +:12.800 14,700
JL1795 i 59% | +:12.800 4, 50% | +:12.800 14,700
K% JL1782 Bl 66% 2, 66% 12,000
JL1784 il 59% 4, 59% 14,700
JL1786 | 55B1 81 66% |2 H:14,700 66% 14,700
JL1790 66% H:14.700 I 66% 14,700
JL1792 59% 4200 4, 59% 14,700
JL17 Al 59% 3.900 4, 59% 14,700
HRCPR) =RI& RRCRE) % 63% 4, 63% 14,200
62% | £:15.70 4, 62% 5,700 14,700
3% % H:15,900. £:15.700 4, 3% |2 H:15,900, £:15700 15,900
3% 5,900, £:15.700 4, 3 5,900, £:15.700 15.900
4% |4 H:15,900, £:13,500 4, 4% | % H:15900, £:13,500 15,900
69% | H:15.900 I 69% | H:15.900 15.900
RIGHE 64% 4 64% 14,000
64% 4, 64 14,000
69% | H:14,900 2, 69% | H:14.900 14,900
% H:15.700 5. 1 2 H:15.700 15,700
s | H:15700 5, 1% | #H:15700 15700
415,600, £:14.700, H:15.200 4, 3 2:15,600, £:14,700. H:15.200 15.200
FR () EEACEEES o . 4% 13,300
4, 1 14,200
s | H:13,300 60% | H:13.300 13,300
0% | H:13.300 60% | H:13.300 13.300
7% | %:13,800 67% |£:13,800 12,000
7% |£:13,800, H:14.000 67% . B:14,000 14,000
65% |2 H:15200, £:12,000 65% 200, £:12,000 15,200
67% |£:14,000, H:13.800 67% . B:13.800 13,800
RAR 2% | H:12,000 62% 12,000
0% | H:12,000 60% 12,000
7% | %:12,400 67% . 12,000
7 400, H:14,000 67% ,400, H:14.000 14,000
65% 1400, H:14,000 65% |2:12,400, H:14,000 14,000
1 4,300 1 300 14,200
1% |#:14,700. £:14,300 1% |%:14700. £:14,300 14,200
7% | & H:14.700 7 4,700 14,700
HRCPR) =55 RR(FE) % EE X 7% 5,400 12,000
E 4, 60% 5.300 14,700
0% |3 4, 60% 5,100 14,700
62% 4 4, 62% 4,700 14,000
59% 5300, H:16,300 . 59% 5300, H:16,300 16,300
62 6,300, H:15.900 4, 62 116300, H:15,900 15,900
EEES 2% t:14,900 4, 62% |2 +:14,900 14,000
1 4, 61 14,200
2% 1400 4, 62% | H:14.400 14,400
62 100 4, 62 H:15.100 15.100
59% 200 5, 59% | +:14.200 15,100
62 300, H:14.400 4, 62% | £:16,300, H:14.400 14,400
RR(PB) =ERS RR(FB) % 69% 2, 69% 12,000
64% |2 +:15200. H:13.800 4, 64% |%+:15.200, H:13.800 13,800
60% £:16,000, H:14,100 60% |2 +:16,000, H:14,100 14,100
69% | :13,800, £ 1115200, H:14.300 69% | A:13.800, ££:15.200, H:14,300 14,300
69% |+:13,000, H:14.30 69% | +:13,000, H:14.300 14,300
7% | & H:14.900 67% | % H:14.900 14,900
4% |4 H:14,900. £:13300 64% | % H:14,900, £:13.300 14,900
4% | H:14.900, £:13.300 64% |2 H:14.900, £:13.300 14,900
BRER 69% 69% 12,000
67% |£:13,800, £:14.000 67% | £:13.800, £:14.000 12,800
67% |£:13,800, £:14,000 67% |£:13,800, £:14,000 12,800
69% |£:13.800, £:12.800. H:14.400 69% |£:13,800, £:12,800, H:14.400 14,400
64% | % H:14.900. £:14.300 o | % H:14,900, F:14.300 14,900
64% |£:14.900, £:14.100, H:15.200 4 2:14.900, +:14,100, H:15.200 15.200
64% |4 13,300 » |2 H:14,900, £:13,300 14,900
65% £:13,300 65 2 H:14,000, £:13,300 14,000
FR () =Xk () EEGTEES 53% 53% 10,500
53% 53% 10,500
KR (75 % 53% 53% 10,500
53 53% 10,500
RR(AE) =HIREFTFR) | REEBER 50% % 0,400, H:15,300 . 53% |2 +:20,400, H:12.800 16,800
5 :16.300, £:19,800, £:14,700, H:15.300 90! 56% | A:15.800. %:18,300, £:13.300, H:13,800 16.400
54% | A:16,300, £:19,800, £:14,700, H:15,300 .90 56% | A:15800, %:18,300, £:13.300, H:13,800 400
ARG FR) R 5. H:14,700 .80 59% | H:12,500 200
k415800, H:20,500 301 60% [#:14.300, +:12,800, H:18,500 600
415,800, H:20.500 .30 60% | £:14.300, £:12,800, H:18.500 600
RR(BE)=4HE(PE) | HRGEE) 101 12,100
3% 10 12,100
3% 101 12,100
AR (FE) 5 [ JL3 3% 101 12,100
3% 101 12,100
3% 10 12,100
FR () =18[E EEGTEES 59% | A#£:16.200, H:14,000 .20 59 A £:16,200, H:14,000 14,000
68% |4 H:14.300 .80 68% | % H:14.300 14,300
68% | A:14,300, £:18,100, H:15,200 80 68% | A:14.300, £:18,100, H:15.200 15,200
1BRISE 68% |&1:14.000 .80 68% 000 11,800
68% |2 +:14,000. H:14,300 80 68% 1000, H:14,300 14,300
68% |4 +:14,000, H:14,300 .80 68% 000, H:14.300 14,300
FR (R E) =i (B8 EEAGTEES 56% | H:18,500 X 59% :18,000, H:17,000 19,800
PHR GRTR) % 56% [H:19,500 .00/ 56% | H:18,700 20,700
KR (751 =EafE AR (FFH) % 54% + 5:18.900 901 62 :15,900 17,900
i 54 H:18,90¢ 90! 62 .900 17,900
KR (75 =FkE PNACESES 61% 601 801 61 600 12,600
62 80! 60! 62 800 13,800
6 801 60! 62 800 13,800
HER s 3,800, H:12,600 .80 61 z£:13,800. H:12.600 12,600
% 801 60! 62 :13,800 12,600
62% | £:13.80 .60 62% | £:13.800 12,600
KR () =1b&E KR (77 % 59 £:14,600, £:15500 .70 59% :14,600, 1:15,500 12,700
57% 000 10 57% 0! 13,100
60% 4,100, H:14,500 201 60% 100, H:14,500 14,500
60% 4,100, H:15.000 20/ 60% 100, H:15.000 15,000
57 4,100, H:15,000 101 57% 100, H:15,000 15,000
51% |4 H:16.900 .00 51% |% H:16.90 16.900
51% |%:17,400, H:16.900 5,00 51% :17.400, H:16.900 16,900
s 55% |&1:15.000 001 55% 2 1:15.000 14,000
51% |£:16,900, F:17.900 001 51% 116,900, £ 15,000
50% |% .+ H:15.900 .50 50% | %+ H:15.900 15,900
56% | 2:16,000, 000, H:15,500 60 56% +16,000. 000, H:15,500 15,500
56% |£:16,000. ,000, H:15,500 .60 56% 000, 000, H:15.500 15,500
54% | %:16,900, 500, H:16.400 10 54% +16,900. 500, H:16,400 16,400
54% |£:16,400. .000 .10 54% | £:16.400. .00 16,000




r2—/\ 9H1 12H.17~19H,24~30
EEEHA 2013/4/25  ~
9/2-8 9/9-12,17-19,24-30 9/1
X8 L EEH = EEH =
5= % ERE | o= w5 EERE
KR () =%i% KB (FFH % [ JL: 62%  [+:11.400 ,900 62% | +:11.400 0,900
JL 57 H:11.400 400 57% | H:11.400 1.400
JL 62% |2 H:11.900. +:12,400 .900 62 £ H:11,900, £:12.400 .900
JL: 54 :13.800, +:12.400. H:14,300 300 54% | £:13,800, £:12,400, H:14.300 300
HiRE JL 52% :13,300 800 52 H:13,30 ,300
JL: 62 2,400, H:13,300 ,900 62% | +:12.400. H:13.300 300
L2 62% 1,900, H:13,.800 ,900 62% +£:11,900. H:13,800 800
JL: 57 2800, £:10.900. H:13.800 400 57% |£:12,800, £:10,900, H:13.800 800
KR () =l KB (FFH % [ JL: 4% 500 44% 500
| L 7 ,000 47% 000
JL: 7% ,000 47 000
PAITES | JL2 7 000 47 ,000
L2 7% 000 47 000
JL: ,000 2 10,000
KR () =K% KB (FFH % [ JL: ) . B:11,900 1400 41% £ +:12,800, H:11.900 11,900
[ JL2 . B:11.500 .00 43% | &1:12.400, B:11,500 11.900
JL: 38% 90! 38% |3 800 12,800
K% | JL 43% . £:11,500 .00 43% > H:11,900, £:11.500 12,300
Ji 43% . £:11,500 .00 43% |2 H:11,900, £:11500 12,300
JL: 36% . £:11.400 .30 36% |% H:12,800, £:11.400 12,800
KR (1) =Ri& KB (FFH % [ JL: 53% 201 53% 3.100 12,200
JL 57% 00 10 57% £ H:11.800 11.800
JL 52% 301 5% |2 H:13,100 13,100
RIS JL! 52% 301 52% 12,300
JL 56% |2 H:12.30 .30 56% | % H:12,300 12,300
JL 56% |4 H:12.30 .30 56% | & H:12.300 12,300
KR (FFHF | _JL2 57% |[&+:1150 .00 57% |&+:11,500 10,000
| JL2 54% % +:12,100. B:11.800 .90 54 > +:12,100. H:11.800 11,800
57% | H:12.30 .00 57% |# H:12,300 12,300
REARSE | JL 57 .00 57 10,000
| JL2 49% | A+:12,000, £:12,200, B:12,300 .90 49% [ AF:12,000, £:12,200, H:12,300 12,300
JL: 49% 2,800, H:12,300 .90 49% | £:12,800, H:12.300 12,300
KR () == KB (FFH % [ _JL: 54% 2,400 .90 54% ) 10,900
JL: 43% £:15.200 .30 43% % +:15.200 13,300
JL: 46% . H:14,700 801 46% . B:14,700 14,700
JL: 6% .00 57 . B:14,700 14,700
EIGFE | JL2 7% 00 00 7% 1800, £:13,800 12,800
JL: 7% . B:13.300 .00 7 . £:13.800, H:13.300 13.300
JL: 2% 60! 42% 00 15,000
JL: 2% 60! 42 000 15,000
A EE (PR =ALIR G TR)| 25 E (hEp) % [_JL 53% 401 56% ,000 17,400
JL 5 90! 57% 200 17.700
JL o 901 57% ,200 17,700
JL 116,200, H:15,600 .30/ 70% . 1:12,300, H:14,600 15,600
JL 3 114,300, H:15,000 301 70% . £:11,900, H:14,000 15,000
ALIR (BT F ) 5 [ JL3 .40 69% 1,900, H:13.400 13.400
E 58% :16,600 70! 58% |2 6,600 600
JL 5 7,500, H:19.400 .50 56% |2 +:16,900. H:18,800 400
JL 51% |[A%:19,200, £:17.700. H:23,100 401 51% | AZ:18900, :17.700. H:23.100 100
JL 5 A #:18.200, £:16,700, H:22.100 .40 53% | A%:17.900, +:16,700, H:22.100 100
ARG TR) =%iE5! ALIR G FiR) % | JL: 50% 801 50% 10,800
JL: 49% .90 49% 10,900
JL: 49% 90! 49% 10,900
ESCRIES JL! 47% 401 47% 11,400
JL: 49% 901 49% 10,900
JL: 45% 80! 45% 11,800
AL (B F k) =RE AR (B F i) 5 | 55 51% .00 51% 12,000
JL2823 51% 00/ 5 12,000
JL2827 50% | H:13.300 00 51% |H:12.800 13,300
REF JL2822 5 £ +£:13.300 00 5 £ £:12.800 12,300
JL2826 ] 001 51% 12,000
JL2828 00/ 5 12,000
Fim=HI0% FFm) iR JL2871 | £:18,800, £:19.800. H:16.000 90| 43% [%:18.800, £:19.800, H:16.000 16,000
JL287 00! 49 15,000
ALOR (B F%) % [_JL2872 | 5,00 49% 15,000
JL287 H:19.800 6.901 43% | H:19.800 19.800
& =408 FrFm) (=3 JL2901 A:17,100, % +:17,500 5,601 45% | A:16.600, £ +:17,000 16,100
JL2903 :15.500, % £:17,100, H:14.000 410 50% | A:15,000, ££:16.600, H:13,500 14,000
JL2905 | 55 55% | A:13,600, %:14,600, + H:14.000 .20 57% | A:13.100, %:14,100, T H:13.500 14,000
JL2907 53% | AH:14.300. £:16,200 80! 55% |4 H:13,800, %:15.700 14,300
JL2909 57% | A:13,300, £:15,200, H:13,700 20 57% 4,700, H:13.200 13,700
ALIR (3T F8) % [ JL2900 55% .20 57% 12,700
JL2902 53% 801 55% 13,300
JL2904 55% 20/ 57% 12,700
JL2906 | 55 0% | £:14,600, H:16.400 701 52% :14,100, H:15,900 16,400
JL2910 9% | %:15500, £:13,600, H:16.600 4,10 50% 5,000, £:13,100. H:16.100 16.600
L& =R GHTm®) L&% JL3403 4% £ 1:18.200 601 4 6,700 16,600
ALIR (T ) % | JL3406 7 % +:15.900, H:16.700 .10 > 1:15,900, H:16,700 16,700
BE=1a [ JL3535 ] 201 16,200
JL3537 10! 17.100
weax JL3530 | 551 H:16.700 7.10 H:16.700 16,700
JL3534 6,20 16.200
136 == [ JL3627 75% 5,000 75! 5,000
JL3631 75% 5000 75% 5,000
JL3635 75% 5,000 75% 5,000
EEES JL3626 75% 5,000 75% 5,000
JL3628 75% 5,000 75% 5,000
JL3632 75% 5000 75% 5,000




[Z—s% =B 9H13 16H.20H~23
EEEHA 2013/4/25  ~
9/13 9/14 9/15 9/16 9/20 9/21 9/22 9/23
= B gl - - - = = - - -
BAMIR| EEHE EELHE EELE EELHE EELHE EELHE EELHE EELHE
RECHHE) =Kk () EEEREES JL101 55 B Al 8,700 8,700 8,700 8,700 8,700
JL103 | 5581 9500 9500 9500 9500 9500
JL107 | 55HA] 0,000 -— 0,000 0,000 0,000 -— 0,000
JL 551 Al 1.900 0,900 0,900 1.900 0,900
JL 550 Al 0,900 0,000 0,000 0,900 0,000
JL 551 Al 0,900 — 0,000 0,000 0,900 — 0,000
JL117 | 55H81 0,500 -— 0,000 0,000 0,500 -— 0,000
JL119 | 55881 0,500 — 9.000 9.000 0,500 — 9.000
JL121 | 55H8] 0,900 ,000 0,900 - 0,900 ,000 0,900
JL125 | 5581 ,900 ,000 0,900 — 0,900 ,000 0,900 —
JL127 | 55H81 1400 ,000 0,900 1400 ,000 0,900
JL131 | 5581 400 ,000 .900 400 ,000 1.900
JL133 | 55HA] 400 ,000 ,900 -— 400 ,000 1,900 -—
JL137 | 55H81 400 ,000 .900 — 400 ,000 1.900 —
JL139 | 55H7] 400 00 00 -— 400 00 1,900 —
RIR(FFHF |_JL102 | 55881 0,500 — ,000 ,000 0,500 — ,000 ,000
JL104 | 55HA] 0,900 ,000 ,000 0,900 ,000 ,000
JL106 | 5581 1.900 ,000 ,000 1,900 ,000 ,000
JL110 | 55H8] 1,900 ,000 ,000 1,900 ,000 ,000
JL 551 Al 0,000 ,000 ,000 0,000 ,000 ,000
JL 550 Al 0,000 -— ,000 ,000 0,000 -— ,000 ,000
JL 551 Al ,000 ,000 500 500 ,000 ,000 500 500
JL 55 BBl ,000 ,000 ,500 -— ,000 ,000 500 —
JL120 | 55H8] ,000 ,000 500 ,000 ,000 500
JL124 | 55HA] ,000 ,000 500 ,000 ,000 500
JL126 | 5581 0,500 ,000 1400 — 0,500 ,000 1,400 —
JL128 | 55HA] 0,500 ,000 1400 0,500 ,000 1,400
JL130 | 55HA1 400 10.900 .900 400 10.900 1.900
JL134 | 55H8] 400 10,900 ,900 -— 400 10,900 1,900 -—
JL138 | 55HA1 400 10.900 .900 — 400 10.900 1.900 —
RECPR)=AR(FEE) | RRCAEK |_JL177 | 5588 500 — 500 10,500 500 — 0,500 10,500
JL189 | 55HA] 400 10.900 1.900 — 2,400 10.900 1.900 —
KW (B#) % [_JL172 | 55H81 ,900 -— 0,900 10,900 1,900 -— 0,900 10,900
JL186 | 55HA1 400 12,400 400 — 2,400 12,400 400 —
RERCAE) =HREFFR) | RRPEFE |_JL501 | 5585 ,700 — ,000 ,000 1,700 — ,000 ,000
JL503 | 55HA] 600 — 500 500 7.600 — 500 500
JL3931 | 55881 7,600 800 800 7,600 800 800
JL505 | 55HA] 7.600 800 800 7.600 800 800
JL507 | 55HA] 9,500 -— 800 800 9,500 -— 800 800
JL509 | 55HA] 0.400 800 800 0.400 800 800
JL511 | 55H8] 0,400 800 0,400 800
JL513 | 5581 100 — 300 100 — 300
JL515 | 55HA1 .200 -— ,500 .200 — 500
JL517 | 5581 200 500 200 500
JL519 55 B A ,500 ,500 ,500 500
JL521 | 5581 500 500 — 500 500 —
JL523 55 B A 5,400 ,500 5,400 500
JL525 | 55HA] 7.400 500 7.400 500
JL3937 | 55881 7.400 500 -— 7.400 500 —
JL527 | 55HA] 7.400 500 7.400 500
JL529 | 55HA] 300 800 300 800
JL531 | 55HA] 300 800 300 800
FLIR (B FaR)F |__JL500 | 55HFT ,800 500 ,800 500
JL502 | 55HA] 700 500 .700 500
JL504 | 55HAI ,700 ,500 ,700 500
JL506 | 55HA1 300 500 300 500
JL3932 | 55881 000 500 000 500
JL508 | 55HA] 800 200 800 200
JL510 | 55HA] 800 000 800 000
JL5 551 Al 300 ,900 300 ,900
JL5 55 BBl ,300 ,500 ,300 500
JL5 551 Al 300 500 — 300 500 —
JLS 55 E A 700 800 500 700 800 500
JL520 | 55HA] 700 800 500 700 800 500
JL522 | 55HA] 700 800 500 -— 700 800 500 —
JL524 | 55HA] 700 800 500 700 800 500
JL526 55 B A ,700 ,500 ,500 ,700 500 500
JL3938 | 55H A1 700 500 600 .700 500 600
JL528 | 55HA] 700 500 7.600 700 500 7,600
JL530 | 55HA1 700 500 200 .700 500 200
FR (CHE) =18k EEACEES JL301 55 B Bl ,000 — ,000 ,000 -— ,000
JL303 | 55HA] 000 — 000 000 — 000
JL305 | 55HA] 5.200 000 5.200 000
JL307 | 55HA1 5.200 000 5.200 000
JL309 | 55HA] 7.100 -— 000 000 7.100 — 000 000
JL311 | 55HA] 6.200 000 000 6.200 000 000
JL313 | 55HA] 200 000 200 000
JL315 | 5581 300 — 000 300 — 000
JL317 | 55880 .300 -— 000 ,300 — ,000
JL319 | 5581 300 000 300 000
JL321 55 BBl ,300 .000 ,300 ,000
JL323 | 55HA1 300 300 — 300 300 —
JL325 | 55HA] 300 300 300 300
JL329 | 55HA] 0 200 0 200
JL331 55 BBl 0 ,200 -— 0 ,200 —
JL333 | 55HA] 0 200 — 0 200 —
JL335 55 B A ,000 ,200 ,000 ,200 —
EEEES JL300 | 55EAm .000 .000 .000 000 000
JL302 | 55HA] 000 000 000 000 000
JL304 | 55HA] 000 000 000 000 000
JL306 | 55HA] 200 000 200 000 000
JL310 | 55HA] 200 000 200 000 600
JL 55 Al 300 000 300 000 600
JL 551 Al 000 000 000 000 —
JL 55 Al 000 300 -— 000 300 -—
JL 551 Al 000 300 000 300
JL32 55 Al 300 200 300 200
JL322 | 55HA] 200 200 — 200 200 —
JL324 | 55HA] 5.200 000 200 5.200 000 200
JL326 | 55HA1 6.200 000 200 6.200 000 200
JL328 | 55HA] 7.100 000 200 -— 7.100 000 200 -—
JL330 | 55HA] 7.100 000 200 7.100 000 200
JL332 | 55HA] 7.100 000 5.200 7.100 000 5.200
JL334 | 55HA0 7.100 000 4,300 — 7.100 000 4,300 —




[Z—s% =B 9H13 16H.20H~23
EEEHA 2013/4/25  ~
9/13 9/14 9/15 9/16 9/20 9/21 9/22 9/23
B BE \mawmm| smm | s | sE@ | EEE | SEE | SEEA | S
FR CRIE) =8 (R H) RRCRE) % JL9O1 55 Al 7,900 6,900 6,900 7,900 6,900
JL903 | 55881 .900 7.600 7.600 900 7,600
JL905 | 55881 900 -— 7,600 7,600 900 — 7,600
JL907 | 55881 .900 — 7.600 7.600 900 — 7,600
JL909 | 55881 600 900 7.600 7.600 600 900 7,600
JL913 | 55881 600 .900 7.600 7.600 600 900 7,600
JL3943 | 55B 81 600 900 7,600 7,600 600 900 7,600
JL915 | 55881 000 600 7.600 7.600 000 600 7,600
JL917 | 55881 000 7,600 7,600 7.600 000 7,600 7,600
JL919 | 55881 000 7.600 7.600 7.600 000 7,600 7,600
JL3945 | 55B 81 ,000 4,900 5,000 5,000 000 7,600 5,000
JL923 | 55881 000 4,900 5,000 5,000 000 6,900 5000
JL925 | 55R81 200 7,600 7,600 7.600 200 7,600 7,600
JL927 | 55881 200 7.600 7.600 7.600 200 7,600 7,600
B () % JL900 | 55HAI ,900 ,900 ,900 7,300 ,900 ,900 ,900
JL902 | 55881 ,900 ,900 ,900 7.300 900 900 900
JL906 | 55R 81 900 900 900 7.300 900 900 900
JL3942 | 55H1 000 100 700 000 100 700
JL910 | 55881 ,000 100 700 000 100 700
JL 551 Al 000 100 700 000 100 700
JL 550 Al 400 500 900 400 500 900
JL 551 Al 400 500 .900 400 500 900
JL3944 | 55BB] 400 500 900 -— 400 500 900 —
JL918 | 55881 400 500 .900 400 500 900
JL920 | 55881 400 500 900 400 500 900
JL922 | 55881 400 400 .900 — 400 400 900 —
JL924 | 55881 7,500 7,500 400 -— 7,500 7,500 400 —
JL928 | 55881 000 8,100 700 — 000 8,100 700 —
KB (P =R GRF) | KBR(FEFHR [_JL200 55 B Al ,800 — ,000 6,000 ,800 — ,000 6,000
JL2007 | 55B 81 300 — 500 3,500 300 — 500 3500
JL201 550 Al 000 14,200 100 5100 000 14,200 100 5,100
ALOR (3 F#%) % |_JL2000 | 55E A1 ,300 — ,200 5,200 300 — 200 5,200
JL2006 | 55B 81 300 — 200 4,200 300 — 200 4,200
JL201 551 Al 000 16.000 800 — 000 16,000 800 —
KR (BE) =+ B Fm) | AR(BEE) % [ JL250 55 B Al 7,000 — 0 7,000 — 0
JL2505 | 55H 1 7.000 — 0 7,000 — 0
JL2507 | 55B 81 100 12,100 0 100 14,100 0
JL251 551 Al 100 11,600 100 100 13,600 100
ALIR (BT F ) % [_JL2502 | 55HAL ,300 — ,200 ,300 — 200
551 Al 300 14,100 100 300 14,100 100
5501 Al 200 15,100 7.000 200 15,100 7,000
551 Al 700 15.100 7.000 700 15,100 7,000
KB (51 =48R KBR (FFFD % | _JL2051 | 55870 ,000 — 0,000 ,000 -— 0,000
JL2053 | 55B 81 0,900 — 0,900 0,900 — 0,900
[ JL2055 | 55B81 0,900 10,900 0,900 0,900 10,900 0,900
JL2057 | 55B81 0,900 10.900 0,900 0,900 10,900 0,900
JL2061 | 55B 81 0,900 10,900 0,900 0,900 10,900 0,900
[HEES | JL2050 | 55EA1 0,000 — 0,000 0,000 — 0,000
[ JL2052 | 55B81 0,900 -— 0,900 0,900 — 0,900
JL2054 | 55B81 0,000 11.500 0,900 0,000 11,500 0,900
[ JL2056 | 55B181 0,900 11,900 1,900 0,900 11,900 1,900
JL2060 | 55B 1 0,900 10.900 0,900 0,900 10,900 0,900
KB (G =ih#8 (RER) KBR(FFD % | JL2081 | 5580 8,100 — ,200 8,100 -— ,200
BT K | JL2088 | 55E R 6.500 17.200 600 — 6,500 17.200 600
1ERE =HL0% (B F ) [HEES JL35 55 Al 0,200 — ,300 18,300 0,200 — 300
700 — 300 200 — 300
LIRGHTFR) R ,300 16,300 ,200 300 16,300 200
558 300 18,300 0,200 — 300 18,300 0,200
R CRE) =%i#&5] RERCAE % [ Ju 55 B Al 9,400 — 4,700 14,700 400 — 4,700
JL1189 | 55B1 0,400 — 5.700 15.700 0,400 — 5700
JL1191 | 55881 8,900 9,700 7,500 17,500 8900 9700 7,500
ESERIES JL1180 | 55HB 7.700 7.700 2,400 — 7.700 7,700 2,400
JL1188 | 55B 81 700 5700 0,400 -— 5700 5700 0,400
JL1190 | 55881 700 5,600 0,400 5700 5600 0,400
R CRE) =8I RERCPE) % [ JL1103 | 55870 500 — 6,900 1,500 -— 6,900
JL1107_| 55881 500 — 7.700 1,500 — 7,700
JLIT 550 Al 5000 6,600 5000 6,600
JLIT 551 Al 5,000 6,600 5000 6,600
JENIES JL110f 55 H Bl ,200 5,300 ,200 5,300
JL1104_| 5581 300 — 8,900 300 — 8,900
JLi112 | 55881 700 17,700 1,400 - 700 17,700 1,400
JL1116 | 55881 700 16.700 0,400 — 700 16.700 0,400
HA) =l HRCHER | JL1145 | 558 ,600 — 5,800 ,600 -— 5,800
JL1147_| 55881 800 14,800 6,700 800 14,800 6,700
JL114 550 Al 700 16,700 7.700 700 16.700 7,700
HEEFE JL114 55 H Al ,200 — 4,300 200 — 4,300
JL114 550 Al 700 0,500 700 0,500
JL114 55 A1 Al 200 0,500 200 0,500
RR(PE) % [ JL115 55 EL Al ,600 800 600 800
JL1153 | 55881 800 800 800 800
JL1155 | 55B 81 800 800 800 800
JL1157 | 55881 800 0,600 800 0,600
HILR JL1152 | 55H&1 ,600 6,800 ,600 6,800
JL1154 | 55881 800 7.700 800 7,700
JL1156 | 55EA0 ,800 7,700 -— ,800 7,700
JL1158 | 55B 81 800 0,600 — 800 0,600
HERCPIR) =g RRCRE) % [_JLi161 | 5581 400 .700 15,700 400 700
JL1165 | 55881 200 300 200 300
JL1 500 900 500 900
HEER JL1 ,300 ,300 300 ,300
JL1 700 500 700 500
JLi 300 0,500 300 0,500
HRCPR) =& RER(PE R [ JU 500 5,000 500 5,000
JL1 000 7,000 7,000 000 7,000
JL1 500 500 500 500
JL1 000 000 000 000
JL1 7,000 000 7,000 000
JL1 500 500 — 500 500
BEHRRE JL1 500 500 14,500 500 500
JLi 000 000 16,000 000 000
JL1 500 500 — 500 500
JLi 500 500 500 500
JL1 7,000 000 7,000 000
JLi 500 500 500 500
FRCHA)= RR(CPE) R [ JL1225 | Bl 500 500 ,500 500
JLi 500 000 500 000
JL1 500 500 500 500
ZIR% JL1 ,500 500 500 500
JL1 500 000 500 000
JLi 500 500 500 500
FR(HE) =MA RER(PE R [ JU 558 ,700 ,300 ,700 ,300
JL1263 | 55B81 .900 300 900 300
JL1265 | 55B 81 800 400 800 400
JL1267 | 55B81 ,900 900 — 900 900 —
PEES JL1260 | 55H&T 400 — 700 12,700 400 — 700
JL1264 | 55881 300 12,700 700 — 300 12,700 700
JL1266 | 55B 81 900 12,700 300 900 12,700 300
JL1268 | 55B 81 800 11.700 800 — 800 11,700 800 —
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R CHHE) =/M2 RREE)FE | _JL127 55 B Al 2,100 — ,900 2,100 — ,900
JL1275 | 5581 3.200 — 200 3.200 — 200
JL1279 | 55881 0,500 1,600 400 0,500 1,600 400
JL1281 | 55E A1 500 0,500 400 0,500 0,500 400
JL1283 | 558081 100 0,500 500 3,100 0,500 500
JL1285 | 5581 500 0,500 500 — 3,500 0,500 500 —
INAFE JL127 55 B A ,600 ,500 10,500 1,600 500 10,500
JL1272 | 5581 600 600 11,600 1,600 600 11,600
JL1271 55 BBl 600 — 400 - 600 — 400 —
JL1278 | 5581 500 12,500 400 — 500 12,500 400 —
JL1280 | 55881 500 12,500 500 -— 500 12,500 500 -—
JL1282 | 5581 700 11.800 800 — 700 11.800 800 —
HERCPR) =@ RRCRE) % [_JLi681 | 55HA1 ,000 — 1,000 11,000 1,000 — 1,000
JL1683 | 55 A1 .900 1,900 11.900 1.900 1.900
JL1685 | 55E A1 9,800 1,000 - 1,300 1,000
JL1687 | 55EB1 | 12,300 3.300 — 2,300 3,300
JL1689 | 55H /1 | 12,300 3,300 2,300 3,300
[EITES JL1680 | 55H &I 9,800 0,900 0,900 0,900
JL1682 | 55H /1 | 12,800 900 2,800 900
JL1684 | 55 A1 9.800 .900 0.800 .900
JL1688 | 55 A1 800 800 2,800 800
JL1690 | 55 A1 800 800 2,800 800
HRCPR)=LE& RRCRE) % [_JLi6ol | 55HA1 .100 1,100 .100 1,100
JL1603 | 5581 300 1,900 300 1,900
JL1605 | 55E A1 300 1,900 300 1,900
JL1607 | 5581 800 — 1.100 800 — 1.100
JL1609 | 55B A1 800 -— 100 800 -— 100
JL1 551 Al 800 12,800 800 — 800 12,800 800
JL1 55 Al 800 12,800 800 -— 800 12,800 800 —
JL1 551 Al 800 12,800 800 — 800 12,800 800 —
LE% JL1 55 Al 1400 — 1400 11,400 1400 — 1400
JL1602 | 5581 800 — 0 800 — 0
JL1604 | 55E0 A1 800 2,100 0 800 2,100 0
JL1606 | 5581 300 1.900 0 300 1,900 0
JL1608 | 55E A1 300 1,900 100 300 1,900 100
JL1 551 Al 800 1.900 800 — 800 1,900 800 —
JL1 55 Al 700 1,900 800 -— 700 1,900 800 -—
JL1614 | 5581 .700 1.900 800 — .700 1,900 800 —
BR(RE) =WAFH HERCPE) R | JL1643 | 55870 ,700 — ,700 10,700 ,700 — ,700 10,700
JL1645 | 5581 ,900 12,900 ,900 12,900 ,900 12,900 ,900 12,900
JL1647 | 558081 900 12,900 900 - 900 12,900 900 -
JL164 551 Al 800 12,900 800 — 800 12,900 800 —
WO FERR JL164 55 B Al ,900 — 1400 ,900 — 400
JL164 551 Al ,900 400 ,900 400
JL164 55 BBl ,900 ,900 ,900 ,900
JL164 551 Al 800 800 — 800 800
HRCPH)=HE RRCRE) % [_JLi1663 | 55HA1 400 400 13,800 400 1400
JL1665 | 55E A1 400 500 14,400 400 500
JL1667 | 55EA0 ,500 ,500 — ,500 500
JL1669 | 55E A1 500 500 — 500 500
JL1671 | 55EA0 ,500 ,500 -— ,500 500
HER JL1662 | 55H &1 ,900 ,000 13,500 ,900 .000
JL1664 | 5581 400 500 400 500
JL1666 | 55E A1 700 400 700 400
JL1668 | 55EAI 700 ,400 700 400
JL1672 | 55881 700 400 700 400
FR(CHE) =5 HRCPE) R [ JL1431 | 55870 ,000 ,000 12,000 ,000 ,000
JL1433 | 5581 000 000 12,000 000 000
JL1435 | 55881 000 000 12,000 000 000
JL1437 | 5581 000 000 000 000
JL1439 | 55881 000 000 000 000
JL1443 | 55881 000 000 — 000 000
mER JL1 55 B Al ,700 ,700 0,700 700 ,700
JL1 551 Al 1,400 1.400 1.400 1.400 1,400
JL1 55 Al 1,400 1,400 1,400 1,400 1,400
JL1 551 Al 1,400 1,400 3.400 1,400 1.400
JL144 55 BBl 1,400 1,400 - 1,400 1,400
JL144 551 Al 1,400 1,400 — 1.400 1.400
HRCPR) =&k FRCRE) % [ JL140 55 B Al 1400 1400 11,400 1400 1400
JL1405_| 5581 500 700 13,700 500 700
JL1407 | 55881 800 600 12,600 800 600
JL1409 | 5581 400 100 — 400 100 —
JL141 55 BBl ,500 ,500 -— ,500 500 -—
JL141 5518l 400 400 — 400 400 —
TN JL1402 | 55B 8 500 1,300 11,300 500 1,300 11,300
JL1404 | 5541 000 2,300 12,300 000 2.300 12,300
JL1406 | 55841 500 800 14,300 500 800 14,300
JL1408 | 55 A1 500 100 — 500 100 —
JL1410_| 55841 500 100 500 100
JL1414 | 55E 40 500 100 500 100
FR (H HRCPE) % | JL1483 | 55H@0 ,300 1400 ,300 1400
JL1487 | 5581 300 1400 300 1400
JL1489 | 55HA0 ,400 ,500 ,400 500
JL1491 | 55881 400 500 400 500
JL1493 | 55881 400 300 400 300
EEES JL1482 | 55HET ,300 ,400 ,300 400
JL1484 | 558081 400 1400 400 1400
JL1486 | 5581 200 300 200 300
JL1490 | 55881 200 800 200 800
JL1492 | 5581 200 800 200 800
FRCHE) =1L HRCPE) R [ _JLi461 | 55870 400 1400 400 1400
JL1463 | 55081 300 300 300 300
JL1465 | 55B 81 400 400 400 400
JL1467 | 55881 400 300 400 300
JL1469 | 55881 200 200 200 200
JL1471 | 5581 200 200 200 200
YIS JL1460 | 55B 81 800 - 400 800 -— 400
L1464 | 55HA1 200 — ,900 200 — ,900
L1466 | 55H A1 400 -— 300 400 — 300
JL1468 | 55E A1 400 13.300 300 400 13.300 300
JL1472_| 558081 800 13,300 700 -— 800 13,300 700 —
JL1476 | 55881 800 13,300 300 — 800 13.300 300 —
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B (PE) =3t Am EEACEES JL371 55 B Al ,300 12,300 ,300 12,300 ,300 12,300 ,300

JL373 | 55HA] .700 — 800 13.800 .700 — 800

JL375 | 55HA] 800 13,800 800 13,800 800 13,800 800

JL377 | 55HA1 .700 13.800 000 — .700 13.800 000

JL379 | 55HA] 800 13,800 800 800 13,800 800

JEAMFE JL370 | 55HB1 ,800 — ,800 ,800 — ,800

JL37. 55 BBl ,800 — ,800 ,800 — ,800

JL37 551 Al 400 800 400 800

JL37| 55 BBl .300 ,800 ,300 800

JL37 551 Al 300 800 300 800

HR(CHA) =K% HRCPE) % [ JL1783 | 55HAm .700 ,700 .700 ,700
JL1785 | 5581 200 300 200
JL1787 | 55HAI .700 -— .300 .700
JL1789 | 5581 200 — 200 200
JL1791 | 55881 1700 12,800 700 700
JL1795 | 5581 .700 12,800 700 .700
K5 | JL1782 | 55H A1 ,000 — ,000 ,000
JL1784 | 5581 .700 — .700 .700
JL1786 | 55HAI ,700 ,200 ,700 ,700
JL1790 | 55881 .700 200 .700 .700
JL1792 | 55HA0 ,700 ,200 ,700 ,700
JL1794 | 5581 .700 ,900 .700 .700
HRCPR) =RI& RRCRE) % [_JLis4l | 55HAT 200 — 200 200
JL1843 | 55H A1 .700 — 700 700
4 il 5,900 700 5,900 5,900
4 5,900 .700 5,900 5,900
4 900 500 900 900
000 000 ,900 000
RIGHE ,000 — ,300 ,000
000 — 000 000
000 5200 200 000
700 5.200 700 700
700 5.200 700 700
600 4,700 200 600
R P RRCRE) % ,300 — 200 300
200 — 200 200
700 -— 300 1700
.700 — 300 .700
800 700 000 800
800 700 000 800
200 200 200
700 .700 .700
BAR ,000 ,000 ,000
.700 ,000 .700
JL1 400 -— 400 400
JL1 400 200 000 400
JL1 400 700 ,000 400
JL1 200 300 200 200
JL1 700 300 200 — 700
JL1 [E] .700 000 .700 — .700
HRCHA) == HRCPE) % | JL1883 | 5580 5,400 — ,000 12,000 5,400
JL1885 | 55H A1 5.300 — .700 14,700 5.300
JL1887 | 55HAI 5,100 — ,700 5,100
JL1889 | 55H A1 4,700 14,700 700 4,700
JL1891 | 55881 200 15,300 300 200
JL1893 | 55 A1 300 14,000 200 300
EGES | JL1880 | 55EA( ,900 — ,000 4,000 ,900
JL1884 | 55H A1 200 — 200 4.200 200
JL1886 | 55E A1 000 700 5.200 5.200 000
JL1890 | 55H A1 000 .700 5.200 5.200 000
JL1892 | 558 A1 100 200 200 - 100
JL1896 | 55 A1 300 200 200 — 300
RRCAE) =ERS RRCRE) % [_JLis6l | 55HA1 ,000 ,000 ,000 ,000 ,000
JL1863 | 55 A1 200 — 200
JL1865 | 55EAI ,000 ,000
JL1867 | 55 A1 200 200
JL1871 | 55HAI ,000 ,000
JL1873 | 5581 ,900 ,900
JL1875 | 55HAI .900 ,900
JL1879 | 55 A1 ,900 ,900
BERER JL1864 | 55HAI ,000 ,000
JL1866 | 55 A1 800 800
JL1868 | 55HAI ,800 ,800
JL1870 | 55H A1 800 800
JL1872 | 55HAI .900 ,900
JL1874 | 55H A1 ,900 ,900
JL1876 | 55HAI 900 900
JL1878 | 55HBI 900 900
R () =X () R (FE) % [ _JL3005 | 55HA( 500 500
JL3007 | 55H 81 0,500 0,500
KB (FFFH % [ JL300: 55 BBl 0,500 0,500
JL3006 | 5581 0,500 0,500
B (RHE) =HRGTFR) | BREER |_JL304 55 B Al 0,400 0,400
JL304 55 B Al 300 300
JL304 55 BBl 300 300
FLIOE BT #%) % | JL304 55 BBl 800 800
JL304 55 BBl ,300 ,300
JL304 55E1 Al 300 500 — 300
BR(RE) =2HE (8 | BREE) R [_JL308! 55 B Al 0 — 0
| JL3085 | 55H A0 0 0
JL3087 | 55HAI 0 0
BEHE(PER)F | JL3082 | SSHBT 0 0
JL3084 | 55HAI 0 0
JL3086 | 55H &I ,100 — ,100
HR () =186 R (RE) % [ _JL3051 | 55HAM 200 4,000 200
JL3053 | 5581 300 4,300 300
JL3057 | 55HAI ,100 ,200 100
(RS | JL3052 | 55E A0 .000 .000 ,000
| _JL3054 | 55H7] 000 300 000
JL3056 | 5581 000 300 000
FR (R E) =8 (R E) B (FE) % | JL3095 | 55HAM ,000 7,000 ,000
Ch#B(FRFE)SE | JL3098 | 55HAN ,000 8,700 ,000
KB (FH1) =i KXBR(FFD % | JL2123 | 55870 5,500 — 4,700 5,500
BREEFE JL2124 | 5581 4,500 14,600 6,500 4,500
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KB (B =#E RBR(FFH % [_JL217 55 B Al ,800 — ,300 14,300 ,800 — ,300
JL2173 | 5581 600 12,600 800 — 600 12,600 800
JL2179 | 55881 600 12,600 800 -— 600 12,600 800
MER JL217; 55 B Al ,800 — ,800 12,800 ,800 — 800
JL2174 | 558081 800 15,200 800 - 800 15,200 800
JL2178 | 5581 800 15.200 800 — 800 15,200 800
KB () =1l& KBR (FFD % | _JL2201 | 558 @0 ,600 ,700 ,600 ,700
JL2203 | 55H 81 000 100 000 100
JL220 55 B A 0 ,500 0 500
JL2209 | 5581 0 000 0 000
JL: 55 B A 0 ,000 0 ,000
JL. 55 B il ,900 ,900 ,900 ,900
JL: 55 B A 7,400 ,900 7,400 ,900
(=¥ JL220 55 B il ,000 ,000 ,000 ,000
JL2202 | 55881 900 5,000 900 5,000
JL2204 | 55E 81 ,900 6.200 ,900 6,200
JL220 55 B Al ,000 ,500 ,000 500
JL2208 | 5581 000 500 000 500
JL221 55 Al 900 400 900 400
JL221 551 Al 400 000 400 000
KB (B =#iB KB (FFH % | JL224 55 B Al ,900 ,900 ,900 ,900
JL224 551 Al 2,400 2,400 2,400 2,400
JL2247 | 55HA0 1,900 ,900 1,900 ,900
JL2251 | 5581 4,300 300 4,300 300
R JL2240 | 55H A0 3,800 ,300 3,800 ,300
JL2244 | 5541 0,900 300 0,900 300
JL2248 | 55881 1,900 800 1,900 800
JL2250 | 5581 2,800 800 2,800 800
KR () =l RBR (FFFH % [_JL230 55 B Al 500 ,700 500 ,700
JL2305 | 5581 ,000 .200 ,000 200
JL230 55 B A ,000 ,200 ,000 ,200
PAITES JL230 55 B il ,000 ,200 ,000 ,200
JL230 55 B A ,000 ,700 ,000 ,700
JL231 551 Al 000 0.200 000 0,200
KB () =K% KB (FFH % |_JL236 55 BBl ,800 ,900 ,800 ,900
| JL2365 | 55HA1 800 .900 800 900
JL2367 | 55881 800 800 800 800
RRFE | JL2362 | 55E I ,300 ,300 ,300 ,300
| JL2366 | 55HA1 300 300 300 300
JL2368 | 55 A1 800 800 800 800
KB (1) =R KBR(FFD % | JL2371 | 55870 ,200 ,200 ,200 ,200
JL2375 | 5581 800 800 800 800 —
JL2377 | 55HAI ,100 ,200 ,100 ,200 —
RIGH JL2372 | 55HB1 ,300 ,300 ,300 ,300
JL2374 | 55881 300 300 300 300
JL2378 | 5581 300 300 300 300
KR (1) =fe A KB (P % | _JL2383 | 55HA0 500 ,700 500 .700
| JL2385 | 55HA1 100 800 100 800
JL2389 | 55B A0 300 300 300 300
233 | JL2382 | 55EI 400 400 400 400
| JL2386 | 55HA1 200 300 200 300
JL2392 | 55H 81 800 800 800 800
KB () == KB (FFH % [ JL: 55 B Bl ,900 ,900 ,900 ,900
JL 551 Al 5.200 — 300 13.300 5.200 — 300
JL244 55 Al 200 12,800 700 200 12,800 700
JL244 55E1 Al 200 12,800 .700 200 12,800 700
EHEES JL243f 55 B Al ,800 — ,800 800 -— ,800
JL2432 | 5581 800 — 800 800 — 800
| JL2438 | 55H7] 000 13,600 000 000 13,600 000
JL2442 | 5581 000 13,600 000 000 13,600 000
EZEE (P =ALIR G T®)| B5E (P& % [_JL3103 | 558 ,000 — 500 ,000 -— 500
JL3105 | 55881 200 — 400 200 — 400
JL3107 | 55881 200 — 400 200 — 400
JL3115_| 5581 600 000 500 600 000 500
JL3117 | 55881 300 100 100 300 100 100
FLOE (B F %) % |_JL310 55 BBl ,900 ,000 ,000 ,900 ,000 ,000
JL3106 | 55881 600 600 500 600 600 500
JL 551 Al ,900 800 .700 ,900 800 700
JL 55 Al 900 9,500 25,200 900 9,500 25,200
JL 551 Al .900 8,500 4,200 .900 8500 4,200
AR B F %) =% R ARG TR % |_JL27 55 B Al 0,800 0,800 0,800 0,800 0,800 0,800 0,800
JL27 55 BBl 0,900 0,900 0,900 0,900 0,900 0,900 0,900
JL27 550 Al 0,900 0,900 0,900 0,900 0,900 0,900 0,900
ES e JL27 55 B Al 1.400 1.400 1.400 1,400 1.400 1,400 1,400
JL27 0,900 0,900 0,900 0,900 0,900 0,900 0,900
JL 800 800 800 800 800 800 800
IR G TR =B LIRGHT TR R ,000 ,000 ,000 ,000 ,000 ,000
000 000 000 000 000 000
000 000 800 -— 000 800
MER JL2822 | 55HB ,800 — ,000 ,800 000
JL2826 | 55B A1 000 12,000 000 ,000 000
JL2828 | 55H A1 000 12,000 ,000 000 000
FR=HIRGHFR) wRR JL2871 | 55HAI ,800 — ,000 ,800 ,000
5| 55881 000 15.000 000 000 000
LIRGH TR R 55 Al 5,000 — ,000 5,000 ,000
551 Al 6.900 15,600 800 6.900 800
& =4L0% G F %) (xS 55 B Al 7,000 — ,000 7,000 ,000
55H Al 600 — 500 600 500
55 Al 100 14,000 500 100 500
55 B Al 700 ,100 700 ,100
55 B A ,700 ,200 — .700 ,200 —
FLIE BT %) % 55 BBl ,200 ,200 ,200 ,200
55 Al 800 800 800 800
551 Al 100 — 200 100 — 200
550 Al 700 14,100 900 700 14,100 900
551 Al 600 13.100 100 600 13,100 100
IRE=HI0R GRFi%) LE% 55 B Bl ,200 — ,600 ,200 -— 600
FLOE BT %) 5 55 BBl ,900 15,900 700 ,900 15,900 ,700
EE=1L5 [HEES 55 Al ,200 — ,600 ,200 — 600
551 Al .100 17.100 .100 .100 17.100 100
ax 55 B Al 7,100 17,100 6,700 — 7.100 17,100 6,700 —
551 Al 6.200 16.700 7.200 — 6.200 16.700 7,200 —
1B =55 [HEES 55 Al 5,000 5,000 5,000 5,000 5,000 5,000 5,000 5,000
JL3631 | 55 A1 5.000 5.000 5,000 5.000 5,000 5,000 5,000 5,000
JL3635 | 55H A1 5,000 5,000 5,000 5,000 5,000 5,000 5,000 5,000
RS JL3626 | 55HBI 5,000 5,000 5,000 5,000 5,000 5,000 5,000 5,000
JL3628 | 55E A1 5,000 5,000 5,000 5,000 5,000 5,000 5,000 5,000
JL3632_| 55BF1 5,000 5,000 5,000 5,000 5,000 5,000 5,000 5,000
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KBz (BE78) =48 (IRER) | ABR(BEFE)H | NU271 [ 55B A7 | 14,500 58% £:18,000 12,500 63% 17,000
NU275 | 55E @1 | 11,700 66% +:14,700 10,300 70% 1,500, +:12,700 13,200

NU279 | 558 | 11,700 66% 17,600, £:15,700, B:13,700 10,300 70% [%:14,100, £:13,200. B:12,300 16,200

B (FRER)FE |__NU270 | 55HAT | 11,700 66% | H:13,700 10,300 70% | H:11,500 16,200

NU274 | 55H&T | 11,700 66% | H:13,700 10,300 70% | H:11,500 16,200

NU278 | 55 @I | 14,500 58% :19,400 12,500 63% | H:17,400 21,900

1&RE =8 (&) RS NUO051 | 551 13,200 52% :14,100 13,200 52% £:14,100 13,200
NUO053 | 55 @1 | 13200 52% +:14,100 13,200 52% F:14,100 13,200

NU057 | 55E & | 12500 55% 14,100, £:13,400 12,500 55% 4,100, £:13,400 12,500

NUO61 | 55 @1 | 11,300 59% 13,200, £:11,700, B:12,700 11,300 59% 3,200, F:11,700, H:12,700 12,700

NU063 | 55E & | 11800 57% 11,800 57% 12,700

NUO65 | 55E @1 | 11,800 57% 11,800 57% 12,700

S8 (FRER)F |__NU050 | 55HAT | 11,300 59% 11,300 59% 11,300

NUO52 | 55E @1 | 12400 55% 12,400 55% 12,400

NU054 | 55E&] | 13200 52% 13,200 52% 14,100

NUO56 | 55 @1 | 13200 52% 13,200 52% 14,100

NU060 | 55E & | 13200 52% 13,200 52% 14,100

NUO62 | 55EH @I | 13200 52% 13,200 52% |2 H:14,100 14,100

HRCPA) =R WmCHE)% | _NU071 | 55881 | 26500 55% 25,700 57% |&1:28700 28,700
NUO73 | 55 @1 | 19,600 67% 19,200 68% | & 1:22.000 23,600

RIER NU070 | 55H&T | 19,200 68% | H:20,200 19,200 68% | H:20,200 22,900

NUO76 | 55E @I | 20,600 65% | H:23,500 20,100 66% | H:23,000 27,500

BROPA) =% HECHE)F | NU021 | 55HH1 25,200 55% |4 1:28,200 24,400 56% | & 1:27,400 27,400
BEa R NUO22 | 55H @1 | 22,100 60% | H:25,100 21,700 61% | H:24,700 25,600

KBz (B8 =F1E ABR (BAFE)% | NU0B3 | 55HAT | 19,200 60% |4 +:22,000 16,700 65% | & 1:19,500 21,200
RiE% NU086 | 55E @I | 20,200 58% | H:23,000 17,700 63% | H:20,500 25,000

BEE (D) =PRI | BEHE (FEB) F|_NU251 | 55HEI 20,100 48% :22,600 19,100 51% | & +:21,600 20,100
NU253 | 55E @1 | 20,100 48% :22,600 19,100 51% |2 1:21,600 20,100

NU255 | 55887 | 17.100 56% 16,100 58% 17,100

NU257 | 55E @1 | 16,100 58% 15,100 61% 16,100

B (FRER)F |_NU252 | 55HAT | 17,000 56% 16,000 59% 17,000

NU254 | 55E &1 | 20,000 48% 18,100, H:22,700 19,500 49% | +:17.600, B:22,200 22,700

NU256 | 55881 | 19.100 51% 20,600, 1:18,100, H:22,700 18,600 52% 0,100, F:17,600, H:22,200 22,700

NU258 | 55 @1 | 18,600 52% 20,600, 1:18,100, H:22,700 18,100 53% 0,100, F:17,600, H:22,200 22,700

B () =R1E SRR (IRER) F [ _NU601 | 55H R 7,800 66% 7,800 66% 7,800
NU605 | 55E @1 | 11,800 49% 11,800 49% 11,800

NU607 | 55E & | 11.800 49% 11,800 49% 11,800

NU609 | 55E Al 7,800 66% 7,800 66% 7,800

NU613 | 55B31 7,800 66% 7,800 66% 7,800

NU617_| 55B A1 7,800 66% 7,800 66% 7,800

RAC705 | 55881 7,800 66% 7,800 66% 7,800

NU621_| 55E Al 7,800 66% 7,800 66% 7,800

NU625 | 55B31 7,800 66% 7,800 66% 7,800

F3EE) NU600 | 55H &1 7,800 66% 7,800 66% 7,800

NU608 | 55B31 7,800 66% 7,800 66% 7,800

NU610_| 55B Al 7,800 66% 7,800 66% 7,800

NU612 | 55B31 7,800 66% 7,800 66% 7,800

NU614_| 55E Al 7,800 66% 7,800 66% 7,800

NU618 | 55E @] | 11800 49% 11,800 49% 11,800

NU622 | 55 @1 | 11,800 49% 11,800 49% 11,800

NU626 | 55E @] | 11800 49% 11,800 49% 11,800

RAC708 | 55B Al 7,800 66% 7,800 66% 7,800

E(RE) =Eh SPRB(IRER)F [ _NUS51 | S5EEIM 10,500 40% 10,500 40% 10,500
RAC801 | 558 A1 | 10,500 40% 10,500 40% 10,500

NU557 | 55E&] | 10500 40% 10,500 40% 10,500

NU559 | 55H@I1 | 10,500 40% 10,500 40% 10,500

NU565 | 55B 31 6,900 61% 6,900 61% 6,900

NU567 | 55E Al 6,900 61% 6,900 61% 6,900

NU571 | 55B31 6,900 61% 6,900 61% 6,900

NU573 | 55E A1 6,900 61% 6,900 61% 6,900

EhHE NU552 | 55E&] | 10500 40% 10,500 40% 10,500

NU556 | 55E Al 10,500 40% 10,500 40% 10,500

NU558 | 55E31 6,900 61% 6,900 61% 6,900

NU560 | 55E Al 6,900 61% 6,900 61% 6,900

NU564 | 55H&] | 10500 40% 10,500 40% 10,500

NU566 | 55E Al 10,500 40% 10,500 40% 10,500

NU572 | 55E&] | 10500 40% 10,500 40% 10,500

RAC804 | 55H Al 6,900 61% 6,900 61% 6,900

Eh=FH1 AiE S RAC834 | 55H A 5,000 58% 5000 58% 5000




o PA iy
[R—I\—% B IEER(OHA13H~16H,20H~23HEES) VTARAG
EEEAR 2013/4/25 _ ~
9/13 9/14 9/15 9/16 9/20 9/21 9/22 9/23
4 BE gl i i i i i i e
BAHR| EEHE BB BB BB BB BB BB BB
Kb (BdE) =#8 (B | KBR(BEAF@)F | NU271 | 558 16,000 — 14,100 14,100 16,000 — 14,100 14,100
NU275 | 5581 11,400 12,800 11,400 11,400 11,400 12,800 11,400 11,400
NU279 | 5581 14,100 13,200 14,200 14,200 14,100 13,200 14,200 14,200
SR (BRE) F |_NU270 | 55HEI 10,300 11,400 11,400 11,400 10,300 11,400 11,400 11,400
NU274 | 5581 10,300 11,400 11,400 11,400 10,300 11,400 11,400 11,400
NU278 | 55H 1 12,500 16,100 17,400 — 12,500 16,100 17,400 —
128 = 8 (AR ER) FEFES NUO51 | 5581 14,100 — 13,200 13,200 14,100 — 13,200 13,200
NU053 | 55H 1 14,100 — 13,200 13,200 14,100 — 13,200 13,200
NUO057 | 5581 14,100 — 12,500 12,500 14,100 — 12,500 12,500
NUO61 | 55H 1 13,200 11,700 12,700 — 13,200 11,700 12,700 —
NU063 | 55H 1 12,700 11,800 12,700 — 12,700 11,800 12,700 —
NU065 | 55H 1 12,700 11,800 12,700 12,700 12,700 11,800 12,700 12,700
SP#E(FRER)F | NU050 | 558N 12,300 — 13,200 13,200 12,300 — 13,200 13,200
NU052 | 55H 1 13,400 — 12,400 12,400 13,400 — 12,400 12,400
NU054 | 55H 1 14,100 13,200 14,100 — 14,100 13,200 14,100 —
NU056 | 55H 1 14,100 13,200 14,100 — 14,100 13,200 14,100 —
NU060 | 55H 1 14,100 13,200 14,100 — 14,100 13,200 14,100 —
NU062 | 55H I 14,100 13,200 14,600 — 14,100 13,200 14,600 —
RRCHA) =R BERCHE)E | _NU07i | 558 28,700 — 28,700 28,700 28,700 — 28,700 28,700
NU073 | 55H 1 22,000 — 22100 22100 22,000 — 22,100 22,100
RiE% NU070 | 55B &l 19,200 20,200 21,200 — 19,200 20,200 21,200 —
NU076 | 55H 1 20,100 23,100 26,000 — 20,100 23,100 26,000 —
HRCHEA) =4 BERCHE)E | NU02i | 55HE] 25,200 — 28,600 24,000 25,200 — 28,600 24,000
BT NU022 | 5581 21,700 21,700 23,400 — 21,700 21,700 23,400 —
Kix (BdR) =FH1E KB (BFE) % | NU0s3 | 55HG( 19,500 — 18,700 18,700 19,500 — 18,700 18,700
AiE% NU086 | 55H 1 17,700 19,700 22,500 — 17,700 19,700 22,500 —
ZHE (PE) =048 (BE) |/ EE(PEDF|_NU251 | 55HE 21,600 — 19,100 19,100 21,600 — 19,100 19,100
NU253 | 55H 1 21,600 — 19,100 19,100 21,600 — 19,100 19,100
NU255 | 55H 1 16,100 18,200 17,800 17,800 16,100 18,200 17,800 17,800
NU257 | 5581 15,100 17,200 16,800 16,800 15,100 17,200 16,800 16,800
B (ERER)F [ NU252 | 558 16,000 17,700 20,100 20,500 16,000 17,700 20,100 20,500
NU254 | 5581 19,500 18,200 22,200 — 19,500 18,200 22,200 —
NU256 | 55H 1 20,100 17,700 22,200 — 20,100 17,700 22,200 —
NU258 | 55H 1 20,100 17,700 22,200 — 20,100 17,700 22,200 —
g (&) = /18 h¥E (FRER) F | NU601 | 55H81 7,800 7,800 7,800 7,800 7,800 7,800 7,800 7,800
NU605 | 55H 1 11,800 11,800 11,800 11,800 11,800 11,800 11,800 11,800
NU607 | 55H 1 11,800 11,800 11,800 11,800 11,800 11,800 11,800 11,800
NU609 | 55H 1 7,800 7,800 7,800 7,800 7,800 7,800 7,800 7,800
NU613 | 55H 1 7,800 7,800 7,800 7,800 7,800 7,800 7,800 7,800
NU617 | 55H 1 7,800 7,800 7,800 7,800 7,800 7,800 7,800 7,800
RAC705 | 55H 1 7,800 7,800 7,800 7,800 7,800 7,800 7,800 7,800
NU621 | 55H 1 7,800 7,800 7,800 7,800 7,800 7,800 7,800 7,800
NU625 | 55H 1 7,800 7,800 7,800 7,800 7,800 7,800 7,800 7,800
RiE% NU600 | 55H 1 7,800 7,800 7,800 7,800 7,800 7,800 7,800 7,800
NU608 | 55H 1 7,800 7,800 7,800 7,800 7,800 7,800 7,800 7,800
NU610 | 55H 1 7,800 7,800 7,800 7,800 7,800 7,800 7,800 7,800
NU612 | 55H 1 7,800 11,800 11,800 11,800 7,800 11,800 11,800 11,800
NU614 | 55H 1 7,800 11,800 11,800 11,800 7,800 11,800 11,800 11,800
NU618 | 55H 1 11,800 11,900 11,900 11,900 11,800 11,900 11,900 11,900
NU622 | 55H 1 11,800 11,900 11,900 11,900 11,800 11,900 11,900 11,900
NU626 | 55H 1 11,800 11,800 11,800 11,800 11,800 11,800 11,800 11,800
RAC708 | 55H &1 7,800 7,800 7,800 7,800 7,800 7,800 7,800 7,800
B == SP#E(FRER)F | NUS51 | 55HGEN 10,500 10,500 10,500 10,500 10,500 10,500 10,500 10,500
RAC801 | 55H &1 10,500 10,500 10,500 10,500 10,500 10,500 10,500 10,500
NU557 | 55H 1 10,500 10,500 10,500 10,500 10,500 10,500 10,500 10,500
NU559 | 55H 1 10,500 10,500 10,500 10,500 10,500 10,500 10,500 10,500
NU565 | 55H 1 6,900 6,900 6,900 6,900 6,900 6,900 6,900 6,900
NU567 | 55H 1 6,900 6,900 6,900 6,900 6,900 6,900 6,900 6,900
NU571 | 5581 6,900 6,900 6,900 6,900 6,900 6,900 6,900 6,900
NU573 | 5581 6,900 6,900 6,900 6,900 6,900 6,900 6,900 6,900
EEES NU552 | 55H 1 10,500 10,500 10,500 10,500 10,500 10,500 10,500 10,500
NU556 | 55H &1 10,500 10,500 10,500 10,500 10,500 10,500 10,500 10,500
NU558 | 55H 1 6,900 6,900 6,900 6,900 6,900 6,900 6,900 6,900
NU560 | 55H 1 6,900 6,900 6,900 6,900 6,900 6,900 6,900 6,900
NU564 | 55H 1 10,500 10,500 10,500 10,500 10,500 10,500 10,500 10,500
NU566 | 55H &1 10,500 10,500 10,500 10,500 10,500 10,500 10,500 10,500
NU572 | 5581 10,500 10,500 10,500 10,500 10,500 10,500 10,500 10,500
RAC804 | 55H &1 6,900 6,900 6,900 6,900 6,900 6,900 6,900 6,900
EE=hE aiEH RAC834 | 5581 5,000 5,000 5,000 5,000 5,000 5,000 5,000 5,000




r2—/\ 9H1 12H.17~19H,24~30
EEEHA 2013/4/25  ~
9/2-8 9/9-12,17-19,24-30 9/1
.
B L kel i EAE i EEE
EEES
KB (1) ==& KB (FFHF | _JN2435 | 46% .70 ,000 :14,700 ,700
JN2437 46% 70! 800 14,700 700
EEES JUN2434 47% ,800, H:13,300 ,000 :13,800, H:13,300 300
JN2436 44% 00 100 14,000 000
KR () =BRS KRB (FFH % |_UN2401 59% .900 ,900
JN2403 5 300 300
IN2407 54% 300 300
| JIN2409 6 9,800 900
IN241 T 63% 9,800 1,900
JN2415 59¢ 10,900 1,400
IN2419 7% 11,400 1,900
BEREH | _JN2400 3% 9,800 9,800
[ JIN2402 3% K 9,800 800
IN2404 3% | H:12,400 ,000 H 12,400
[ JIN2406 3% |H:12,400 ,000 E 12,400
JN2410 3% | H:12,400 ,000 3% | H:12.40 12,400
IN2412 52% % H:13,800, £:12.300 800 50% |2 H:13,800, £:12,300 13,800
IN2414 57% |£:12,800, H:13.300 1400 57% 212,800, H:13.300 13,300
1B =55 EEx JN3621 75% 5,000 75% 5,000
JN3623 | 55 75% 5,000 75% 5,000
IN3625 75% 5,000 75% 5,000
JN3629 75% 5,000 75% 5,000
JN3633 75% 5,000 75% 5,000
JN3637 75% 5,000 75% 5,000
JN3639 75% 5,000 75% 5,000
RS JIN3620 75% 5,000 75% 5,000
IN3622 75% 5,000 75% 5,000
IN3624 75% 5,000 75% 5,000
JN3630 | 55 75% 5,000 75% 5,000
JN3634 75% 5,000 75% 5,000
JN3636 | 55 75% 5,000 75% 5,000
JIN3638 | 551 75% 5000 75% 5,000




2=/ (e, 9H13 16H.20H~23

EE®AR ;. 2013/4/25  ~

9/13 9/14 9/15 9/16 9/20 9/21 9/22 9/23
=R B [ 1
BAMIR | EEE EBEE EBEE EBEE EBEE EEE EBEE EBEE
KB () == KPR (FFFH % | UN2435 | 55HAT ,200 12,800 .700 — ,200 12,800 ,700 —
JN2437 | 55881 200 12,800 700 — 200 12,800 700 —
EEES JN2434 | 55HA1 800 — ,800 13,800 ,800 — 800 13,800
JN2436 | 55B 81 700 13.100 100 — 700 13,100 100 —
KR () =BRS KB (P % [ _UN2401 | 55B1 400 — ,900 0,900 1400 — .900 0,900
JN2403_| 55H 81 300 — 300 300 300 — 300 300
JN2407 | 558081 300 -— 300 300 300 — 300 300
| IN2409 | 55H 1 .900 1.400 .900 .900 900 1,400 900 900
IN2411 | 55881 900 1,400 1,900 300 1,900 1,400 1,900 300
JN2415 | 55881 .900 0,900 1.400 — 1,900 0,900 1,400 —
IN2419 | 55881 900 1,400 1,900 -— 1,900 1,400 1,900 —
EREH% [ JUN2400 | 55H80 0,900 — 0,900 0,900 0,900 — 0,900 0,900
[ JIN2402 | 55B81 0,900 -— 0,900 0,900 0,900 — 0,900 0,900
JN2404 | 55881 0,900 300 400 0,900 300 400 400
[ JUN2406 | 55B 81 0,900 300 500 0,900 300 500 400
JN2410_| 55881 0,900 300 500 0,900 300 500 400
IN2412 | 55881 3,800 300 800 3,800 300 800 —
UN2414_| 55881 2,800 400 300 2,800 400 300 —
1B =55 [EEES JN3621_| 55HA1 5,000 5,000 5,000 5,000 5,000 5,000 5,000
JN3623 | 55881 5,000 5.000 5,000 5.000 5,000 5,000 5,000
JN3625 | 55881 5,000 5,000 5,000 5,000 5,000 5,000 5,000
JN3629 | 55H 81 5,000 5,000 5,000 5.000 5,000 5,000 5,000
JN3633 | 55881 5,000 5,000 5,000 5,000 5,000 5,000 5,000
JN3637 | 55881 5.000 5,000 5,000 5.000 5,000 5,000 5,000
JN3639 | 55881 5,000 5,000 5,000 5,000 5,000 5,000 5,000
RS JN3620 | 55E 81 5,000 5,000 5,000 5,000 5,000 5,000 5,000
UN3622 | 55881 5,000 5,000 5,000 5,000 5,000 5,000 5,000
JN3624 | 55H 81 5.000 5.000 5,000 5.000 5,000 5,000 5,000
JN3630 | 55881 5,000 5,000 5,000 5,000 5,000 5,000 5,000
JN3634 | 55H 81 5,000 5.000 5,000 5.000 5,000 5,000 5,000
JN3636 | 55881 5,000 5,000 5,000 5,000 5,000 5,000 5,000
JN3638_| 5581 5,000 5,000 5,000 5,000 5,000 5,000 5,000




